JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21
Class- Il

Subject: Art

Study Material

Follow the Instructions given below:-

1.) Tap the link: https://snappy.appypie.com/index/app-
download/appld/3515f582d4b3

2.) Then, install the 'Drawing Skills' app.

3.) Open the app

4.) Click on 'options' icon at the top left

5.) Click on'B' Icon

6.) Select the video according to your ward's class

7.) Play the video and draw and colour the drawing as per instructions in the
video

Note:
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1. Parents are requested to provide a drawing notebook to students which
is easily available at the home

2. Children can use any colours that are available at the home

Stay home, Stay

Healthy!

Thank you



JAGAT TARAN GOLDEN JUBILEE SCHOOL
Session: 2020-2021
Subject: COMPUTER SCIENCE

CLASS 2

PDF OF CHAPTER 1 AND 2 (including exercises)

Cyber Tools-Bk2-ch1
and 2.pdf

Material required:

If possible takeout the printouts of the first two chapters ( class wise and chapter wise PDF
attached above) and do the exercises, otherwise take interleave notebook and pen down the
exercises and solve them.

Video tutorials of the lessons:

To access the videos copy the given link and paste it on the browser address bar and press
enter key.

Or
CTRL + click on the link given

Class 2 videos of Lesson 1 and 2:

https://drive.google.com/drive/folders/1FdSoKW 1edtjAVtOCJCW AtTdjIADODy



https://drive.google.com/drive/folders/1FdSoKW_1edtjAVt0CJCW_AtTdjIADODy

Based on Windows 10 with MS Office 2016 Version

ACTIVITYRBOOK

© Kips Learning Pvt. Ltd. 2020



KNOW THE BASICS

Parts of a Computer
How Does a Computer Work?

Operating a Computer

The Keyboard and its Functions
Tux Math
Using MS Word 2016
@ Tux Paint

Project Work

PRACTICE PAPERS

@ Worksheets: 1, 2, 3, and 4

MY CRAYON TIME

Colours catch the attention of students and make the g, ¢ )

learning interesting. Special activities are designed in
this book, where a child has to use crayons to display
his/her creative skills.

© Kips Learning Pvt. Ltd. 2020
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PARTS OF A COMPUTER

LEARNING IN THIS CHAPTER

e Four main parts of a computer
e Other parts of a computer, such as Printer,
Microphone, Speakers, and CD d

A human body is made up of different parts. Each part has a
special work to do. In the same way, a computer is made up of
different parts. All these parts together make a computer work.

A computer is a machine that has four main parts: Monitor, _.s
Keyboard, CPU, and Mouse.

MONITOR

i

A monitor looks likea TV screen.

i)

It shows the tfext typed in and the
work done by us. It also displays |
the results.

KEYBOARD

A keyboard has many buttons, which are called keys.

A keyboard is used for typing letters, words,
numbers, and special symbols.

A standard keyboard has 104 keys.

CENTRAL PROCESSING UNIT (CPU)

& CPU stands for Central Processing Unit.

= CPUis called the brain of a computer.

& Ithelpsacomputer tothinkanddoallitswork.

© Kips Learning Pvt. Ltd. 2020
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= It alsohelpsacomputertoremember things.
& Alltheother partsof the computer are attached to the CPU by wires.
MOUSE

A computer mouse has two buttonsonit.

It isusedto point, move,and select any item on the computer
screenor monitor.

A mouse also helps us to draw pictures and play games.

TYPES OF MOUSE

A mouse can be of different types:

Va4 <
V
Two-button mouse Scroll mouse

Scroll Mouse

A scroll mouse has a scroll wheel in the middle of the left and right buttons. We can
move a page up and down by moving the scroll wheel.

A scroll mouse is of fwo types:

A ball mouse has a ball under it. This ball helps to move the
mouse pointer on the screen.

Ball mouse
. . e N
An optical mouse uses light instead of a ball for the movement 4 /
of the mouse pointer. \
Optical mouse

© Kips Learning Pvt. Ltd. ZOfg



MORE PARTS OF A COMPUTER

Apart from the four main parts, there are some other parts of a computer, which can
be attached to it for different functions.

PRINTER
& A printer is used to print the text or pictures on a paper.
& Tt can print in black and white or colour.

= The printed copy on a paper is called the hard copy.

Dot matrix Inkjet

MICROPHONE e

A microphone is used to record our voice and different sounds into a
computer. Italso helpsus to talk to our friends through the internet. /g
L

SPEAKERS

Speakers allow us to listen to music and hear the sound effects
storedinacomputer.

HEADPHONES

{¢ Headphones are used to listen to music as well as recorded
sounds without disturbing others.

© Kips Learning Pvt. Ltd. 2020 19



COMPACT DISK (CD)

g

D-R
\ % (©)  TheCDdriveis fixedinthe CPU.

(© ACDisroundinshape. Itisusedtostorealotof information.
Oﬁj} (© Itisashinydiskthat runsonaCD drive.

HARD DISK

ﬁ%/% Hard disk is like a box, which is fixed inside the CPU.

. Itisusedtostorecomputerdata.

PEN DRIVE

@« It is asmall rectangular device, that is used for transfering
data from one computer to another.

Computer Care Tip Computer Care Tip

Always press the keys of a keyboard gently. Hitting

_ ‘ Place your computer inacool, clean, and dry place.
them hard can damage the inner connections.

O

i \
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<
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SECTION - A
Fill in the blanks with the help of the hints given below.

CD stands for : Hints S

* Two
A standard keyboard has keys. i
A mouse has buttonsonit. ° 104
A is used to record our voice into a computer. ° Compact Disk
Write I* (True) or E (False).

The buttons on a keyboard are called keys.

Inkjet is a kind of printer.

Speakers are used to record sound.

A printer shows the text on the monitor.

Match the parts of a computer with their pictures.

B |

Pen drive ® ® Monitor

Mouse ® ® Microphone

Speakers ® ‘ ® CPU

Headphones ® ® Hard disk

Learning

Computers with KiPS
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SECTION - B

Tick the right answer.

1. Which one of the following is not used to store data?

a. Keyboard b. Pen drive c. Hard disk
2.  The printed copy on paper is called the ... .
a. Softcopy b. Record copy c. Hard copy
3. A helps in playing games and drawing pictures.
a. Keyboard b. Mouse c. CPU
4. CPU stands fOr ... .
a. Central Processing Unit b. Central Processed Unit

c. Center Processed Unit

Answer the following questions.

—

Name the main parts of a computer.

5. Name the device that is used for transferring data from one computer to
another.

© Kips Learning Pvt. Ltd. 20228
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B. Search the computer partsin the given picture and write their names in

the given space.

Date Teacher's Signature

© Kips Learning Pvt. Ltd. 2020
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For Teachers
» Show the different parts of a computer to the students in the lab.
» Askthem to spell each part of a computer five times.

» Demonstrate how to put aCD in the CD Drive.

9. For Students

» Open WordPad by clickingon the Start > Windows Accessories > WordPad.

» Type the following sentences and fill in the blanks by using the jumbled
letters, giveninthe blocks.

1. Thavemany Keys. I QM @ ... . Y EKROADB
2. T100KIKEATV. L QM Qoo - [R|O[T|I|N[OM
3. Tamthebrainof acomputer.Tama ... . PlUIC

4. Tamusedtorecordyourvoice. ... /CIRIOMIP|HIO|TNIE
5. Tamused to take printout onpaper. ... ITIPITINJRIEIR
6. Thelpyouto liSTen t0 MUSIC. ... KISIEIPIAIERIS

Online Links Visit the sites: www.quia.com/rr/33090.html and
g http://www.thekidzpage.com/online-jigsaw-puzzles-html|5/
for solving the quiz activity.

r Visit the site: www.growing.course.com/level_2/index.html
E . to know about the different parts of a computer.

@daintingearning Pyt. Ltd.
Computers with IPS 324>
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COMPUTER - A SMART MACHINE

LEARNING IN THIS CHAPTER
e Computer vs Human
e Uses of computers in different fields
e Types of computers o

A computer is a very useful machine. It is used almost
everywhere, such as in schools, homes, shops, offices, banks,
and hospitals. It has become animportant part of our lives.

A computer has some wonderful features that make it smarter

than human beings. Let us know about each feature, one by one.

Computer vs Human

£ .

W Humans may
A g | forget the
computer stores a large information stored

amount of information and

, in their mind.
never forgets it.
- A computer Humans need
LA works very f i
5 y fast more time to
N and can do do any work as
many jobs at the compared to a
same time. computer.

© Kips Learning Pvt. Ltd. 2020 / 7



A computer

umans can
does not make M A )
make mistakes.

any mistake.

A computer
does not get Humans need

tired and can Rl :U I Te]e=£1S 'ﬂes*.aﬁer
working for

work for .
some time.
long hours.
A computer Humans can
cannot take : ~ :
ts own take their own
. decisions.
decisions.
‘—; - A computer Humans do not

e WOf"kS ona ORDERS need any order
| human's orders. to work.

%' A computer Humans have
| does not have feelings.
& any feelings. % For example,
For example, if you get hurt
if you hit a monitor, you feel the pain.

it does not react.

© Kips Learning Pvt. Ltd. 20280
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USES OF COMPUTERS IN DIFFERENT FIELDS

Youmust have seen computers at many places. They are used inalmost all fields of life.

Watching movies and listening < Keeping records of books and
to songs helping teachers in teaching
Searching for information on > Making timetable, report
any topic cards,and library records
Playing games < Doing practical workin lab
Doing homework < Helping students to draw and

colour pictures

SHOPS AND OFFICES

~ Keeping records of items < Keeping the details of bank

» Typingand printing bills accounts

- Sending and receiving messages - Taking out money from ATMs
inoffices

© Kips Learning Pvt. Ltd. 2020 / 9



Keeping records of patients < Designing clothes, cars,
machines, buildings, etc.

Preparing medical reports, X-
~ Designing and printing books,

rays, efc. _

. newspapers, magazines, etfc.
Helping doctors learn more ~ Making cartoons and animated
about diseases and their causes movies

RAILWAY STATIONS AND AIRPORTS SPACE RESEARCH AND DEFENCE

- Booking tickets Finding information about
> Keeping records of all Hpetez

passengers Sending rockets into space
» Giving information about Helping the military make

security weapons

arrival and departure timing

e i new 5.8

- Y=«

< Learning how to drive a car or fly an aeroplane

< Learning different languages, cooking, and much

more

© Kips Learning Pvt. Ltd. 20]?8



TYPES OF COMPUTERS

Computers come in many shapes and sizes.

This is a Desktop Computer.
Desktop computers are big in size.

They are kept on a desk or table.

This is a Laptop.

It is small in size. It can be easily kept on our lap also.

A laptop can be carried around easily.

A Tablet is smaller thanalaptop.

It has a touch screen on which we can write using a special
pen.

A Smartphone is a mobile phone that lets you make
calls, send messages, and store phone numbers.

It can also be used to share pictures and videos,
read e-mails, and search for information on the

Internet.

© Kips Learning Pvt. Ltd. 2020 11



SECTION - A

Fill in the blanks with the help of the hints given below.

1.

2.

A computer works onahuman ... . Hints =g
e Bills

A computerisused forkeeping ... ofallitems. [ .

A computerisused fordesigning ... . ® Records
e Orders

A computer canbe used for printing ... :

T (True) or [ (False).

We cannot draw pictures ona computer.

Desktop computersarebiginsize.

Computersare used inoffices for calculating marks.

Computers are used in hospitals for preparing medical reports.

Match the following.

A B
To send rockets Tablet
To print bills Schools
It has a touch screen Space
Making timetable Railways and Airports
To book tickets Shops

© Kips Learning Pvt. Ltd. 20]%8
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SECTION -B

Tick the right answer.

A, does not have feelings.

a. Computer b. Human c.None of these

A o €GN DE Kept on our lap.

a. Palmtop b.Laptop c. Desktop

A .. l@ TS you make calls, send messages, and store phone numbers.

a. Calculator b. Smartphone c.None of these

e 1S USE TO takeout the money.

a.Car b. Tablet c.ATM

Answer the following questions.

Name the three types of computers.

© Kips Learning Pvt. Ltd. 2020



For Teachers=¥

Divide the students into four groups and discuss the uses of a computer in
different fields.

Demonstrate to the students how to open WordPad and enter text init.

” For Students

Open WordPad by clicking on the Start > Windows Accessories > WordPad.

Type the sentences given below and fill in the blanks by arranging the
jumbled words.

Press CapsLock ““* totypeincapital letters.

Press the Spacebar key to give space between two words.

1. T love to play games on a computer at My ... .

E M O H
2. My teacher uses a computer in The ... for preparing
report cards. L’ 80 B (O IC) S
3. My father uses a computer at his ... .
E C Il F O F
4. Computersareused in ... for keeping the details
of accounts. N K B A S

Save the file by clicking on the Save button or selecting the option from the
File menu. Type any name in the File name box.

Click on the Save button. Then, click the Close buttonEd.

@dﬁhﬁﬂgearning . Ltd.
Computers with RIPS 14




A. Find the activities that you can do on a computer in the word grid given
below. Circle them with your crayons. Take help of the hints given below.

| 0O|Z M O <X H4[0|wm| O
o | Z|oH0omo|>|>
> Mo Odlnw Hd|o| m|—
< MM R <[ |<|>|=|0
| < |[ZT|>»|X|9|O|=S|»m|C

LlalTlE [ Hints 22
LIE|L|I ° Print
XIN|P|C e (Calculate
TIT|E|T ® Design
RITIN|T e Draw
HIO|G|A

PlDlclk e Play Games
O|D|S|A ° Type
B|R|O|U e Store
A|lM|E|S

[— )
AR

B. Draw arrows from the boxes to the picture of a human or computer that
they match with.

Can take a decision

ﬁ
—

Can work very fast

e

Does not need orders

°

o’ o o) le

Does not make any mistake

Online Links

Visit http://www.learn4good.com/kids-games/maze/funtoplay.htm and
http://www.alfatyping.com/freetypinggames/abc-jumpers.html

to improve your keyboard skills.

© Kips Learning Pvt. Ltd. 2020

Learning

Computers with KIPS 15




2, ac mﬁ-
EUNITIME

A. Click on the GCompris educational software.

Click on the Search Specific Activities button i — Select Photo

Hunter &8

Click on the differences between the two images!

There are three
differences between the
Two images. Identify and
click on the difference.
One has been done for
you.

B. Have fun with another game. Select the activity Mathematics % >
Numeration #5] > The magician haT'.

Start the game by clicking on
the hat. Some stars will hide
under the hat. Add the
number of stars shown in the
first two rows. Click on the
correct number of stars in
the blue boxes and click on

@dainingearning Pyt. Ltd.
Computers with RIPS %16>




Class- Il

Subject: E.V.S.

Study Material

Instructions for students of

Chapter 1- About myself

Chapter 2 - My family

Video tutorials of the lessons:

To access the videos click the given link:
For Chapter 1

1) Visit link: https://youtu.be/TDv6-g120do

2) Visit link: https://youtu.be/kUhGd2wXfsM

For Chapter 2

1) Visit link: https://youtu.be/4U TX3TqtSk

2) Visit link: https://youtu.be/ewFGINyQdiY

@ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ \. 05322468802

JAGAT TARAN
GOLDEN JUBILEE SCHOOL
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JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21
Class- Il

Subject: English

Study Material

Follow the Instructions given below:-

1. Tap the link

Visit link: https://play.google.com/store/apps/details?id=com.indiannica
2. Download the ILP app.
3. Select the chapter 'Fun with Friends'
4. Listen carefully.

5. Now complete the assignment given below.

Assignment:

Q1 - Fill in the blanks with vowels ( a,e,i,o,u):-

1)f m_ly 2)fr _nds3)ch Idr n

4)pl_ygr_ nd

Q2 - Fill in the blanks with the same letter twice to complete the words :-

@ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ \. 05322468802 www.jtgjschool.in




1) ru_ing 2)quael 3)squiel 4)me_y

Q3 - Complete the sentences by selecting the right word :-

1) The Nair family livesin __ (Chennai /Delhi )

2) The children play with their friendsin the _ (playground /house)

3) __ came to the playground to take all the children home (Mr.Nair /Mrs.Nair )

4) Mrs.Nair called them good children because they  (quarrelled /did not
quarrel )

**Note :Do the given assignment in your english note book of your previous
class ..or ..in your school diary ..or in the activity sheets..or ..any other
notebook available at home.



JAGAT TARAN GOLDEN JUBILEE SCHOOL Session - (2020 - 2021)
Class-2

E.V.S -(Book- Hello Earth)

Study Material

Follow the instructions given below -

1)Visit and download study material from JTGJS school website.
2)0Open the PDF...

3)Read the Chapter 1- About myself & Chapter 2 - My Family thoroughly.
4)Try to understand new words.

5)Learn all the key words given at the end of each chapter.

ASSIGNMENT -

Do the exercises in your old notebook / School diary / Activity sheets / Any other
notebook available at home.

EXERCISES FOR CHAPTER-1

1)Complete the sentences on page?7.

2)Write any five ways in

which you are different from your friend by filling in the blanks on page 8.
3)Tick the things you like to do in your free time on page 9.

4)Circle the things you can do on your own on page 9.

EXERCISES FOR CHAPTER-2

1) Look at the family picture and answer the following questions on page 10.
2)Match the rows on page 12.

3)Write true / false on page 12.

ACTIVITY -

CHAPTER -1-Make your handprint by tracing the outline on a sheet of white
paper.Then write down a list of your hobbies on it.

CHAPTER-2-Collect pictures of your parents, grandparents, brothers,



sisters,uncles, aunts and cousins.Make a family album with their names and
birthdays on activity sheets.
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J.T. GOLDEN JUBILEE SCHOOL
CLASS -2. (2020-21)

SUBIJECT - HINDI

STUDY MATERIAL
CLASS-2 , SUBJECT—HINDI, BOOK - R&ASI #m971-2

PUBLISHED BY NCERT

> OPEN GOOGLE PLAY STORE

> SEARCH NCERT fordrel 3R gamen=T
> DOWNLOAD -NCERT &1 fhdrs

> el 2 T Tohare

>RAfg#a {2

>CH - 1, "3¢ gar'(Hfadn)

> BT3AIS/HTAAS UG (IS Toh fdehod o)

>To watch Video click the on the link https://youtu.be/ZAEc8j2RG5c

> Read the poem thoroughly

> WRITE THE DIFFICULT WORDS IN YOUR HINDI NOTE BOOK OF YOUR
PREVIOUS CLASS/ SCHOOL DIARY/ ANY SHEET OR ANY OTHER NOTE BOOK
AVAILABLE AT HOME.

HINDI LITERATURE-

FOR ASSIGNMENT:



https://youtu.be/ZAEc8j2RG5c

DO EXERCISES :- (fohciall) & Fa1 $& &rar Ud A% T AT |

HINDI LANGUAGE

DO EXERCISES :- 3TeT9T 37ef9T 8Y U4 378X &hr a1 |

> ACTIVITY-.

JFER 3 91 HleT el SR &Sl 33T 872 3 AT o |

>CH-2 "8TTe] & Well pear”
> ST3eTels/3ieTelge UG (FS Th fdhed o)

>To watch Video click the on the link https://youtu.be/OSSRngqG1DjY

> Read the lesson thoroughly

> WRITE THE DIFFICULT WORDS IN YOUR HINDI NOTE BOOK OF YOUR
PREVIOUS CLASS/ SCHOOL DIARY/ ANY SHEET OR ANY OTHER NOTE BOOK
AVAILABLE AT HOME.

HINDI LITERATURE-

FOR ASSIGNMENT:-

DO QUESTION AND ANSWERS OF EXERCISE-

1) Sglr I |
2) dgel T G, AT E3 |

HINDI LANGUAGE

DO EXERCISES :- 3elc-Udlc, 3US & &I |


https://youtu.be/OSSRnqG1DjY

> ACTIVITY-.

W Tl FT AT Fd3 ST I &1 sTAATT F & |

Moral Value

" STAY HOME, STAY SAFE "

THANK YOU.B
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Class- Il

Subject: Maths

Study Material:

Chapter1and 2 -
Video tutorials of the lesson:-

To access the videos tap on the following links:

1. For topics of chapter 1

Visit link: https://youtu.be/1ZB5ggFMMdk

2. For patterns

Visit link: https://youtu.be/FrJ1R23aj4U

3. For place value and face value

Visit link: https://youtu.be/Paza3zCbdaml

4. For geometrical shapes -
i) Visit link: https://youtu.be/ cdqCOCyBtE

i) Visit link: https://youtu.be/611ZpLRNXUM

@ 46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ \. 05322468802

JAGAT TARAN
GOLDEN JUBILEE SCHOOL

Session 2020-21

www.jtgjschool.in



5. For numbers upto 1000 —

Visit link: https://youtu.be/4t0JQPhokF8


https://youtu.be/4tOJQPhokF8

Instructions for students of class 2 for maths

JAGAT TARAN GOLDEN JUBILEE SCHOOL
Session :- 2020-2021

Class - 2

Subject - Mathematics

Book - Maths wiz

Follow the instructions given below :-

(1) Visit the school website i.e. www_jtgjschool.in and download study material from there.

(2) Open the pdf.

(3) Open

chapter 1 - LOOKING BACK (pg nos. - 7 to 24).

Recall what you have learnt in your previous class by solving exercises from 1A to 1K.

(4) Open
Chapter 2 - NUMBERS UPTO 1000 (pg nos. - 25 to 47).

Do the exercises from 2A to 2l in the notebook.

(5) Learn the tables from 6 to 10.

NOTE :-

1. Do the given exercises in your maths notebook. If not available you can use any old notebook
or your previous school diary available at your home.



2. Before solving the exercises kindly go through the matter given in the pdf before that
particular exercise.

3. Do not hurry in solving the exercises. First comprehend the questions carefully.

Thank you € I
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MathsWiz, a series of nine textbooks for KG to class 8, is a course based on the National Curriculum
Framework and the guidelines provided therein.

The content of the series is student-centred and activity-based with emphasis on developing problem-solving
skills, encouraging the child to think creatively and work independently. The methodology facilitates the
teacher, the student and the parent to ensure full involvement of the child in the classroom and at home.

All the mathematical concepts are presented in a very simple and easy-to-understand form. The concepts are
based on everyday life and daily experiences. The examples and problems also make use of modern tools,
gadgets and technology commonly used. An abundant use of visual tools such as diagrams, illustrations,
cartoons, tables and charts makes learning fun and helps in greater retention. The approach helps create
passion for mathematics in children rather than fear for the subject. It encourages them to enquire, explore
and discover rather than only learn by rote.

Each book of the series is accompanied by an interactive student CD to help concept-building by showing
their application in daily life. The CD also supplements the book content through visuals, interactive practice
and additional information.

Teacher’s Manuals with extensive teaching ideas and solutions are also available separately.

Web-support includes interactive tests, worksheets, term-wise updated papers, unit-wise test papers to
support classroom teaching.

The salient features of the series are

Warm Up for refreshing the concepts learnt earlier.

Worksheets provide interactive and application-based activities.

Extensive drilling, including Class Work, MCQs, with an integrated Chapter Test in each chapter.
Term-wise Model Test Papers for better evaluation.

Maths Lab Activities, Fun Activities, Projects etc. facilitate hands-on learning.

Mental Maths to sharpen the mathematical skills.

Higher Order Thinking Skills (HOTS) involves the learning of complex judgemental skills.
Enrichment provides facts and encourages to think creatively.

We are thankful to the management and the editorial team of S. Chand And Company Pvt. Ltd., New Delhi,
for help and support in the publication of the books of this series.

Suggestions and feedback for the improvement of this newly introduced series from the principals, teachers,
students and parents would be most welcome. You may write in at anubhutigangal@hotmail.com

Authors

Disclaimer : While the authors of this book have made every effort to avoid any mistakes or omissions and have used their skill, expertise and knowledge to the best of their capacity to provide accurate and
updated information, the authors and S. Chand do not give any representation or warranty with respect to the accuracy or completeness of the contents of this publication and are selling this publication on
the condition and understanding that they shall not be made liable in any manner whatsoever. S. Chand and the authors expressly disclaim all and any liability/responsibility to any person, whether a purchaser
or reader of this publication or not, in respect of anything and everything forming part of the contents of this publication. S. Chand shall not be responsible for any errors, omissions or damages arising out of
the use of the information contained in this publication.

Further, the appearance of the personal name, location, place and incidence, if any; in the illustrations used herein is purely coincidental and work of imagination. Thus the same should in no manner be
termed as defamatory to any individual.
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LOOKING BACK
Numbers up to 100

Ordinal numbers

The number line

Patterns

Place value

Expanded form
Comparing numbers
Addition and subtraction
Adding three numbers
Addition (with carrying)
Subtraction (with borrowing)
Geometrical shapes

Fun with numbers

NUMBERS UP TO 1000

Counting in hundreds
Building numbers up to 199
Numbers from 200 to 1000

The number 1000

Number names

Place value and face value
Expanded form

Three-digit numbers on abacus
Comparing numbers

Ordering numbers

ADDITION

Adding three 2-digit numbers
Adding 3-digit numbers

(without carrying)

25 -51

26
28 |
31
33 |
37
39 |
40 |
2
45 |
16

52-64
52

55
Adding 3-digit numbers (with carrying) 57 |

SUBTRACTION 65-76
Subtracting 3-digit numbers
(without borrowing) 65
Subtracting 3-digit numbers
(with borrowing) 67
Addition and subtraction together 72
MULTIPLICATION 77 -105
Repeated addition 77
Multiplication on the number line 80
Properties of multiplication 82
Multiplication tables 84
Table of multiplication facts 929
MORE ON MULTIPLICATION
106-115
Multiplying a 2-digit number by a
1-digit number 106
Multiplying a 3-digit number by a
1-digit number 107
Multiplication by 10, 20, 30, ..., 100 108
Multiplication of a 2-digit number
by a 1-digit number (with carrying) 109
Multiplication of a 3-digit number
by a 1-digit number (with carrying) 111
MODEL TEST PAPER - 1 115
DIVISION 116 - 131
Equal sharing or equal grouping 116
Dividing equally 117
Division as repeated subtraction 119



MathsWiz-2

Division as repeated subtraction Today, yesterday, tomorrow 164
on the number line 120 Months of the year 164
Multiplication and division are Calendar 167
related 121 Writing dates 168
Division by 2, 3,...,9 122 Seasons 169
Division with remainder 126 12. GEOMETRY 174 - 185
8. EVEN AND ODD NUMBERS 132-134
Plane shapes 174
Pairs 132 : Straight lines and curved lines 176
9. MEASUREMENT 135-146 Drawing a straight line using a ruler 179
Length 135 Solid shapes 180
Problem solving 139 13, FRACTIONS 186 - 190
Weight 140
Capacity 143 Fractional parts of a whole 187
Exchanging money 149 Patterns around us 191
Rupees and paise 151 Patterns using matchsticks 192
Addition and subtraction of money 152 Number patterns 192
11. TIME AND CALENDAR 156-173 15. DATA HANDLING 197 - 204
Telling time 156 Analysing data 198
Telling time to the half hour 157
Explore the minutes and hours 160 MODEL TEST PAPER -2 203 - 204
Days of the week 162

ANSWERS 205 - 208



Special Features of the Serieg

To reinforce the understanding and help
To give a quick recap the child to master the new concepts
of the concepts learnt
earlier in the form of
questionnaires, activities,

games etc.

To enhance analytical and
problem solving skills

. lam a 2 digit number.

Designed as per the
CBSE guidelines to
develop conceptual
understanding

2. lam less than 50.
3. Countin sixes and there | am !
4

. When you divide my tens digit by my ones digit
you get 2. Who am |?

Provides a cumulative
assessment of
understanding
of the chapter content

Gives extension materials
exposing the children to

historical and new exploration of
mathematics to widen their horizon
of mathematical knowledge

To develop skills
in rapid calculations

Creatively designed
using the real-world
scenarios involving

practical applications and
evaluation of knowledge

and skills

Provides continuous
reinforcement of
previously studied concepts

To warn against the
likely mistakes and
misconceptions

To deal with the life skills and values attained by the students like self-awareness,
empathy, decision making, problem solving, interpersonal relationships, emotions etc.

5. The money collected from the school winter carnival goes to
an orphanage. For the carnival, 3 girls made quite a lot of
effort and Divya sold 234 tickets, Kiran sold 169 tickets and
Arpita sold 245 tickets. How many tickets did the 3 girls sell
altogether? What moral value is shown by the girls?

[Value Based Question]




NUMBERS UP TO 100

Recall what you have learnt about numbers up to
100 by solving an exercise.

1. Complete the number chart.

EXERCISE 1A

1] 2 4 10
13 16 19
22 25 28
31 37
42 50
53 56 58
64 |
71 79
85
91 100

2. Write the numerals for the following.

(+7)

(a) [Forty-seven

(¢) [Ninety—nine

(e) [Sixty—ﬁve

()
()

oL E
B E% )
I

Vocabulary
Ordinals
Place Value

Greater Than
Less Than

(b) [ Thirty-nine

()

(d) CForty—four

()

(f) [ Seventy-two

()
L




3. Write the number names for the following.

(@) @> Twenty-seven ) (b) @)

O
\/
=
N
—

(®) @) )om @)

4. Write the missing numbers by counting forward.

@ [ s ][I
o JUUUE UG

(c) 66 (]

LR
5. Fill in the blanks by counting backward. I8y | 1 §=
@ O@EQO0O000 44t
Q =/

(b) 4342 ¥

© (o2

6. Write the numbers just before and just after the given number.

SOIOIORIGIONOREIGION®
@ O®@0 OO0 *O®O
SOIOIORLIGIOIORLAGION®
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Write the number that comes between the given numbers.

(@) 8 9 10 (b) 71 73 (c) 49 51
(d) 89 91 (e) 37 39 ) 93 95
(g8 86 88 (h) 64 66 (i) 48 50

Write the correct numbers.

(a) C49 is just after <:> (b) C67 is just after <i>
(c) C73 is just before <i> (d) [89 is just before (:)

(e) CZ is between <:> and Q

Fill in the blanks by following the pattern.

4 \ 4 A 4 A 4 M ( \ ( \ 4 \ 4

(a) 7 9 11 13

| J | J | J | J . J . J | J |

4 \ 4 A 4 3\ 4 \ ( \ ( \ 4 \ 4

b) | 15 18 21 24

|

(c) 71 75 79

| J | J | J | J . J . J | J |

Write the numbers while counting by 2s.

-~

@ | 4 | | 6
(b) | 43 45

Write the numbers while counting by 3s.

(a) 6 9

(b) = 31 34
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12. Fill in the boxes by skip counting in 5s.

(a) 3 8

(b) 37 42

13. Fill in the boxes by skip counting in 10s.

@ | 2 12
(b) | 29 39

ORDINAL NUMBERS

The pictures show the places won by children in a race.

Match correctly. One has been done for you.

Third Fifth First Fourth Second




1. Write the days of the week in correct order.

Monday

( First day ) ( Second day) ( Third day ) ( Fourth day)

( Fifth day ) ( Sixth day ) ( Seventh day)

2. Write the letters corresponding to the firemen in the given circles.

O Crouri)
O ()
© Con )
O Geamd)
O G

T
A EEH_ @ ¥

] |'l

T N
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. Class Work

Colour the turtles using the given code.

First Blue Fifth Purple
Seventh Orange Ninth

Second Green Third Red
Eighth Black Tenth Pink
Fourth White Sixth Brown

First




THE NUMBER LINE
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f

Numbers can be shown on a line. Such a line is called a number line. The

following number line shows numbers from 0 to 10.

?

0 1 2 3 4 5 6 7 8 9 10

How old are you? Ring the number which tells your age on the
number line.

““ 7 EXERCISE 1C

A,

1. Write the missing numbers on the number line.

(a) \ | | | | | | |
1 2 4 5 7 8
(b) \ | | | | | | |
21 23 25 27
| | | | d | | |
© "y 0w 95

2. Complete the table.

| » | A SR |
0 1 2 3 4 5 6 7 8

'1 less ||1 greater|

1 greater 1 less

2 greater

2 — %) 15 —

20

21 —

25— 98 —— 67 —

| am
7 years old.

2 less

39 ——

99 ——

+
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3. Add or subtract the following using the number line.

(@) 2+4=| ¢ ! | | | | | | \

0 1 2 3 4 5 6 7 8 9 10
(b) 3+6= T e
0 1 2 3 4 5 6 7 8 9 10
8 -8 = 1 \ \ \ \ \ \ \ \ \ \
(©) © 0 1 2 3 4 5 6 7 8 9 10
(d 5+5= i i i i i F——— i \ \
0 1 2 3 4 5 6 7 8 9 10
(€) 7-5= e e T e
0 1 2 3 4 5 6 7 8 9 10
(f) 10-5= i i =~ \ \ \ i \ i
0 1 2 3 4 5 6 7 8 9 10
PATTERNS
Write the next term in the pattern. One has been done for you.
1. 7,9, 11,13, 19 2. 39, 38, 37, 36,
3. 15, 18, 21, 24, 4, 12, 21, 13, 31, 14,
5. A, AAB, AAAC, 6. , , , , )
PLACE VALUE
Tens and Ones Tens | Ones
- =
TR &
10 ones =1 ten Telns O(r;es

&
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\ ' \
a Tens | Ones a a Tens | Ones

1 ten 2 tens

Bon0cesd 1]

Tens | Ones Tens | Ones
8 ones 1 | 8 3 ones 2 | 3
J |\ J

-~ E_\
.l:' -H-\

R
f@ EXERCISE 1D

1. Count and colour the tens and the ones. Also write the numbers.

(a) ( i| | | Tens | Ones (b) ( a a || Tens | Ones

Tens | Ones Tens | Ones
s i

Kaw\ Tens | Ones (d) (iIEIi iIEIi iIEIi\ Tens | Ones

& (s
om0 o] || e

2. Write the numbers and number names represented by the blocks.

(a) (b) (c)

OO000O0

(o Twemty-fve | [ )

()
&

:
w
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3. Write the numbers and number names shown on the abacus. One has been
done for you.

(a) (b)

T ol IT o/ IT o
Sixteen ) C

(e)

(d)
IT o/ IT o/ IT o/

4. Draw the beads on the spikes of the abacus to show the number in the circle.
Also write the number name.

(a) (b)

~

<)

5. Write the number.
(a) 3 tens and 5 ones

OO0

(b) 4 tens and 0 ones =
(c) 7 tens and 7 ones =

(d) 9 tens and 1 one =
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EXPANDED FORM
Example: Write 47 in the expanded form.

Solution: 47 = 4 tens + 7 ones = 40 + 7
Thus, 47 = 40 + 7
Short form /4 7\
or Standard Expanded form 4 tens + 7 ones
form 40 + 7
s .1-:.\\
5 P

" EXERCISE 1E

P,

1. Write the numbers in expanded form.
(@) (99 )=(90) + (9 (b) (56 ) = )+ ) (77) = +
(d) (19 )= + () (38) = )+ 0 (67)= )+

2. Write in standard form.

0 @20+ @) 0 @+ (7)) 0@ @)-O)
JONORSIONORSTIONONS

COMPARING NUMBERS

Comparing two numbers means finding out whether one number is greater
than or less than or equal to the other number.

We use the symbols >, <, = for showing greater than, less than and equal
to respectively.

12 < 43 65 > 18
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7 EXERCISE 1F

1. Fill in the circles with the symbols > or <.

D O | P s O |9 a e
@ 25 Q 53 © 41 Q 53 W 35 Q 25

2. Complete the table.

Least Number Greatest Number

(a) 23, 44, 19, 84
(b) 57, 92, 31, 89

3. Write the following numbers in ascending and descending orders.

Ascending Order Descending Order

(a) 39, 73, 59 39, 59, 73 73, 59, 39
(b) 75, 63, 87

(c) 89, 98, 23, 75

(d) 86, 100, 99, 76

ADDITION AND SUBTRACTION

2 5 4 8
+2 3 -2 5
4 8 Sum 2 3 Difference
Hint: First, add the ones and Hint: First, subtract the ones
then add the tens. and then subtract the
M
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1. Add the following. )
(a) (b) (c) (d) (e)
4 5 5 4 5 2 2 6 5 5
+ 2 2 +2 3 +4 7 + 7 1 + 2 4

2. Subtract the following.

(a) (b) (c) (d) (e)
8 7 5 6 8 8 3 6 5 6

ADDING THREE NUMBERS

00| 000 | 000
©0 000 | 00

<) s

Here are 2 ways to add above 3 numbers.

Add these Add these s Q

PR
ATyt
e

e EXERCISE 1G

first. ﬁlft. f
4+6)+5=10+5=15 4+(6+5)=4+11=15
L f - L f
iﬁfﬁ-;‘ﬂh"\,

-~  EXERCISE 1H
&
1. Fill in the boxes.

(a) (2+3)+1=J+1=J 2+(3+1):2+‘ J:‘ J
(b) (5+2)+3=J+3=J 5+(2+3):‘ J+‘




i MathsWiz-2

2. Group and then add.

(a) (b) (@l@\
| A6
4

7
4
+ 3> +9
() (f) (@@\
6 7
5 0
+ 4> + 8

ADDITION (With Carrying)

Tens | Ones T O
Step 1:
/111 |[111111] @
/) W 4 7 Step 2:
/ +2 6 step 3:
7 3 7 3
N
g
Find the sum. One has been done for
2. 3.
4 9
+ 4 1
—
7. "T|O| 8.
2 7
+ 6 6

(c) (d)
1 6
9 5
+ 4 + 6

(g) (h)
3 8
2 8
+ 2 + 1

Add the ones. 7 + 6 = 13 = 1 ten + 3 ones
Carry 1 ten to the tens column as shown.

Add the tens.
4 tens + 2 tens + 1 ten (carry over) = 7 tens




SUBTRACTION (With Borrowing)

Borrow 1 ten

MathsWiz-2 o
+*Ed

"z 2\
Hint: 1 ten borrowed

from 4 tens is 3 tens
and 10 ones:

Now, 10 ones + 2 ones
is 12 ones.
N

T O ! l
4 | 2| = 4 tens 2 ones = 3 tens 12 ones
-1 21 7| =-2tens 7 ones = -2 tens 7 ones
115 1 ten 5 ones
v
Tens — Ones Borrow 1 ten
///@, [y @C% and take to the
v, 4 5} ones column.
-2 7
1 5 15

-

%5¥CISE 1)

1. Subtract the following. One has been done for you.

(a)

()

T O

oLy
A4 7
2 8

1
N—

T O

©

(b)

(g)

T O

)

()

(h)

T O

NS I @)
g —~

(d) T O e T O
9 5 9 5
-3 9 _7 7
— N—

(i) TIO| T O
5 0 9 1
-1 3 ~ 5 5
—/
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2. Solve the following word problems. Workspace

(a) Eight birds sat on a wire. Three - ;
flew away. How many were left? S5Ja " R

Answer: birds é;f ! ﬁ'“

Three boys were playing football. Two

more boys came along and played
football with them. How many boys
in all were playing football?

Answer: [:] boys

(c) Sanjay had 7 rupees. He spent
4 rupees. How many rupees are
left with him?

Answer: [:] rupees

N
((d) Ashok had 4 books on the table,
5 in his bag and 7 on the shelf.
How many books did he have in
all?
Answer: [:] books
S

((e) Sarita had 45 sweets. She gave

away 19 sweets. How many
sweets were left with her?

Answer: [:J sweets

N
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GEOMETRICAL SHAPES

[ Square ] [Rectangle] [Trianglej [ Circle ]

AL
AT
i

" EXERCISE 1K

1. Write S for square, R for rectangle, T for triangle or C for circle in each figure.

<&/@

noO

O/
)
3
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2. Draw a line

(a) to make the rectangle into 2 squares.

(b) to make the square into 2 rectangles.

(c) to make the rectangle into 2 triangles.

3. Write the names of the two solid shapes in each picture.

’ @
(b) f 2

4. Tick (v) the solids which do not roll.

(a) sphere (b) cylinder (c) cube (d) None

FUN WITH NUMBERS

Find a pattern and write the missing numbers.

(b)
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Numbers
uptal@@@

In class 1, we have learnt 1- and 2-digit numbers. Every number is 1 greater
than the number before it. We have also learnt that ninety-nine is the greatest
2-digit number. It is written as 99.

In our number system, we group by tens. In a number with two numerals,
the numeral on the left tells the number of tens and the numeral on the
right tells the number of ones. Thus, 99 means 9 tens and 9 ones.

1 more than 99 or 99 + 1 is 100.
It is read as one hundred.

Pictorially, 100 is shown as below:

Goeeoeaee

9 tens + 9 ones + 1 one

9 tens + 1 ten

10 tens = 1 hundred

Can you Yes, 10 tens make
tell how 100. | also know
many tens 100 is the first

make 1002 S-digit number.
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COUNTING IN HUNDREDS
Observe the following.

ERRRRARR

I1ten 1ten 1ten 1ten 1ten 1ten 1ten 1ten 1 ten 1 ten 1 hundred
10 tens = 1 hundred
Hundreds We write  We say
100 hu?lgsed

200 b undred

0 e

00 pindred

>00 hufr:lic\lfied

O ndred

700 pmred

0 pindred

00 | indred
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1. Write the number.

(a)
(b)
(c)
(d)
(e)
(f)
(g)

2. Write the numerals and number names for the following.

10 tens
20 tens
30 tens
40 tens
50 tens
60 tens

70 tens

hundred
2 | hundreds
hundreds
hundreds
hundreds
hundreds
hundreds

Hundreds

7" EXERCISE 2A

200

Numeral

100

MathsWiz-2

-

Number Name

One hundred

27 a

+
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BUILDING NUMBERS UP TO 199

MathsWiz-2

Observe the following.

Hundreds Tens | Ones
1 0 1
Class Work

107

Count and write the numbers. Also read the numbers aloud.

(a)

(c)

(e)

Hundreds

Tens

Ones

Hundreds

Tens

Ones

oooo
oooo

Hundreds

Tens

Ones

&

(b)

(d)

()

oo
Hundreds Tens | Ones
1 0 2

oo

oo
Hundreds| Tens | Ones
oo

oo

oo

oo
Hundreds Tens | Ones
Hundreds| Tens | Ones
1 1 0

102

110




Hundreds, Tens and Ones

Count and fill in the boxes.

MathsWiz-2 I

oo
oo
T | hundred T | ten ones = | 114 One hundred fourteen
oo
oo
oo
hundred tens ones = | 127 | One hundred twenty-seven
= Lo
hundred tens ones = | 132 | One hundred thirty-two
[}
O
O
O
hundred tens ones = | 145 | One hundred forty-five
0o 0
OO
o oo
hundred tens ones = | 158 | One hundred fifty-eight
hundred tens one = | 161 | One hundred sixty-one
[}
[}
hundred tens ones = | 173 | One hundred seventy-three

iE
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1. Write the numerals.

(a)
(c)
(e)
(g)
(1)

2. Write the number names.

(a)
(c)
(e)
(g)
(1)

kS

3
W

"I.--|,.

EXERCISE 2B

One hundred five (b) One hundred eighty-two
One hundred ten (d) One hundred ninety

One hundred eighteen 118 (f) One hundred ninety-four
One hundred fifty-two (h) One hundred forty-nine
One hundred sixty-five (j)  One hundred ninety-nine

115

127

134

162

178

3. Complete the table.

100
110
120

140

180
190

E ;‘30 i

One hundred fifteen (b) |
(d)
|
(f)
(h)
(j)
102 103 105
112
122
131 134
152 155
161
171 172
191 195

) -

107 |
105
"
155
—
181
125
109
117
128
138
149
158
167
179
199
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4. Write the missing numerals.

(a) 114, 115, , ) 5 s

(b) 178, 179, , : : ,

(c) 199, 198, , : , ,

(d) 101, 103, , > 5 >

(e) 140, 130, : , , ,

NUMBERS FROM 200 TO 1000

In the earlier section of the chapter, we have learnt 3-digit numbers up to 199.
199 means 19 groups of tens and 9 more.

1 more than 199 is given the name two hundred. We write this as 200.

Pictorially, 200 is shown as under.

+ E + + O

10 tens 9 tens
9 ones 1 one

+ E +

10 tens 9 tens 1 ten
+
= 20 tens = 2 hundreds
10 tens 10 tens = 200
200 = +

100 100
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Numbers after 200 are formed as follows.

Hundreds

Tens

Ones

2

0

& Class Work

Count and write the numbers.

(a)

(c)

(e)

201

oo
oo

Hundreds| Tens | Ones
Hundreds| Tens | Ones
Hundreds| Tens | Ones

Hundreds Tens | Ones
2 0 2 202
(b)
Hundreds | Tens | Ones
(d)
oo
oo
oo
oo
Hundreds | Tens | Ones
(f)
Hundreds| Tens | Ones

and so on
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THE NUMBER 1000

One more than 999 is 1000. It is a 4-digit
number and is equal to 10 hundreds, or

100 tens.
The number name for 1000 is one thousand. 10 hundreds = 1000
-;r."é
& 'H-'\\
ot vy IV
- EXERCISE 2C
g
1. Write the numbers in order from 201-300.
201 202 206 210
211
231 234
247
252
265
272 278 280
281
300
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2. Write the number of hundreds, tens, and ones for each

number.

(a) 200
(b) 204
(c) 310
(d) 471

(e) 535

(f) 240

(g) 651
(h) 759
(i) 868

G) 570
(k) 975
(1) 387
(m) 491
699

(n)

(o) 700

&

gz?\
y
oo

PR -
1_4 q\

gz?\
y
oo

f‘“\,
- ‘“\

gz?\
y
oo
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1_4 q\
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1_4 q\

gz?\
y
oo

f‘“\,
- ‘“\
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y
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14/
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hundreds

. hundreds

hundreds
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hundreds
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3. Write the numbers from 301-400.

301 307
313
322
335
350
369
376
388
399
4. Write the numbers from 701-760.
710
711
739
752




MathsWiz-2

&=
5. Write the numbers from 851-900.

852

875

889

900

6. Fill in the missing numbers from 901-1000 to help the poor lamb reach her
mother. :

- 916 [— —] — — —] —] — —

I
A

> — — 919

> 937

948

¥
I
I
I
I
I
I
I
I
I

.

I
I
I
I
I
I
I
I
I
\

¥
I
I
I
I
I
I
I
I
I
!

= — — — — — —11000

Did you ever help someone on the way? Express your
thoughts on the following.

It is a good deed to help someone in need.
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NUMBER NAMES

H T O
2 1 3
Reading aloud
helps to
ber.
Two hundred Thirteen remember

213 is read as “two hundred thirteen”,
Similarly,
356 is read as “three hundred fifty-six”.

760 is read as “seven hundred sixty”.

999 is read as “nine hundred ninety-nine”.

o W
e W\

"7 EXERCISE 2D

2P,

1. Write the numerals.

-~

(a) Two hundred thirty-five | 235 (b) Three hundred seventy-one

(c) Five hundred seven (d) Eight hundred ninety-nine
(e) Two hundred sixty-seven (f) Four hundred fifty-five

(g) Six hundred eighty-two (h) Nine hundred twenty-eight

2. Write the number names.

(@) 217 (b) = 325
() | 832 (d) 416
(e) = 702 () ' 900
(8) 675 (h) | 867

(i) 589 (j) 619
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3. Match the numeral with its number name.

(a) 963 (i) Four hundred twenty-five
(b) 797 (ii) Six hundred seventy-two

(c) 425 (iii) Nine hundred eighty-nine
(d) 672 (iv) Nine hundred sixty-three
(e) 399 (v) Eight hundred ninety-eight
(f) 989 (vi) Seven hundred ninety-seven

(g) 898 (vii) Three hundred ninety-nine

4. Write the number just before...
(a) 153 154 (b) 765 () 813 (d) 359

5. Write the number just after...

(a) 154 155 (b) | 623 (c) 593 (d) 789
6. Write the hundred just before and after the given number.

(a) 154", (b) (700) (786) (800

(c) 436 (d) 289

7. Write the ten just before and after the given number.

(a) 156 (b) 748

(c) 400 (d) (620) (623) (630

"c E.38 y
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8. Write the number or numbers between the given numbers.

R ‘ — |

(a) 278 and 280 (b) 451 and 454
(- ‘ — |

() 798 and 800 (d) (648 and 651

—
(e) 629 and 635
‘ —

p—
(f) 864 and 870
| —

PLACE VALUE AND FACE VALUE

e The face value of a digit is its actual value.

e The place value of a digit depends upon its place in the number.
Consider the number 684.
Face value of a
H T O digit in a number never
changes whereas its
6| 8 | 4 A place value changes
The digit 4 is at the ones place. with the place.

{ The place value of 4 is 4 ones = 4
| The face value of 4 is 4.

[ The digit 8 is at the tens place. N
{ The place value of 8 is 8 tens = 80 -
| The face value of 8 is 8.

[ The digit 6 is at the hundreds place.
~={ The place value of 6 is 6 hundreds = 600
| The face value of 6 is 6.

P
e LY
Fr iy

Bl

" EXERCISE 2E

i
e

1. Write the place value of each encircled digit.

@4B)e v 3)37
@ ()15 (@ 240)
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2. Fill in the blanks.

(a) In 183, the place value of 8is | the face value of 8 is

(b) In 254, the place value of 2is | the face value of 2 is

(c) The face value and place value of a digit in a number is the same at
place.

(d) The sum of the place value and face value of 5 in 154 is

:é. Maths Lab ACtiVity (Teacher to Assist)

The teacher will take 3 to 4 sets of 3 boxes or trays. Now, he/she will put two of three open

boxes or trays on a table.
RED R22 Rl

The trays on each set have to be marked with letters H(hundreds), T(tens) and O(ones).
Besides each set of boxes or trays the teacher should have a set of 30 buttons or counters
of same colour. A set of 30 different coloured buttons can be used for the other set.

Now divide the children into two equal groups.

Turn by turn call one pair of students, one from each group. Give each of them different
3-digit numbers in word form say 215 and 407.

Each child according to the number given to him/her has to put correct number of buttons
in the correct box.

For 215, 2 buttons in H tray, 1 in T tray and 5 in O tray. Similarly, the other child at the
same time, puts 4 buttons in H tray, 0 in T tray and 7 in O tray. Give 10 seconds or whatever
time the teacher decides to each pair. Repeat this for another pair and so on and so forth
till all the children have got a chance. The team with the greater number of correct entries
wins the game.

EXPANDED FORM

There were 367 visitors for the school exhibition today.
The number 367 can be represented with blocks and by the place value chart as shown

m

Hundreds Tens Ones
3 6 7

&



So, 367 = 3 hundreds + 6 tens + 7 ones

=300 + 60 + 7
Thus, the number 367 can be written in different ways as:

Standard form: 367
Expanded form: 300 + 60 + 7
Word form: Three hundred sixty-seven.

P

Tl AN

“ 7 EXERCISE 2F

g

MathsWiz-2

f

1. Write the number of hundreds, tens and ones for each number and hence write

each number in expanded form.

(a)
(b)
(c)
(d)
(e)

(a)

(b)
(c)
(d)
(e)

(a) 200+30+1=
(c) 500 +40 +9 =
(e) 400 + 70 + 3 =
(g) 300 +0+4 =

Number  Hundreds Tens Ones Expanded form
256 2 5 5} 200 + 50 + ©
327
473
789
807

Complete the table with the help of the first row.
Word form Columns Expanded | Standard
form form
H T Q)

Three hundred twenty-five % 5 5 130042045 325

Six hundred twelve

Two hundred thirty-six
456
661

Write the following in standard form.

(b) 900 + 10 + 7 =
(d) 800+ 20 + 6 =
(f) 700 + 30 + 3 =
(h) 200 + 30 + 0 =

+
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4. Write the following in expanded form.

(a) 365 = + + (b) 248 = + +
(c) 827 = + + (d) 980 = + +
(e) 405 = + + ) 319 = + +

THREE-DIGIT NUMBERS ON ABACUS
A spike abacus is a tool that has beads Spike
which slide on rods (called spikes). ! g “
£« Bead
HTO
4

Each spike represents a different place
value. From right to left, the place value
of the spikes increases in order from ones
to tens to hundreds and so on.

Hundreds

Spike Ones Spike

Tens Spike

Example: Count the number of beads on the spike at each place and
There is one bead at the hundreds spike, zero bead at the tens
spike and zero bead at the ones spike. So, the abacus represents

write the number.
M 1 hundred + O tens+ O ones = || 100 ﬂ

e One hﬁndred

Now, observe the following.

1 hundred + 5 tens+ 3 ones = [[153

HTO

One hundred fifty-three
“ 2 hundreds + O tens+ 2 ones = iI 202 I'b
HTO |

Two hundred two
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6 hundreds + 1 ten+ 4 ones =

= O00000=—
qg
o O000=—=

7 hundreds + 7 tens+ 0 ones =

HTO

Seven hundred seventy

o
J.Ii' N

i ~
. EXERCISE 2G.

1. Count the number of beads at each place and write the number shown by the
spike abacus in standard form and in word form.

(a) (b) (c) (d)

.
"HT O/ IH\T o "H T O] "H T O/
-

112

One hundred
twelve

(e) () () (h)

m°=
= O0000000=
© | OO000000-

fzrol |
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2. Write the number shown by each abacus in words.

(a)

"HT O/

(e)

(b)

"HT O/

()

(c)

"HT O/

(g)

3. Draw beads to show the given number on each abacus.

(a)

' H T O[

(e)

682

"H T O/

345

(b)

()

"HTO

425

"H T O/

279

(c)

"HTO

609

(g)

"HT O/

501

(d)

(h) é
H

(d)

"H T O

870

(h)

"H T O/

701
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COMPARING NUMBERS

Having different number of digits
The number with greater number of digits is the larger of the two.

135 (> 72 100 (> 4 643 (> 98
3 digits 2 digits 3 digits 1 digit 3 digits 2 digits

Having same number of digits

The most common and easy method to compare two numbers with same
number of digits is using the place value chart.

Compare the digits in the same place-value position from left to right.

< If the digits at the hundreds place are different, then the number with
the greater digit is bigger.

Example 1: Compare 623 and 415.

Solution:  Arranging the digits of the given numbers in the place value
chart, we have:

H T O Compare the hundreds.
6 | 2|3 600 is greater than 400.
4 1115 So, 623 > 415.

@,

< If the digits at the hundreds place are same, then we move on to compare
the digits at the tens place. The number with the greater tens digit is bigger.

Example 2: Compare 535 and 563.

Solution: Compare the hundreds.
H T O 500 = 500.
51315 Compare the tens.
5163 30 is less than 60.
So, 535 < 563.

@,

< If the digits at both hundreds and tens places are same, then we compare
the digits at the ones place.

45

+
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Example 3: Compare 725 and 722.
Solution:

H 0
71215
7022 20 = 20.
So, 725 > 722.
+,.”

LA

1. Write > or < correctly in the boxes.

(a) 119 < 129 (b) 143

(d) 764 521 (e) 632

(g) 438 420 (h) 973

(j) 555 333 (k) 802
2. Ring the greatest number.

(a) 623 154 753 (b) 912 283
3. Ring the smallest number.

(a) 840 912 213 (b) 715 481

ORDERING NUMBERS

Compare the tens.

EXERCISE 2H

132

723

986

920

798

913

Compare the hundreds.
700 = 700.

Compare the ones.
5 is greater than 2.

(c) 234 219
(f) 357 324
(i) 901 899
() 654 564

(c) 415 514 154

(c) 411 860 638

Ordering numbers means writing them from the least to the greatest or

from the greatest to the least.

We use the place value chart to order numbers.

Example 4: Arrange 183, 475, 273, 391 in increasing order.

Solution:

E ;'46 i

on the next page.

First, we arrange the numbers in the place value chart as shown
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O
3
5
3
1

Compare the hundreds:

1<2<3<4

So, the numbers in increasing order are

183, 273, 391, 475. The same numbers in

decreasing order, that is from the greatest

to the least will be 475, 391, 273, 183.
Example 5: Arrange 675, 657, 603, 654 in increasing order.
Solution: H T!o

W o~ T
\D\]\]OOH

Compare the digits at the hundreds place.
6 =6 =6 =6, all equal so,
Compare the digits at the tens place.
0<5and 5<7
The smallest number is 603 and the greatest
number is 675.

AN D
G111 O U |
CENERSS RN RO

Now, we need to compare the ones of the two numbers with
5 at tens place. We see that
7 > 4, so, 657 > 654.

Hence, the numbers in increasing order are 603, 654, 657, 675.
= :_!-:-\\

(e
oty N

" EXERCISE 2I

-2

1. Arrange the following numbers in ascending order.

(a) 319, 391, 328, 383

(b) 236, 615, 143, 789

(c) 893,915, 898, 909

2. Arrange the following numbers in descending order.

(a) 117, 171, 177, 135

(b) 154, 612, 345, 890

(c) 467, 860, 318, 460




¥ % NS kW

10.

11.

12.

MathsWiz-2
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. CHAPTER TEST

amiS

Write the numerals for the following.

(a) Seven hundred fifty-nine =
(b) Nine hundred five =

Write the number names for the following.
(a) 876 (b) 799

Write the number just after 999.

Write the number just before ‘seven hundred eighty’

Write 297 in expanded form.
Write the short form for 400 + 30 + 8.

The greatest 3-digit number is:

The least 3-digit number is:

Compare and write >, = or <, for the following.

(a) 587 875 (b) 605 506 (c¢) 5 hundred 4 ones 504
Sonam wants to use blocks to show the
number three hundred fourteen. Cross out 0o

the blocks that Sonam does not need.
Fill in the boxes.
(a) 384 = +80+4 (b) 600+ + 8 = 698.

(c) 100 more than 900 is

Shalini’s pattern begins with 248. A rule for her pattern is counting by hundred.
What are the first six numbers in her pattern?

> > o o )

Tick (V') the correct answer.

13.

The face value of the digit 8 in 809 is
(@) 8 (b) 80 (c) 800

48




14.

15.

16.

17.

18.

MathsWiz-2
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Which of the following is not equal to 683?
(a) six hundred eighty-three

(b) 6 hundreds 3 tens 8 ones

(c) 600 + 80 + 3
Which of the following number is greater than 8397
(a) 835 (b) 796 (c) 838 (d) 842

Which shows the numbers in order from least to greatest?
(a) 518, 834, 548 (b) 518, 548, 834

(c) 548, 518, 834 (d) 834, 518, 548

What is the place value of the coloured digit in 89772
(a) 9 (b) 90 (c) 19 (d) 900

Write ‘T’ for true and ‘F’ for false.
(a) 450 is 45 tens.

(b) 100 less than 975 is 875.
(c) Place value of 6 in 569 is 6 tens.
(d) 8 tens more than 700 is 780.

(e) The numeral for 500 + 4 + 0 is 504.

1.

2.

o,

HOTS

Surjeet makes a pattern with 7 numbers. The last 5 numbers in his pattern are
290, 300, 310, 320, 330. What are the first two numbers in the pattern?

Which of the following numbers matches the picture that shows
3 hundreds 2 tens 18 ones?

(a) 330 (b) 333 (c) 338 (d) 328

Oooooo
Oooooo
ooooog
ooo

+
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;%P Fun Activity

Look at the following colour code and colour the spaces as instructed to know the
flags of various countries.

24
Blue if the number is between 1 and 40. /
Red if the number is between 105 and 124. 228 /
Orange if the number is between 201 and 243. % 457
Witz if the number is between 451 and 498.
if the number is between 510 and 540. 746
Green  if the number is between 718 and 769. INDIA
495 115
739 456 209
475
JAPAN IRELAND INDONESIA
518
\ AR Q
\ 27 107 116 AN =B
487 469
3 120 110
ARGENTINA DENMARK
123 112
28 465 106 489 38
529
768
FRANCE SWITZERLAND MAURITIUS

&
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Write the number shown by the dancing blocks in each picture in standard form
and expanded form.

Now, write the numbers in a row from the greatest to the least. Also write the number
name below each number.




“#*Vocabulary
Addition

For a charity event, the students of class 2B put a f§f = Regroup
bakery stall. They distributed 42 cupcakes, 24 cookies |§  « Add
and 15 fruit breads. How many bakery items did? «  Carry
they distribute altogether?

N

Ma'am, to know

the answer, we right. Let us

have to add 42, learn adding

24 and 15. " three 2-digit
numbers.

J

ADDING THREE 2-DIGIT NUMBERS

Example 1: Ayushree read 37 pages of a book on Saturday, 26 pages on
Sunday and the rest 42 on Monday. How many pages did the
book have in all?

Solution: ~ We will get the total number of pages by adding the number
of pages read on the three days.

_______________________________________________________

i \
[H]T]0] i Note: Here we see that after carrying 1 to
1 Carry  the tens place and adding 1 + 3 + 2 + 4, we
g Z + get 10, where 0 comes in the tens place and
. 42 1 in the hundreds place.
10 5 So, addcilng biggeli3 2-digit numbers can result
'in a 3-digit number.
So, the book has 105 pages. *._ &

&



MathsWiz-2

f

L
-ﬁ..;:-:-.'} I.‘.\
" EXERCISE 3A
Add: N
1 I 2. o 3. o 4 o
' T|O] ' T|O] ' T|O] ' T/ O]
1 6 2 8 6 4 3 6
2 8 1 8 1 2 4 2
+5 2 +4 3 +1 8 +1 5
5 o 6 o 7. o 8 o
H|T|O] H|T O] H|T|O] H|T|O]
1 9 2 9 4 4 3 7
2 1 3 5 1 6 2 6
+ 6 3 + 3 8 + 4 5 + 5 8
9 10 11. 12
H T O HT O HI T O HI T O
3 8 2 4 5 2 2 7
3 2 6 6 7 9 8 6
+ 4 5 + 4 8 + 2 5 + 2 8

WORD PROBLEMS

Example 2: There are 18 apples on one tree and 24 apples on the other

tree. How many apples are there on both the trees? Working

Solution: =~ Number of apples on the first tree =18 'T|O]
Number of apples on the second tree =24 1
So, number of apples on both the trees =18 + 24 ; i
=42 4 2

&
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Solve the following. Workspace
" 1. There are 48 chocolates in one A
box and 34 chocolates in the
other box. How many chocolates
. are there in both the boxes? D
( There are 44 passengers in a
one train carriage and 49
in another carriage. How
. many passengers are there
k" in the two carriages? )
4 )
3. Jasmeet read 27 pages of a book on
Saturday and 26 more than Saturday
on Sunday. How many pages in all
did she read on both the days?
- y
g 4. A hawker sold 45 eggs to h
one customer and 49 eggs
to another customer. How
many eggs did he sell to
L the two customers? )
(5. Rachna’s mother bought h
17 oranges, 16 bananas
and 24 apples. How
many fruits did she buy
_ altogether? — y
6. Ankit had 64 marbles. His friend 2
Sanjay gave him 27 marbles.
He won 15 marbles in a game.
How many marbles does he have
now?
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ADDING 3-DIGIT NUMBERS (Without Carrying)

Let us add 123 and 212.

We can add the given numbers in the following ways.

1. Using the Expanded Form

+ 200 + 10 +
3000 + (30 +
= (335

g
100 + 20 + 3
2
5

o Tl

2.

123
21 2
335

Using the Short Method

Arrange the numbers one below the
other according to place value and
add columnwise.

H|T|O]|

Adding the ones.
Adding the tens.

Adding the hundreds.

So, 123 + 212 = 335.

““7* EXERCISE 3C

g

1. Do the following sums using expanded form.

@ 2 4 8 = 200
+3 5 1=+ 300
(b) 5 3 4 = 500
+ 1 2 = + 100
(c) 7 2 0 = 700
+2 6 3 = + 200

+
+

_.I_

40
50

30
50

20
60

+ 8 2 4 8
+ 1 +3 5 1
+ = 5 9 9
+ 4 5 3 4
+ 2 +1 5 2
+ =

+ 0 7 2
+ 3 +2 6 3
+ =

+



a9
N
z
=
s
=

2. Add:

T

(d)

~

T

() [

T

(b)

~

T

(a)

0

® H[Ttlo] ® [aH[TlO

© lHlrtlo] O [H[T|O

HTO

(0)

HTO

4

HTO

9

(r)

HTO

(@

HTO

(p)
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ADDING 3-DIGIT NUMBERS (With Carrying)

Carrying from ones to tens
Let us add 437 and 328.

Method 1: Using the Expanded Form
We write the numbers in expanded form and
then add as follows.
Writing 15 as

'

3 7 = 400 + 30 + 7 —> 700 + 50 + (10 + 5)
+3 2 8 = 300 + 20 + 8 = 700 + (50 + 10) +5
700 + 50 + 15 —— = 700 + 60:+ 5 =765

Method 2: Using the Short Form
Arrange the numbers one below the other according to place value and add
columnwise.

Step 1: Add the ones. 7 + 8 = 15 =1 ten 5 ones
— Write 5 under the ones column and carry

|—|%|—| 1 ten to the tens column.
CArTy  Step 2: Add the tens.
4 37 1 (carried from ones column) + 3 + 2 = 6.
+3 2 8 Write 6 under tens column.
7 6 5 Step 3: Add the hundreds. 4 + 3 =7
Write 7 under hundreds column.
VE: Class Work
Add: 1. H T O 2. H T O 3. H T o 4, H TIO
5 4 9 6 2 7 5 1 6 2 0 8
+1 3 8 +2 5 9 +3 7 6 +4 0 9




Add:

13.

17.
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o
J.Ii' N

P EXERCISE 3D

' N\ '
2 mtioll * MH[TlO
2 1 9 7 3 6
+1 3 6 +2 1 8
- -

( 1 (A
10. TqgiTlO 1. ' TqgTTtlO

. N r
4. [giTtlO 5. gitlo

18..  H'T O 19. HT O

12.

16.

20.
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Carrying from ones to tens and from tens to hundreds
Example 3: Add 467 and 398.
Solution: ~ Method 1: Using the Expanded Form | Writing 150 as

We can add the numbers as follows. J Writing 15 as

1 |—|¢

4 6 7 = 400 + 60 + 7 = 700 + (100 + 50) + (10 + 5)

+3 9 8 = 300+ 90 + 8 = (700 + 100) + (50 + 10) + 5)
700 + 150 + 15 ~ 800"+ 60<% 5 = 865

Method 2: Using the Short Form

Step 1: Add the ones. 8 ones + 7 ones = 15 ones
=1 ten 5 ones. Write 5 in ones column and carry

HTO 1 ten to the tens column.

1) (1

46 Step 2: Add the tens.

. 1 ten (carried over) + 6 tens + 9 tens = 16 tens
* s ¢ = 1 hundred + 6 tens. Write 6 in tens column and

carry 1 hundred to the hundreds column.
Step 3: Add the hundreds. 1 hundred (carried over)

+ 4 hundreds + 3 hundreds = 8 hundreds.
Example 4: Add 639 and 287.

Solution: Step 1: Add the ones. 9 ones + 7 ones
= 16 ones = 1 ten + 6 ones. Write 6 in ones column
- and carry 1 ten to the tens column.
HITO Step 2: Add the tens. 1 ten (carried over) + 3 tens + 8 tens
D = 12 tens = 1 hundred + 2 tens. Write 2 in tens

6 3 9 column and carry 1 hundred to the hundreds
+2 8 7 column.
9 2 6 Step 3: Add the hundreds.

1 hundred (carried over) + 6 hundreds + 2 hundreds

= 9 hundreds
E ;'59 i

+
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1. Add the following. One has been done for you.

(@) [ b b)r o @r ) (d)
HTO H|T O H|T| O
3 509 1 0 7 7 36
+4 7 6 +2 9 3 +1 6 8
& 3 5
& ___) & ___) & __—J

©  ["HITlo @ "HITlO ® ["HITlO (h)

6 4 9 4 7 2 8 2 9
+3 1 8 +3 5 9 + 7 3
g ___) S _—_—_) g ___)
( N\ ( N\ ( N\

@O  H[T|O G H[T O & "HIT/O Y
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2. Find the sum. One has been done for you.

(a) (b) (c) (d)

HT O HT O HT O HT O
1) (1

4 6 3 3 51 2 4 3 6 4 7
1 4 7 7 8 2 5 7 1 3 0
+ 2 6 +2 4 8 +1 8 2 +1 5 5
o 35 ©

© (mrrrell ©(mrarell @ mrrrol > ®( mreTe

2 9 6 4 8 1 3 5 3 4 1 7
4 0 1 1 0 2 1 1 1 2 4
+2 3 5 +3 3 9 +2 3 1 +3 6 2

WORD PROBLEMS

Example 5: An exhibition at the science centre was watched by 387 boys
and 419 girls on Monday. How many students watched the
exhibition in all on Monday?

Solution:  To find the total number of students who watched the exhibition
we add 387 and 419.

Working

HIT O

+
W

S = o0 (=
O

So, 806 students watched the exhibition.
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Workspace
éa )
1. There are 485 boys and 343
girls in a school. How many
students are there altogether in
the school?
. y
4 )

2. A postman delivered 254 letters
in the morning. He delivered
180 letters in the afternoon.
How many letters did he deliver LT
( .
3. Rehan collected 125 keychains.
Mohit collected 193 keychains. @

I I
altogether?
' \
How many key chains in all did I‘_-t.'i’;; l%

o

both of them collect? { #_L'&m
\_

4. A fruit seller sold 350 oranges,
432 apples and 189 bananas
during the day. How many
fruits did he sell altogether?

o

5. The money collected from the school winter carnival goes to
an orphanage. For the carnival, 3 girls made quite a lot of
effort and Divya sold 234 tickets, Kiran sold 169 tickets and
Arpita sold 245 tickets. How many tickets did the 3 girls sell
altogether? What moral value is shown by the girls?

[Value Based Question]
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CHAPTER TEST

Tick (v') the correct answer in questions 1 to 3.
What is the sum?

1. T 0O 2. [H|T]|O
5 3 2 4 6
+ 9 8 +4 7 5
(a) 150 (b) 151 (a) 721 (b) 720
(c) 141 (d) 152 (c) 271 (d) 691
> [TH[T[O
5 2 8 (a) 890 (b) 980 |
L9 7 (©) 990 (d) 900
+2 6 5

4. In the given list, find the sum of the smallest and the greatest number.

89 58 75 46

5. Rita has collected 298 stamps. Neha has collected 387. How many stamps do they
have in all?

6. Rohit has 359 sea shells. His sister has 187 more sea shells than him. How many
sea shells do they have in all?

Fill in the boxes with the correct numbers.
1. 8 2. 3 2
+ 4 3 + 4 5
7 5 6 8 0 4




1.
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Wiz
Worksheet

A palindrome is a word or phrase that reads the same forward and backward.
Example: MOM

Read forward: MOM Read backward: MOM

Some numbers are palindrome too.

Example: 808

Read forward: 808 Read backward: 808

We can find the palindrome of a given number. Study the following example.

Example: Start with any 3-digit number say 162.

_________________________________

Reverse it, you get: 261 ?Note: Continue reversing |
Add: 162 + 261 = 423 5 and adding until you |
Reverse the sum: 324 L get a palindrome.

_________________________________

Add: 423 + 324 = 747, which is a palindrome.

Use the method given above to find a palindrome using the following numbers.
(a) 153 (b) 432

Pair the numbers in the table to find the sums given below. When you find a
pair, cross out the numbers from the table and write them to complete the correct
number sentence. You cannot use a number more than once. One is done for you.

242 142 114 102

24 247 196 743
204 58 76 653
356 257 498 458

Number pairs

(a) - = 900 (b) - = 800
(c) - = 700 (d) - = 600
(e) + = 400 (f) + = 200
(g 24+ _76 =100 (h) + = 1000

H 564 __3'



\{? Vocabulary

How many paneer
rolls did we make in
the morning?

How many
are left?

Subtraction
95, and we Regroup
sold &0 paneer Subtract

rolls by lunch.

+ Borrow
\ J

There are
95 -80 =15
paneer rolls left.

SUBTRACTING 3-DIGIT NUMBERS (Without Borrowing)
Let us subtract 124 from 365. We can subtract one number from the other

in the following ways.

1. Using the Expanded Form

2. Using the Short Form

365 = 300 + 60 + 5
-124 = -100 + 20 + 4
= 200 + 40 + 1 =

Arrange the numbers one below the
other according to place value and
subtract columnwise.

365 Step 1: Subtract the ones.

~ 124 Step 2: Subtract the tens.
241 Step 3: Subtract the
hundreds.

So, 365 - 124 = 241
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3. Find the difference.

(@) N ) [ N © [ ~
H T O H T O H T O
2 1 9 9 8 4 8§ 1 3
~ 1 0 9 2 6 -8 0 2
N Y N Y N J
& N @ N A
H T O H T O H T O
6 9 0 7 1 5 0 9
2 1 o0 - 3 1 4 -2 0
N Y N Y N J
() [ N () [ NG )
H T O HIT O H T O
8 0 9 2 7 9 6
- 2 0 0 - 9 4 1 - 4 8 1
N Y N Y N J

SUBTRACTING 3-DIGIT NUMBERS (With Borrowing)

Borrowing from tens to ones

Let us subtract 439 from 895.

Method 1: Using the Expanded Form

We write the given numbers in expanded form and then subtract as follows.
8 tens +1 ten

i .

15 ones
895 = 8 hundreds 9 tens'5 ones| _ 8 hundreds 8 tens 15 ones
—439 =4 hundreds 3 tens 9 ones = — 4 hundreds 3 tens 9 ones

4 hundreds 5 tens 6 ones = 456

&
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Method 2: Using the Short Form

( H! T 0\ Step 1: Subtract the ones. Borrow from tens if
3 15 required.
8 9 5 Step 2: Subtract the tens.
B i g 2 Step 3: Subtract the hundreds.
N\ ~/
oo
Flierdy
7" EXERCISE 4B
Subtract: o
LKHTO\ Z.KHTO\ 3.KHTO\ 4'(HTO\
8§ 6 2 4 8 7 7 7 8 6 7 2
-2 3 7 -2 4 8 -4 4 9 -1 6 3
- J - J & J - J
5. [ N 6. [ A 7. N 8. [ )
HT O HT O HT O HT O
3 91 7 6 0 8§ 9 1 4 3 0
- 2 7 -1 2 1 -2 5 4 -1 1 2
- _/ - /) - J - J
Borrowing from hundreds to tens and from tens to ones
Let us subtract 389 from 653.
Step 1: Write in column form as shown on the right. BTTe
Step 2 : Subtract the ones. Since 9 > 3, we cannot subtract 6 5 3
9 from 3. So, borrow 1 ten from the tens column.
-3 89

Then, 4 tens are left in the tens column and 1 ten
(borrowed) + 3 ones = 13 ones in the ones column.
Subtracting 9 ones from 13 ones, we get 4 ones.
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+

Step 3: Subtract the tens. We have 4 tens left in tens column.

We cannot subtract 8 from 4, so borrow 1 hundred HTO
from the hundreds column. Now, we have 5 hundreds 14

left in the hundreds column and 1 hundred (10 tens) 5 4 (13
(borrowed from hundreds column) + 4 tens = 14 tens 8 3 3
in the tens column. Subtracting 8 tens from 14 tens, -3 8 9
we get 6 tens. 2 6 4

Step 4: Subtract the hundreds. 5 hundreds - 3 hundreds = 2 hundreds.
So, 653 - 389 = 264

Look at the following examples.

HTO HTO HT O
11 14 9
6 Y (15 7) A (10 7) 10 (14
7 2 B g 5 4 g 0 A
-4 8 6 -3 7 5 - 6 8
2 39 4 7 5 7 3 6

In the last subtraction problem, first borrow 1 hundred from 8 hundreds.
Now, in place of 0 tens you have 10 tens in the tens column. Borrow 1 ten
from 10 tens. 4 ones + 1 ten (borrowed) become 14 ones in the ones column.

»%
AN

" EXERCISE 4C
1. Subtract:
(a) HT O (b) HT|O (c) HT|O d HT|O
OO0 OO0 OO0 OO0
3 7 6 5 4 2 6 2 8 7 6 9
-1 9 8 -2 5 3 -1 4 9 -2
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2. Find the difference.

w [ME[T[0] , [H[T[O] ( [H[T[O] 4 [HIT[O
OO0 OO0 OO0 OO0
4 8 0 7 1 2 4 2 3 5 2 5
-1 9 3 -2 0 4 -1 6 4 -2

O mrme| ©( mrrmer) €| mrare Y mrTe
99 999 PR | 99%

WORD PROBLEMS

Example: ‘'The library purchased 435 new books this year for Grade 2.
278 are story books. How many of the books are not story
books?

Solution: To get the number of books that are not story books, we subtract
the number of story books from the new books purchased.

Working
HTO
New books = 435 0
Story books = 278 3) 2 (15
Non-story books = 435 — 278 _f /j };
= 157
1 57

So, non-story books = 157.



EXERCISE 4D

Solve the following problems.
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4 7
1. 825people visited a book fair. HT O
98 of them were children. 8 2 5
How many adults were there 9 8
in the book fair?
\ e —)
~
2. A farmer had 275 chickens. B T/0
He sold 169 of them. How
many chickens were left? _—
—
g 7
3. George needs 260 pictures to fill his H T O
album. He has 185 pictures in the
album. How many more pictures
can be put in the album? -
\\ e —
4. Navin and his father have H T o 1)
4 travelled 318 km. They are
taking a 700 km trip. How
much farther have they to e
travel? —— |
(5. Prem had a collection of 212 bottle H T o 1)
caps. Ashok had a collection of 165
bottle caps. How many more bottle
caps were in Prem’s collection than in .
. Ashokis? — |
~
6. Vijay planted 325 small tomato HTO
plants. 162 of the plants did
not live. How many plants did S
live?
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G. Manav has 132 marbles. His HIT| O N
friend Ajay has 28 marbles less
than him. How many marbles
does Ajay have?
& J
ﬂ' 8. Aadhar is reading a book that has HT O
Li- 275 pages. He read 129 pages on
the first day. How many pages are
left for him to read?
' J
9. Nidhi and Rhea spent % 900 in HTO
a book shop. If Rhea bought
a book for ¥ 465, how much
did Nidhi spend?
J
( "11 10. 623 visitors went to the zoo in HTlo 1)
the month of November. 289
ﬁ fewer visitors went to the zoo in
December. How many visitors
went to the zoo in the month of

. December? )

ADDITION AND SUBTRACTION TOGETHER

As you solve more and more word problems, it will become easier for you
to decide whether to add or subtract.

Read the problems carefully and solve.

1. There are 54 seats in a bus. Out of these, 36 seats are
occupied with passengers. How many seats are vacant?

This is a subtraction problem as the question asked
is “How many seats are vacant?”.

2. A balloonseller had 97 red, 85 purple, and 80 yellow Y
balloons. How many balloons did he have in all? . | |
#

This is an addition problem as the question asked is
“How many balloons in all?”.

&




Will you add or subtract?
1.
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——————————————

add 465 and 327.

- |[H|T|O|
Janet had 253 oranges in her juice shop. She uses 165 oranges | > 5 3
to make some juice for a party. How many oranges are left with | l
her? -1 65
To get the number of left over oranges, we need to subtract | l
165 from 253. S
. r—=1—71— ' 2. Mrs Brown baked 465 cookies on Saturday and 327
i HITO i cookies on Sunday. How many cookies did she bake in

| 4 6 5 all over the weekend?
.+ 3 2 7  To find the total number of cookies baked, we need to

______________

——————————————

3. 762 people ran in the marathon this year. 485 people crossed
the finishing line. How many people did not cross the
finishing line?

——————————————

4. 280 bottles were collected during the
recycling programme last year. 178
more bottles than last year were
collected this year. What is the total
number of bottles collected this year?
How many bottles were collected in
both the years altogether?

______________

______________

——————————————

5. There are 275 passengers and 423 pieces of luggage in a |
flight. How many more pieces of luggage than passengers i
are there? :

______________



1.

2. Which is greater?
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% CHAPTER TEST

Subtract:
@ [H[T[O ®)  [H[T[O ©  [H=[T[O]
5 4 6 6 9 8 1 8 7
-4 0 0 — 2 8 — 3 0
@ [T]0] ©  [H[T[O €. m[To]
9 5 8 0 0 7 5 4
-6 8 -6 8 5 -3 8 9

H|T O H|T O
830 . 966
-2 9 8 -2 7 6

Tick (v') the correct answer.

3. The difference between 517 and is 382.
(a) 139 (b) 799 (c) 135 (d) 889

4. 'The price of a pair of shoes is ¥ 900. The price of a pair of socks is I 185. The
difference between the prices is
(a) ¥ 725 (b) ¥ 715 (c) ¥ 700 (d) ¥ 705

5. I have one ¥ 1000 note. I buy a book whose price is ¥ 295 and stationery items
which cost ¥ 187. How much money is left with me?
(a) T 528 (b) ¥ 508 (c) ¥ 518 (d) ¥ 498

ﬁ_;v 24
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Solve the problems in column A and match the differences to the numbers given
in column B.

—————————————————————————————————————————————————————

=596 i i i
i 3 7 3 5 i i (c) 2 hundreds 7 tens i
| -4 8 9 | | |
4 9 01 (d) 800 - 486
| -_6 8 | | |
700 | ECENEE |
| -4 9 8 | | |
| | | fntol |

_____________________________________________________

1. Using the digits 5, 2 and 6, form the greatest and the least numbers and find their
sum and difference.

2. Add 378, 295 and 188. Subtract the sum obtain from the largest 3-digit number.
704 - 152 = 5 hundreds ones.

4. Tick (V') the number sentence that has an answer of “six hundred forty-eight”
(a) 900 — 372 (b) 383 + 255
(c) 862 — 264 (d) 169 + 479

5. Rita bought 184 apples and 127 pears,
out of which 90 fruits were rotten.
How many fruits were good?
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% Two to four players can play the game at a time.
% Each player needs 3 sets of number cards from 0 to 9.

un Activity

1. Cut out 3 sets of number cards from 0 to 9 as shown here.

0 1 2 : 3 4 5
TS Y % P % 38
Lero One_ .. JWOo_ .Ih'f?.‘?.. Four Five
G - & -
3% % 3% %
..Six : Seven | : Eight Nine

2. Mix up the cards with the face on which the numbers are written down. Then each
player turns six cards face up.

2) (9) (&) &) (0) (9)
* 24 * * 24 *

\ Four ) \_Nine ) \ Eight \ Eight \ Zero ) \_Nine )
1) (5) (&) 5) (1) (5)
3 1 ¥ 3 8 8
\ One \ Five ) \ Eight ) \ Five \ One ) \ Five )

3. Now each player arranges the above 6 cards to get two 3-digit numbers.
4. Subtract the numbers. The player with the least difference scores 10 points.
5. Play 5 rounds. The player with the maximum points wins.

P>
;,‘E;_chk Review

1. Write the sum of 275 and 318 in words.

2. Which is the least number? 978, 879, 897 or 9877
3.

A bookshop has 578 magazines, out of which 299 are sports magazines and the
rest are children’s magazines. What is the number of children’s magazines? Write
this number in expanded form.

76
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@ 5y . Multiplication

TRy

gy — e
-

ﬂ?f‘-’* Vocabulary

» Multiply

«  Multiplication

« Repeated Addition
« Product

L Factors

¢

——

How many pencils do you have?

J

[ have 4 boxes each
having 3 pencils.

5o, you have
O5+3+5+D
= 12 pencils. Yes, | have 4 times &
= 12 pencils.
\_ J

REPEATED ADDITION

There are 5 twos in all. Their sum is 10.
2+ 2+ 2+ 2+ 2equals 10.

2 has been added 5 times.

5 twos are 10 or 5 times 2 equals 10.

The short way of thinking about repeated addition is called multiplication.

We say that 5 times 2 equals 10 or 5 multiplied by 2 is 10 and we write
5 x 2 = 10. 10 is called the product of 5 and 2. The numbers 5 and 2 are
called factors.

'%' is the sign of multiplication.

&
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The given picture shows 3 rows of 4 eggs each.
We have 4 eggs + 4 eggs + 4 eggs = 12 eggs

or 4 + 4 + 4 = 12, that is there are 3 fours.
We say 3 times 4 equals 12 or 3 multiplied
by 4 equals 12 and write

3
3x4=12 or % 4

12

3 x 4 = 12 is a multiplication fact.

o B
1:\\

4 .
%“ EXERCISE SAQ\‘

1. Write the multiplication fact for the objects of each row.

"y Ay dy e
"o® W@ WP W

© 90 80 09 08 o8

QQ’QQ e® ¢e® o©

B UL —
‘Rt Bite B B8




" Ay 4
Yy

g
BE

q.

@
i!

3
SUE

2. Write the multiplication form of each of the following repeated additions.

(a)
(b)
(c)
(d)
(e)
()

(g)

) |

24+2+2+2 =
\.

4x2=5

4+ 4 =
\

3+3+3+3+3 =
\.

6+6+6+6+6+6+6 =
\.

7+ 7+7+7+7+7+7+7+7+7 =
\,

9+9+9+9+9+9 =
\

10 + 10 =
\,

1+1+1+1+1+1+1+1 =

8+8+8+8+8+8+8+8+8 =
\.
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MULTIPLICATION ON THE NUMBER LINE
+2 +2 +2

! \ ! \ ! \ \kﬁ \ \ \ \
0 1 2 3 4 5 6 7 8 9 10

How many jumps are made by the frog?

How big is each jump?
We can write 2 + 2 + 2 =6 or 3 x 2 = 6.

Now, observe the following.

(Start at 0. Hop 3, two times. Stop at 6.
+3 +3
S S e E—— ———
0 1 2 3 4 5 8§ 9 10
3+43= 0. 2 threes equal © |. 2 times 3 equals | © .
L 2x3=0 )
(o .
Start at 0. Hop 5, four times. Stop at
+5 +5 +5 +5
e
012 3 45 6 7 8 910111213 141516 17 18 19 20
5+5+5+5= . 4 fives equal : 4 times 5 equals
9 4 x5 = D
[ .
Start at 0. Hop 2, nine times. Stop at
+2 +2 +2 +2 +2 +2 +2 +2 +2‘
11—
01 2 3 45 6 7 8 9 101112 1314 1516 17 18 19 20
2+24+242+2+2+2+2+2= : 9 times 2 equals
L 9x2= )

®
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" EXERCISE 5B

Write the multiplication fact for each number line.
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T
0 4 8 1216 20 24 28 32 36 40 44 48 52 56 60

+8 +8 +8 +8 +8

1. +2 +2 +2 +2 +2
AN ST S N L ox2=10
0 1 2 3 4 5 6 7 8 9 10
2 +9 +9
e e e e S e e e S e S
01 234567 891011121314151617 181920
3. +4 +4 +4 +4 +4
‘ ‘ {
———F "+t
01 234567 891011121314151617 18 1920
4, 12 +2 42 42 42 42 +2 42 2 42
—H—F—F+—+—++t+tt—t+t+t+—f+t++F+F++
01234567 89101112131415161718 1920
5 +5 45 45 45 +5 45
\ \ \ \ \ \ i \ \ 6x5 =
0 5 10 15 20 25 30 35 40
3x10 =
+10 +10 +10
6. +4 +4 +4 +4 +4 +4 +4 +4 +4 +4
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PROPERTIES OF MULTIPLICATION

1. Order property
Study the following.

E_"_'l- .! -:I_l _,'._ e, -|:|:!‘:!l_

AR

2+2+2=6 3+3=6
or 3 twos are 6. 2 threes are 6
3x2=6. 2X3=6.

Since the product is the same, we have 3 x 2 =2 x 3 = 6.

Now, look at the following.
TN TN T There are 3 rows of 4 footballs each. The
a a a a multiplication fact for this is 3 x 4 = 12
a a a a We can also think that there are 4 columns of

Ea Ve e W 3 footballs each. The multiplication fact for this
@O9®9®® ... -0

Since product is the same in both the cases, we have 3 x 4 =4 x 3 = 12

We can show this using a number line as shown below.
3x4=12

\ \ \ \ ! \ ! \ \ | | \ \
0 1 2 3 4 5 6 7 8 9 10 11 12

4 x3=12
From the above discussion we come to the following result.

We may multiply the numbers in any order, the product would be the same.

This basic property of multiplication is called the Order Property of
Multiplication.

&
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2. Multiplying by 1 a ‘& ﬁ”
s [
s

3groupsof 1 =3x1=1+1+1=3

1 groupof3=1x3=3
So,3x1=1x3=3

3x1

1x3

From the above discussion, we come to the following result.

Any number multiplied by 1 equals that number. This is called the
Multiplicative Property of 1.

3. Multiplying by 0

There are 4 empty trays, which means 4 groups of nothing.
So, 4 x 0 = 0. Also by order property 4 x 0 =0x4 =0

Thus, any number multiplied by 0 equals 0. This is called Multiplicative
Property of 0.

*®

(s
.*.“'1 &
7 EXERCISE 5C
w2F,

Fill in the boxes with the correct numbers.

1. 2x6= X 2 2. 3x1= X 3

3. 4 x 8= X 4 4, 9x2=2x

5. X9=9x%x5 6. 7X6=6x%

7. 6 x1= 8. X 7=7

9, 9 x =9 10. 2 x0=

11. O x 6 = 12. x5=0
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MULTIPLICATION TABLES
Table of 2
Repeated addition by 2s

99 99 99 99 99

5 groups of 2 strawberries each.
2+2+2+2+2=10

We say 5 twos are 10 or 5 times 2 is 10 or 5 multiplied by 2 is 10 and
write 5 x 2 = 10.

O 2 " 2 added 1 time
O 1 x2=2

00 242 =4 2 added 2 times
00 2x2=4
000 2+424+2=6 2 added 3 times
000 3x2=6
0000 27+24+24+2 =28 2 added 4 times
0000 4x2=28
00000 24+42+2+2+2=10 2 added 5 times
00000 5x2 =10
000000 2+2+2+2+2+2=12  2added6 times
000000 @ 6 x2=12
0000000 242424242 +2+42 2 added 7 times
0000000 =14 7%x2=12
00000000 2424+242+242+2 2 added 8 times
00000000 + 2 = 16 8§ x2=16
000000000 242424242 +2+4+2 2 added 9 times
000000000 +2 42 =18 9x2=18
0000000000 2+2+2+2+2+2+2 | 2addedl0times
0000000000 10 x 2 =20

+2+2+2 =20



P
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1. Complete the table of 2.

““ 7+ EXERCISE 5D

AT

MathsWiz-2

(a) Multiplying by 2 2 times table
1 two is 2 1 x2=2 2 times 1 is 2 2x1-=
2 twos are 4 2x2= 2 times 2 is 4 2x2=4
3 twos are 3x2=06 2 times 3 is 6 2 X3 =
4 twos are 8 4 x 2= 2 times 4 is 2x4=28
5 twos are 5x2=10 2 times 5 is 10 2x5=10
6 twos are 12 6 x2=12 2 times 6 is 12 2X6=
7 twos are 14 7 X 2= 2 times 7 is 2x7=14
8 twos are 16 8§ x2=16 2 times 8 is 16 2 x 8=
9 twos are 9x2=18 2 times 9 is 2x9=18
10 twos are 20 10 x 2 = 2 times 10is 20 2 x 10 =

2. Count by 2s from 2 to 20.

2 4
3. Count backwards by 2s from 20 to 2.

20 18

4. Complete the multiplication wheel.

5. A bee has 2 wings. How many wings do 6 bees have?

. . . . . .
- Y - Y - Y
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+

6. Two toffees can be bought for 1 rupee. How many toffees can be bought for
4 rupees?

- o

7. How many ears do 10 children have?

Table of 3
Repeated addition by 3s
4 groups having 3 stars each.

3+3+3+3=12
We say three 4 times or 4 threes are 12 and write 4 x 3 = 12.

__________________________________________________________________________________________________________

ERepeated Addition Multiplying by 3 3 times table
3 Elthreeis3 §1><3=3 §3times1is3 3x1=3
E3+3=6 EZthreesare6 52><3=6 E3timesZis6 E3><2=6
§3+3+3=9 §3threesare9 §3><3=9 E3timesSis9 §3><3=9 I

3+3+3+3=12 §4threesare12 4 x3=12 3 times4is 12 {3 x4 =12
'34+3+3+3+3=15:5threesare 15 !5x 3 =15 :3 times 5is 15 (3 x5 =15

TR §6threesare18 §6x3=18§3times61318 §3><6=18

=18

ii;i;l3+3+3+3 7 threes are 21 :7 x 3 = 21 :3 times 7 is 21 i3 x 7 = 21
3+ 343434343 10 hreesare 24 8 x 3 =24 '3 times 8is 24 '3 x 8 = 24 |
5+3+3=24 : 5 5 5 :

S HIHIH I I3 g hrees are 27 19x 3 =27 {3 times 9is 27 (3 x 9 =27 |
+3+3+3=27 | i i | :

PO E I I hrees are 30110 x 3 = 3013 times 10 is 303 x 10 = 30!
+3+3+3+3=30 ! | : : '

__________________________________________________________________________________________________________
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1. Complete the table of 3..

(a) Multiplying by 3 (b) 3 times table
1 three is 3 1 x3-= 3 times 1 is 3x1=3
2 threes are 2x3=6 3 times 2 is 6 3x2=6
3 threes are 9 3x3= 3 times 3 is 9 3x3=
4 threes are 4x3=12 3 times 4 is 3x4=12
5 threes are 15 5x 3= 3 times 5 is 15 3 x =15
6 threes are 18 6 x =18 3 times 6 is 3x6=18
7 threes are 21 7 X =21 3 times 7 is 21 3x7=
8 threes are 24 8 x3= 3 times 8 is 24 3 % =24
9 threes are 27 x 3 =27 3 times 9 is 27 3x9=27
10 threes are 30 10 x 3 = 30 3 times 10 is 30 3 x =30

2. Count by 3s from 3 to 30.

3
3. Count backwards by 3s from 30 to 3.
30
4. Complete the multiplication 5. Kavita reads 3 pages of a book daily.
wheel. How many pages will she read in

9 days?

6. Ramesh made 5 groups of 3 notebooks each. How many notebooks are there
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Table of 4 e
Repeated addition by 4s '

3 candle stands having 4 candles each.

4+4+4=12
We say four 3 times or 3 fours are 12 and write
3% 4 =12

A

-I'._. T :-'.‘:_' W

"*“" EXERCISE 5F

________________________________________________________________________________________________________

Repeated Addition:  Multiplyingby4 | dtimestable
54 ilhmm4 ﬁx4=4 gﬁmmlm4gx1=4 E
§4+4 Pﬁmmme[:]izx4=8 Pﬁm%238§4x[:j=8§
§4+4+4 Pﬁmmﬂeu §3x4= Mﬁmasmlﬂ4x3=u E
§4+4+4+4 §4bmsmem §4x4=m 4Um%4m164X4 [:j;

§4+4+4+4+4 bﬁmmmec:]§5x4=m 4Um%5m204xt:] 20

§4+4+4+4+4+46ﬁmmam24 6 x 4= E4Um%6w2®4X6=24 i
.4+4+4+4+4 i i i i

. : - 4 ti is 2814 X 7 = :
|+4+4 7f0urs are 28 E7><4 28 E4‘[1mes71328E D i
'4+4+4+4+4'8f0ursare32 '8 x4=232 i4times8is32{4x 8 =32 i
4+ 4+4 5 E 5 5
'4+4+4+4+4'9f0ursare[j (9% 4 = §4times9is36§4XD=36i

+4+4+4+4

4+d4+drdva 5 5 5 |
10 fours are ] — ‘A ti : : x 10 = 40
+4+4+4+4+4| D :10 X 4 40:4t1me3101s40:[j |




2. Count by 4s from 4 to 40.

(e o )

3. Count backwards by 4s from 40 to 4.

(o I L L )

4. Complete the multiplication wheel.

5. A cat has 4 legs. How many legs do 3 cats
have?

6. A box has 4 erasers. How many erasers do
8 boxes have?

7. A square has 4 sides. A triangle has 3
sides. Which have more sides —4 squares
or 6 triangles? By how much?

[ Table of 5 ]

Repeated addition by 5s

4 baskets of 5 fruits each.

5+5+5+5=20
We say five 4 times or 4 fives are 20 and write 4 x 5 = 20.
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_________________________________________________________________________________________________________

iRepeated Additioni Multiplying by 5 5 times table
§5 ilﬁveisS ?1X5=D§5timesliSS 15x1=5
545 EZﬁvesare DEZX5=10 EStimesDis 1055XD=10§
54545 '3 fivesare 15 3x5=15 !5times3is15 i5x3=15 |
§5+5+5+5 §4ﬁvesareD§4x5=20 EStimes4iszo §5><4=
§5+5+5+5+5 ESﬁvesareZS E5><5=D55time551525 E5>< =25§
§5+5+5+5+5+5§6ﬁvesareD E6><5=30 i5timesDis30§5x6=30

54+ 54+5+54+5] | | |
: : 17 X5 = 5 ti i 5 R 7 =
545 :7ﬁvesare35 ; D;Stlmes7ls35 ; D

55+5+5+5+5i 3 L . 5 ,
§+5+5+5 58ﬁvesare40 58><5—4O EStlmesD154055x8—4O :

54545+5+5] | | | |
: : : 2 ‘5t i ‘5 X =45,
5454545 ;9ﬁvesareD ;9><5 45 ;5t1mes91345 ; D

5+5+5+5+5: i i i .
: : 10 x 5 = /5 ti i : x 10 =50
t5esnseses o0 POxsol Jstmetoinso { Jx10-5
2. Count by 5s from 5 to 50.

> -
3. Count backwards by 5s from 50 to 5.

50

4. Complete the multiplication wheel.

5. There are 5 stars on a badge. How many stars are there
on 3 such badges?

&
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6. Show 5 x 4 = 20 on the given number line.

11—ttt
01 2 3 45 6 7 8 9 10111213 14 1516 17 18 19 20

7. Write the number just after the product in each case.

(a) 1 x5 (a) 5 x 8 (c) 10 x 5

Table of 6
Repeated addition by 6s

SR amne amnn mhn s
5 bunches each having 6 bananas

6+6+6+6+6=30

We say six 5 times or 5 sixes are 30 and write 5 x 6 = 30.
‘:‘\\
LTI

-~ EXERCISE 5H

i "
e

1. Complete the table of 6.

____________________________________________________________________________________________________________

___________________________________

6+6 2 sixes are 12 12 x 6 = 12 ,
6+ 6+ 6 1 sixes are 18 BRGNS Frins 5 g 18 6x3=[:]
6x 4 =24

§6+6+6+6 §4sixesare24

5 sixes are 30

§6+6+6+6+6

§6+6+6+6+6+6 6 sixes are 36 16 X 6 = 36 §6times6is36 6
6+6+6+6+6+6+67sixesare42 (7 x6=42 |6 times7is42 6x7 =42
6+6+6+6+6+6 | | | ’
: '8 si '8 X =486 ti i 16 x 8=
1646 5831xesare48 E6‘c1me381s48 D .
6 +6+6+6+6+6! : : :

: 19 si I X 6= L6 ti i : =
464646 :951xesare54 ; D56t1mes91354 ;6><9 54

i6+6+6+6+6+6ilOsixesare60510><6:60 i6timeleis6056><IO:60
' +6+6+6+6 : : : :
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2. Count by 6s from 6 to 60.

e L 1 L I 1T
L J

3. Count backwards by 6s from 60 to 6.

SN I G U B

4. Complete the multiplication wheel.

5. A lady bug has 6 legs and a spider has 8 legs. How many
legs in all do 6 lady bugs and 5 spiders have?
6. Write the number that comes before each product.

i R SO

7. Write the numbers counting by threes between 6 x 6 and 6 x 8. [:)

[ Table of 7 ]

Repeated addition by 7s

4 groups of 7 frogs each.
7+7+7+7=28

We say seven 4 times or 4 sevens are 28 and write 4 x 7 = 28.
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" EXERCISE 5I
1. Complete the table of 7
iRepeated Addition Multiplying by 7 : 7 times table
P Hsevenis7  (1x7=7 [7tmeslis7 (7x1=7 |
§7+7 EZsevensareM §2><7:14 §7t1me321sl4 E7X2=D;
74747 '3 sevens are 21 13 x 7 = 21 7 times 3 is 21 7x3=21 |
§7+7+7+7 4 sevens are 28 14 x 7 = 28 §7t1mes41s28 §7><4=[:]§
§7+7+7+7+7 o Sevens ate 35 ESX[:]—35§7t1mes5is35 7x5=35 |
§7+7+7+7+7+7 é6sevensare42 §6><7:42 §7t1mes6ls42 E7><6:
.7+7+7+7+7+7+7I7sevensare49 §7><7=49 §7t1mes71349 E7><7:49
I;:;+7+7+7+7+ISSevensareS6 §8><7= §7time381356 §7><8=56
I;:;i;+7+7+7+u9sevensare63 :9><7—63 u7t1mes9ls63 7X9=D
:;:;:;:;+7+7+|105evensare70 10 x7 = [:] 7 times 10 is 70 ! 7><10 D

_________________________________________________________________________________________________________

2. Count by 7s from 7 to 70.
7

3. Count backwards by 7s from 70 to 7.
70

4. Complete the multiplication wheel.

910
8 0
7 X7 1
6 2
> 3
35 /-4

93
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5. Multiply:

X 4 1 5 X 6 2 8
7 28 7 42

6. 7 days make a week. How many days will be there in 6 weeks?
7. Fill in the blanks.

Q) 7X2+7%X4=7X (b) 9X7-6X7-= X 7

Table of 8
Repeated addition by 8s
s s ||
ZZ2 ZZ2 72 ZZ
4 boxes each having 8 pencils. 8 + 8 + 8 + 8 = 32
We say eight 4 times or 4 eights are 32 and write 4 x 8 = 32.

ok
" EXERCISE 5J

1. Complete the table of 8.”._

irRepeated Addition Multiplying by 8 times table
s deightiss  1x8=8 (Stmeslis[ |igx1-8 |
i8+8 EZelghtsarel6 §2X8=D:8tlme521316 :8X2—Di
i8+8+8 i3eightsare24 i3><8=24 58time83i8[:]58x3=24 :
8+8+8+8 §4eightsare32 §4X8=D58times4is32 ;8><4=[:]f
i8+8+8+8+8 iSeightsareéLO §5><8=40 '8t1mes518[:] 8 x 5 =40

8 +8+8+8+8+8 ,6eightsare 48 6 x 8 =48 .8t1mes6ls48 .8><6:48 .
B48+8+8+8+8+8!7cightsare 56 17 x 8 = 56 '8 times 7is 56 (8% |=56]

I+8+8 ! !
I8+8+8+8+8+8+I ' Qg . ' !

! . = '8 times 9 is 18 x 9= !
e84 9 cights are 72 [9x8=72 (] (]

8+8+8+8+8+8+:10e1ghtsare80 110 x 8 = 80 '8 times 10 is 80 '8 x 10 = 80 '

8+8+8+8+8+8'861ghtsare64 8x8= | 8times8is64 8x8=64

I8+8+8+8




2. Count by 8s from 8 to 80.

(e L L )

3. Count backwards by 8s from 80 to 8.

o L

4. Complete the multiplication wheel.

How old is the father?
6. Multiply and match. One has been done for you.

=N
o

gl
(o)}

N
[\S RN @)

S
(@)

— W
[\®)

ey
R
s
i S

7. Which is the missing multiplication fact from the table of 8 in question 62
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Table of 9

Repeated addition by 9s

3 heaps having 9 dice each.
9+9+9=27
We say nine 3 times or 3 nines are 27 and write 3 x 9 = 27.

-
-
1

¥ &

i-

*
D

-\.""-

- EXERCISE 5K

-

."h

¥

1. Complete the table of 9.

I8><9= 2 l9t1mesDiS72 §9X8=D

9+9+9+9+9+98n1nesare72

ERepeated Addition Multiplying by 9 times table
9 Elnineis9 ;1><9= ;9t1meslis9 §9><1=
§9+9 §2ninesar618 52><9=18 E9t1meleSD §9X2=18§
§9+9+9 §3ninesar627 é3><9=27 E9t1mes31327 §9><3=
§9+9+9+9 i4ninesare36 é4><9= ;9t1mes41s36 §9x4:36§
§9+9+9+9+9 ESn1nesare45 §5><9=45 é9timesSis45 §9><5:
§9+9+9+9+9+9 E6n1nesare54 é6><9 D;9tlmes61354 §9><6=54§
i9+9+9+9+9+9+9i7nmesare63 §7><9=63 é9t1mes7ls63 §9><7=63§
+9+9 : :
g:g:z+9+9+9+é9mnesar€81 é9x9 D;9t1mes91581 é9><9—81§
;Z13:99:99+9+9+§10nmesare90I10X9 D§9tlme3101390 §9><1()=90§

_________________________________________________________________________________________________________
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2. Count by 9s from 9 to 90.

(o I L )

3. Count backwards by 9s from 90 to 9.

(o 1 L )

4. Complete the multiplication wheel. | \

5. Complete each multiplication fact. Then show on the number line.
2x9=

<
<

| o | | | | | | |
1 2 3 45 6 7 8 9 101112 13 14 15 16 17 18 19 20

Y I I Y I S Y I Y N [N SN RO N B
1 2 3 45 6 7 8 9 101112 13 14 15 16 17 18 19 20

<
<

Y

|

|

0
9x 2=

%

0

6. Compare and write <, > or = in each [:]

(a)9><3[:]8><4 (b) 5><9[:]7><6 © 9><z[:]6><3

[Table of 10 ]

Repeated addition by 10s

4 bunches of 10 flowers each.
10 + 10 + 10 + 10 = 40

We say ten 4 times or 4 tens are 40 and write 4 x 10 = 10.
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T E N

A

1. Complete the table of 10.

* EXERCISE 5L

__________________________________________________________________________________________________________

' Repeated Addition

P ____________________________

10

10

10 + 10 + 10

h0+

510+10+10+10

1 ten is 10
2 tens are 20
3 tens are 30

4 tens are 40

.10+10+10+10+10 5 tens are 50

'10+10+10+10+10

.+10

'10+10+10+10+10
.+10+10

'10+10+10+10+10

.+10+10+10

'10+10+10+10+10
.+10+10+10+10

-10+10+10+10+10+'
10 + 10 + 10 + 10 + 10

.6 tens are 60

.7 tens are 70

u8 tens are 80

1x10=10 |
2% 10 =20 |
bxlozmi
;4x10= |

10 times 1 is 10
I 10 times 2 is 20
10 times 3 is 30
I 10 times 4 is 40

5><10—50 .10t1me551350

6>< 10 = D 10 times 6 is 60

§7><IO:70 ilOtimes7is7O

u8><10—80 u10t1m6581580

19 tens are 90 9 x 10 = D 10 times 9 is 90

10 x 1 =10
110 x 2 = 20
h0x3_m
110 x 4 = 40
'10x 5=

h0x6=m
10 x 7 =70

hOxS:[:}

h0x9=%

. 10 tens are 100 10 x 10 = 100 10 times 10 is 100 10 x 10 = 100

________________________________________________________________________________________________________

2. Count by 10s from 10 to 100.

10

3. Count backwards by 10s from 100 to 10.

100

4. Complete the multiplication wheel.
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5. Fill in the blanks.

(a) 0 x 10 = (b) 9 x 10 =
(c) 4 x 10 = (d 6x5= x 10
(e) 10 eights = (f) 2 less than 7 x 10 =

6. There are 10 pencils in a pencil stand.
How many pencils are there in
3 such stands?

7. A doctor sees 5 poor patients everyday for free so as to help the needy. How many
patients does the doctor see for free in 10 days? What moral value is shown by

the doctor? [Value Based Question]

TABLE OF MULTIPLICATION FACTS

Memorise the multiplication facts by using the combined multiplication table.

X 1 2 3 4 5 6 7 8 9 10

1 1 2 3 4 5 6 7 8 9 |10

2 | 2| 4| 6 [@7] 10 12161820

3 3 6 9 12 | 15 | 18 | 21 | 24 | 27 | 30

4 4 8 12 | 16 | 20 | 24 | 28 | 32 | 36 | 40

5 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50

6 6 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 60

7 7 14 | 21 | 28 | 35 | 42 | 49 | 56 | 63 | 70

8 | 8 | 16| 24| 32| 40 | 48 | 56 64@80

9 9 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90

10 | 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100
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"7 EXERCISE 5M

g

1. Complete the multiplication facts.

@) 4x5 =20 (b) 8x3 = ) 7x2 =
d 6x8 = () 3x0 = (f) 9x3 =
(g 9 x10 = (h) 8x5 = (i) 10x6=
G) 5x3 = k) 7x8 = 1) 8x4 =
(m) 7x6 = (n) 9x5 = (0) 6x0 =

2. Fill in the boxes with the correct numbers.

(a) 5x7=7x5= (b) 7x9-= = 63
(c) 6 x8=8x6-= (d) =1x8= 8
(e) 7x2= = 14 (f) 4x6=6x4=

3. Write the number just after:
(@) 2x4 (b) 7x9 (c) 1 x8 (d 5x5
4. Write the number just before:

(a) 4x4 (b) 9 x8 (c) 4x7 (d 2x7

5. Write the numbers between:

(@) 3x6and 4 x 6 (b) 8 x8and 8 x 9

6. Find the rule and complete the pairs.

5,25 2, 10 4, By 8, B
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WORD PROBLEMS

Example: There are 6 chairs in each row in a classroom. How many
chairs are there in 4 rows?

Solution: To find the number of chairs in 4 rows, we multiply 4 by 6.
4 x6=24
So, there are 24 chairs in all.

EXERCISE 5N

%,

Solve the following problems. Workspace

1. You go to school 5 days each week.
How many days do you go to school

in 4 weeks?
v
2. Some families are going on a picnic.
If 5 people ride in each car and there
are 3 cars, then how many people
are going on a picnic?
J
(" . )
3. Shikha bakes 7 cakes for a party. Each
cake has 7 cherries on it. How many
cherries are there on 7 cakes?
- .

4. Sanjeev is 8 years old. His grandmother
is 8 times his age. How old is Sanjeev’s
grandmother?
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5. There were 5 tables laid for a )
party. At each table, 10 people
were seated. How many people

were there in all?
S y
: 6. How many wheels are there on 8 cars )
if each car has 4 wheels?

- >,
7. How many rupees do you pay for
7 dolls if each doll costs 8 rupees?

J

* Class Work e

Write the correct symbol in each Q

A. Use the symbol +, - or x. . B. Use the symbol =, < or > .

3=8 .139+IIQI48
.48—25@25

s s

2=3x%x2 4.2tens7onesQ 9 x3

i .1+1+1+1+IQS><1
.9+IQIO><1

I. 5

N
Il
)
[\®)

s
N

OGO
{} =

(o)}
A\
[\
Ul

(O8]
V

oo
(@)
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%@
/" CHAPTER TEST
=is.
1. Match the following.
(@) | 28 ®) 90 () | 72 (d) | 8 (e [ 0

(i) (9 x 8 (i) (8 x 0 (iii) (4 x 2 (iv)[9 x 10 (v) (7 x4

Tick (v') the correct answer.

2. Seema has 4 boxes of picture cards. There are 8 cards in each box. Which sentence
tells how many cards Seema has in all?

(a) 4 +8 =12 (b) 4 x 6 =24 (c)4x8=32 (d) 4 x 12 =48

3. Which two number sentences does the number line show?

(a) 2+4=6 (b) 2+2+2=6 (¢)3x2=6

Tick (v') the correct option.

4. An octopus has 8 arms. To know the number of arms 5 octopuses have, you will
(a) add (b) multiply (c) subtract

5. Cross out the statement which does not match 3 x 8.
(a) 3 groups of 8 (b) 8 groups of 3 (c)8+8 +8 (d) 3 eights

6. The numbers in the diagram form a pattern.
What is the missing number ?

(a) 2 (b) 18 8/5 /\ 4\10
40
(c) 9 (d) 42 30
7. 7 4 = 8 x 5 — 2 sixes. What is the missing sign? ¢
(@) + (b) x (c) -
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Gf Worksheet

Crossword

Fill in the blanks in the given clues. Then complete the crossword by writing the
answers in words. We have filled some blanks to guide you.

Across

6. sevens = 28

7. 8x_ = =64

8. 3times6=______ IF

9. 5x4=2x%x__ 2 o I 1
10. x5 =45 U 5

11. 10x9 = :
Down F|O|U R

1. Double of 7 T '

2. Successor of 5 times 3 s E

3. X 9=63 { 9

4, 5x_ =40 i

5. 6fives=__ NJIT|N[EJT]Y

A

%ﬁ. Mental Maths
Fill in the blanks and boxes.

1. 3sixes=2 2. 9times8 +8 = tens
3. If is 6, then + + + + + = =4x

4. What will be the next four numbers in the given skip counting pattern?
55, 50 s ) )

5. x 10=0 6. 9x9=_____o0nes

L=

= HOTS

[ am a 2-digit number.

I am less than 50.

Count in sixes and there I am !

When you divide my tens digit by my ones digit you get 2.
Who am I?

= )
5

=

01
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. Activity ~N

An array is a group of objects in rows and columns. An array can be used to represent
a multiplication fact. Observe the following example.

3 rows of 4 buttons can be shown as:
Column

Row — @ @ @ @ 3 rows of 4 buttons each = 4 + 4 + 4

@000 -3 x4
0006 - 12

Similarly, 4 rows of 3 buttons can be shown as:
Column

¥
Row - @ @O

@@@ 4 rows of 3 buttons each =3 +3 +3 + 3
006 _4 %3
006 - 12

Now, using this concept of arrays, you have to design a quilt in the given grid using
6 different colours. Each colour represents a different product (picturised by an
array). Make a list of the colours and products you use, and then colour the quilt
accordingly. One has been done for you.

~N l. 2x3=6
e 6 blue squares
| 2.  x__ =
=9, __ squares
i 3. _ x___ =
squares
4., _ x____ =
squares
5. __x____ =
squares
6. —  x___ =
squares

Now, lets see whose quilt is the most beautiful.




More on
Multiplication

MULTIPLYING A 2-DIGIT NUMBER BY A 1-DIGIT NUMBER
Study the following examples.

—— Step 1:

—— Step 2:

Multiply the ones: 3 x 1 one = 3 ones

Write 3 in the ones place.

Multiply the tens: 3 x 2 tens = 6 tens
Write 6 in the tens place.

x__\
o
1. Multiply:
MY .
(a) TT0 (b) TTO
3 2 2 3
X 3 X 3
- J —
(e) [ 1O
H|T O H T O
7 0 9 2
X 4 X 3

(c)

(g)

EXERCISE 6A

(d)

(h)

— Step 1: Multiply the ones: 7 x 0 ones = 0 ones
Write 0 in the ones place.

Step 2: Multiply the tens: 7 x 5 tens = 35 tens
Write 5 in the tens place and 3 in the
hundreds place.




I/

2. Find the product.

4 \ 4 \ 4
@ CmErrroll ® [ ETTroll © [ HITIO
4 1 8 0 7 2
X 8 X 3 X 4
g J g J g
4 \ ff \ '
©mrrrol P mirol © [ ETo
7 1 8 1 8 3
X 9 X 6 X 2
\ Y, \ y, \ B

MathsWiz-2 I

(d) ( A

(h) ( )

g J

MULTIPLYING A 3-DIGIT NUMBER BY A 1-DIGIT NUMBER

Let us multiply 432 by 2.

Method 1: Using the expanded form of multiplicand

432 x 2 = (400 + 30 + 2) x 2

= (400 x 2) + (30 x2) + (2 x 2)

= 800 + 60 + 4
= 864

Method 2: Short method 5
Step 1: Arrange the numbers as
shown on the right.
Step 2: Multiply the ones. X
2 x 2 ones = 4 ones §

Lli==

Write 4 in the ones place.
Step 3: Multiply the tens.

2 X 3 tens = 6 tens

Write 6 in the tens place.
Step 4: Multiply the hundreds.

2 x 4 hundreds = 8 hundreds
Write 8 in the hundreds place.

In practice,
we apply the
short method.
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7" EXERCISE 6B
e
Multiply:
( A ( A\ ( A ( A
"I H[T]O > H[T]0 *lmlrlo]| * | [H[T]O
2 4 3 2 1 1 2 2 2 4 3 4
X 2 X 3 X 4 X 2
g J g J g J g J
5. ( ) 6. ( ) 7. ( ) 8. ( )
H[T[O H[T[O! H[T[O
2 2 1 31 2 2 1 3 21 0
X 2 X 2 X 3 X 4
g J g J g J g J
9. ( ) 10. ) 11. ) 12. [ )
H|T|O H|T O H/T|O H|T|O
3 79 3 0 3 2 2 0 4 0 1
X 0 X 3 X 4 X 2
g J g J g J g J
MULTIPLICATION BY 10, 20, 30, ..., 100
Study the following examples.
4 N\ 2\
32 x 20 =32 x (2 x 10) Short Method T O
=(32x2)x10 Multiply 32 by 2 and get 64. 3 2
= 64 x 10 Put 0 at the extreme right in ~ x 2
— 640 the ones place. 6 4
So, 32 x 20 = 640
\_ AN _J
4 N (. )
3x200 =3x(2x100) | | Short Method HTO
= (3 x 2) x 100 Put zeros in the onesandtens 2 0 0
— 6 x 100 places. X 3
— 600 Multiply 2 by 3 and get 6. 6 0 0
So, 3 x 200 = 600
N\ AN J

L




MathsWiz-2 I

oo B
AR
v
7" EXERCISE 6C
1. Write the product in the boxes.

Put 0
(a) 15x10 150 (b) 34 x 20 (c) 4 x 60
a X = X = C X =
—— 4
Multiply 15 by 1.
(d) 5x 80 = (e) 43 x 20 = (f) 10x40=
(g) 20 x 9 = (h) 31 x 30 = (i) 10x80=

2. Fill in the boxes.

4 x 2 = 4 x 20 = 4 x 200 =
3x3= 3 x 30 = 3 x 300 =
R S
1 | |
7 %x 100 = 700 9 x 80 = 5 x 200 =
e A

Multiply 7 by 1.

MULTIPLICATION OF A 2-DIGIT NUMBER BY A 1-DIGIT NUMBER
(With Carrying)
Let us multiply 36 by 4.

3-Step Method
H|T O
3 6
X 4
2 4<«—— Step 1: Multiply 4 by 6
1 2 0<—— Step 2: Multiply 4 by 3 tens or 30

1 4 4<—— Step 3: Addtheparticular products
24 + 120
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Short Method
H/TIO Step 1: 4 x 6 ones = 24 ones = 2 tens 4 ones

Write 4 in the ones place and carry 2 to the

2
3 g — Carry tens place.
y 4 Step 2: 4 x 3 tens = 12 tens
44 12 tens + 2 tens (carried over) = 14 tens

= 1 hundred 4 tens

Write 4 in the tens place and 1 in the hundreds
place.

“7* EXERCISE 6D

Use the short method to find the product.

1. [ ) 2. ) 3. ) 4, [ )
H| T O H|T O H| T O H|T O

5 8 3 4 1 6 3 5

X 3 X 7 X 4 X 5
g J g - J g J g J
( ) 4 N\ ( )\ ( N\

> H[T|0 ® | |IT[O 7 H[T[O | m|ITlO

1 4 2 7 4 5 3 5

X 7 X 6 X 9 X 4
\§ J \§ J \§ J \§ J
9f N\ 10( ) 11.( ) 12( )

HT| O HT O HT|O HT|O

5 6 7 5 3 8 4 5

X 5 X 6 X 4 X 6
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MULTIPLICATION OF A 3-DIGIT NUMBER BY A 1-DIGIT NUMBER
(With Carrying)
Let us multiply 219 by 3.

4-Step Method

H T O
219
X 3
2 7 Step 1: 3 x9 =27
30 Step 2: 3 x 10 =30
6 00 Step 3: 3 x 200 = 600
6 57 Step 4: 27 + 30 + 600 = 657

Short Method
H/T|/O| Step 1: Multiply the ones.
2

3 X 9 ones = 27 ones = 2 tens 7 ones

21 9 Write 7 in the ones place and carry 2 to the tens place.
% 3 | Step 2: Multiply the tens.
6 5 7 3 x 1 ten = 3 tens

3 tens + 2 tens (carried over) = 5 tens
Carry Write 5 in the tens place.

Step 3: Multiply the hundreds.
3 x 2 hundreds = 6 hundreds
Write 6 in the hundreds place.

-~ ’1.\
L. RN
o Tl

" EXERCISE 6E
1. Multiply: o
(a) ( ) (b) ( ) (C) ( ) (d) ( )
H|T|O H|T O H|T|O H|T|O
1 2 3 2 1 5 1 1 2 1 4 5
X 4 X 3 X 5 X 2
g J g J g J g J
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2. Find the product.

(a) ( ) (b) 4 ) (C) e ) (d) 4 )
H|T O H[T|O H|T|O H[T|O
1 9 2 2 3 8 2 0 8 4 3 5
x 5 x 4 x 4 x 2
1\ ___J 1\ ___J _ ___J 1\ ___J
4 A f 4 N\ e N\ h 4 )
© mrrroll Y (mrroll © (mmTol ® [ mITo
21 9 1 0 9 4 2 6 3 1 7
x 4 x 7 x 2 X 3
1\ ___J 1\ ___J _ ___J 1\ ___J

WORD PROBLEMS

Example: Radhika’s mother buys 4 bananas everyday for
her family. How many bananas will she buy in

92 days?
Solution: To get the total number of ~
bananas bought by Radhika’s HTO
mother we multiply 92 by 4. 9 2
So, Radhikas mother will buy |*X 4
368 bananas in all. 3 6 8
)
-;E}
& -l.,_;_-\\
gf EXERCISE 6F
B Workspace
f )
1. There are 4 theatres HTO
in a city. Each theatre
has 224 seats. How x
many seats are there
in all? —
Ans seats.
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A small box weighs 46 grams. How much do 8 such
boxes weigh?

= A= IF = ;

FIII

grams.
Mrs Mishra knits 45 scarves in a
month and distributes them in an HITIO
old age home. If she knits the same
number of scarves each month, X
how many scarves does she knit S
in 5 months? What moral value is
shown by Mrs Mishra? [Value Based Question] Ans: scarves.
S
)
4. A fruit seller sold 115 boxes HITIO
of apples to a school. Each
box had 6 apples. How many
. X
apples in all were sold to the e
school? —
Ans: apples.
.
: : )
Rohit has nine 50-rupee
notes and four 100-rupee HITO HITO
notes. How much money
in all does he have? O X
Ans rupees.
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ﬁ CHAPTER TEST

Multiply:
@ mraral O mraral © (maral]l @ (o)
H|T O] H|T| O] H|T|O] H|T|O]
8 3 9 6 7 5 1 2 6
X 3 X 7 X 8 X 3
|\ J |\ J |\ J |\ J

A grocer sells 105 bags of carrots. Each bag has 5 carrots. How many carrots in

all does the grocer sell? carrots.
3 x 7 tens =
4x2x___ =80 tens

Tick (v') the correct answer.

5.

5% 8 tens =
(a) 40 hundreds (b) 40 ones (c) 4 tens (d) 4 hundreds

In a bookcase, there are 22 books in each of the 8 shelves. How many books are
there in the bookcase?

(a) 166 (b) 116 (c) 176 (d) 186

13 groups from a school have gone for picnics. Each group has 40 students. How
many students in all have gone for the picnic?

(a) 502 (b) 420 (c) 520 (d) 402

The newspaper boy delivers 114 newspapers everyday. How many newspapers does
he deliver in 5 days?

(a) 550 (b) 520 (c) 460 (d) 570

e

*;;;ﬂ HOTS

It costs I 12 to send a letter by post and X 28 to send it by courier. How much in all
would it cost to send 6 letters by post and 4 letters by courier?

14
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Iqﬂi;__ Model Test Paper - 1

(Based on Chapters 2 to 6)
Write the number shown on the abacus in § H
H

(a) Standard form:
(b) Expanded form:

(c¢) Word form: T O
(a) What is the sum of (b) What is difference between

286 and 387¢ 813 and 576¢
Counting by threes write three numbers starting from 214. , ,

Anju needs to reserve 22 tables in a restaurant for a party. If each table can seat
8 persons, how many people will be attending the party?

Nimisha kept 5 crates with 20 eggs each one over the other. How many eggs are
there in all?

Tick (V') the correct answer.

6.

10.

The number that comes after 3 hundreds 90 ones is

(a) 390 (b) 391 ( ) (c) 392 (d) 389
is 2 hundreds less than the sum of 149 and 528.
(a) 657 (b) 877 (c) 457 (d) 477

A bicycle renting shop rents 33 bicycles every week. How many bicycles are rented
in 7 weeks?

(a) 221 bicycles (b) 212 bicycles

(c) 231 bicycles (d) 321 bicycles

What is the sum of the greatest and smallest number among the following?
628 352 253 278

(a) 818 (b) 981 (c) 881 (d) 891

The difference between the place value of 3 and 7 in the number “three hundred
seventy-five” is

(a) 370 (b) 230 (c) 300 (d) 70

+
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12 toffees have been divided
equally among 4 boys. How many
toffees shall each boy get?

You are right. The process
of separating into equal
groups is called Division.

\

Ma'am each

boy will get

12 +4=23
toffees.

~

EQUAL SHARING OR EQUAL GROUPING

1/1‘ \\ 1/1‘ \\
\ 1 \ 1
4 apples in 2 groups

2 apples in each group

-—— =

/’ \\\
e -———
4 o g N /’ - §\\
. Q W_\\ \i\ \ L : S
1 e .\\, %\ \\ ) éf A
N RN~ ! S ¥ '
LR S‘W/ O, S % |
S = " . VR R o~
S o _ ‘%g. . ‘\___‘., o
~— - N A \\\u:.) ) 7

e

6 bananas in 2 groups
3 bananas in each group

.-

/‘_5\
e ~
7’ \ -~
4 = - \ 7z N
. . . N -— -
II \\ P = R P o
r- 4 hY
1 |,I \\ / i - N
\ - = ’| . / \
’ 3 3 I \
\ ; ; 1
N 7 | |
| P / \ - - !
~ s N 4
S =" N , /
~ s N 4
S =" N 4
~ -
Se_ -

12 butterflies in 3 groups
4 butterflies in each group

I | I |
\ / //’_‘\\ \\ //
Seo__-7 /@\ Seo__-7
,/ \\ \ / ,/ \\
I | - I |
\ / \ /

5 cars in 5 groups
1 car in each group
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}ﬁj Maths Lab ACtiVity (Teacher to Assist)

15 strawberries are divided equally among 3 sisters. How many strawberries shall each sister
get?

This is same as dividing 15 counters into 3 equal groups. Form groups of 5 children each.
Give each group 3 paper plates and 15 counters or buttons. Now tell them, they are going

to make 3 equal groups of 15 counters.

¢ Have students put one counter on each plate and repeat this unit all the counters are
placed on the plates.

% Let them count the counters on each plate, that is 5 counters.
So, 15 counters divided into 3 equal groups means each group containing 5 counters.

5
This is written as 15 + 3 = 5 or 3)15 where '+' is the sign of division.

So, now how many strawberries does each sister get?
The teacher can make the child practise more equal grouping sums like this by giving
them counters and paper plates.

(a) 12 counters into 4 equal groups (b) 20 counters into 5 equal groups
(c) 18 counters into 6 equal groups (d) 14 counters into 2 equal groups

DIVIDING EQUALLY

Look at the following examples.

1. Divide 6 softies into 2 equal groups.

The picture shows that there are 3 softies in each group.
We say 6 divided by 2 is 3 and write [ 6 +2 =3
This is called division.

Division, thus means dividing or separating into m m m m
equal groups.
2. Divide 12 oranges into 3 equal groups. m m m m

The picture on the right shows that there are m m m m
4 oranges in each group.
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We say 12 divided by 3 is 4 and write ( 12+3=4 )

(12+3=4 )

Total number Number of

of oranges to oranges in

be divided Number of  €ach group
groups

P

“*f@n

EXERCISE 7A

Fill in the boxes by dividing the pictures in equal groups. One has been done for
you.

1.

4 children share 8 balls equally.
Gy

1 child gets @ balls.

18 pineapples are shared equally among 3 boys.
18+3=( )

1 boy gets Q pineapples.

LLYPS
e
aee @

12 crayons are shared equally among 4 children.
2+4=(

1 child gets Q crayons.

AN AN
e

15 pencils are shared equally among 3 girls.
15+3=( )

1 girls gets Q pencils.

21 mangoes are put equally in 7 bags.
210+7=( )

1 bag has O mangoes.

QQQ
QQQ
QQQ
QQQ
QQQ
QQQ

10 children are seated equally in 5 cars.

w+5=C)

In 1 car, there are Q children.

L

7 cae

G
7d
?ﬂ;-:)

80
iy

.
.

:“:—;
D



DIVISION AS REPEATED SUBTRACTION

The short way of adding equal numbers
is multiplication. The short way of
subtracting equal numbers is division.

Hari was ill. The doctor gave him
8 tablets.

For how many days did the
medicine last, if he had to take
2 tablets daily?

CRLLLAKIR

First d
irst day 8 _ 3 b
LERBEE
Second day :
6-2=4
D&
Third day Sl
4 -2=2
Fourth day : exleie
2-2=0

MathsWiz-2

f

6 tablets remained
4 tablets remained

2 tablets remained

All tablets taken.
No tablet is left.

The medicine lasted 4 days. Here, 2 has been subtracted 4 times from 8 to get 0.

Instead of subtracting 2 separately 4 times, we can write in short as

4
8§ +2=14 or 2)8

From the above explanation, we can say that division is actually repeated

subtraction.

+
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DIVISION AS REPEATED SUBTRACTION ON THE NUMBER LINE

How many times can you subtract 5 from 20?

20
Show on the number line. -5
YR g =5 =5 =5 =5 15
-3
< l l l l l l l l l l l l l l l l l l l l . 1'0
o I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I Ll _ 5
0 5 10 15 20 —5
Start at 20. Hop 5 to the left in 1 time. In the fourth time, you _5
will reach at 0. 0
So,(20+5=4)
‘% Class Work
Show each division statement on the number line.
10+2= [:] ) ) ) ) )
How many times can ™)
you subtract 2 from 10?7 <« | | i | | | i i i —
_ 0 1 2 3 4 5 6 7 8 9 10
times
How many times can
you subtract 6 from 122 =~ 2 . o O O o o 10 1 L
D times
How many times can
you subtract 3 from 15¢ <t —+—+—+—+—F—+—t—F—F—+—+— ——
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
D times

24+ 4 = [:]

| | | | | | | | |

|

|

|

|

1y

How many times can
you subtract 4 from 24?

D times

A

I I I I I I I I I

o

—
(-
[
S
1 ——
A ——
 —

i)

I

I

I

I

1
—
8§ 9 101112 13141516 17 18 19 20 21 22 23 24

™
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MULTIPLICATION AND DIVISION ARE RELATED

The picture shows 10 cats arranged in groups of 2.

It shows a multiplication fact : 5 x 2 = 10 and a division fact : 10 + 2 = 5.
10 cats can also be arranged in groups [ _m B
of 5 as shown. h
So, 2 x 5 = 10, the division fact for ( S A
2x5=101is 10 + 5 = 2. % "?ﬂ

A few more examples are given below.

N\

J

N\

J

_ Multiplication Facts Division Facts

2x3=60r3x2=6 | | 6+3=2o0or6+2=

5x6=300r6 x5=230 30-6=50r30+5=6
8 x7=560r7x8 =056 56 +7=8o0r56+8=7
9x4=360r4x9 =36 36 +4=90r36+9=4

7 x 7 =49 49 +7 =7
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DIVISION BY 2, 3,..., 9

Fill in the boxes with the correct numbers.

Division by 2

1 2
1x2= 2 2+2="1 2)2 2x2= 4 4+2= 2 24
3
3x2= 6 6+2= 3 276 4x2= 6 8§+2= 2)8
5x2 = 10 + 2 = 2)10 6 x2 = 12 +2 = 2012
7x2= 14 + 2 = 2)14 8 x 2= 16 + 2 = 2)16
9x2= 18 +2 = 2)18 10 x 2 = 20 + 2 = 2)20
Division by 3

(N

— —

1x3=/3 3:3=/1

— —

(SN

3x3=| 9:3= | 3 4x3= | 12:3=/ |3

5x3= | 15:3= | 3 6x3= | 18+3= |3
_( o [ 3=

7 %X 3= ) 21 -3 = ;3 8§ X3 = )2473— ) 3

SafEalaliEnliE
=aRE BRI RIET

[\
N
o
W
Il
(SN




Division by 4

1 x4-=

3x4=

5x4 =

7 X4 =

9 x4 =

4

4 +4 =

12 + 4 =

20 +4 =

28 +4 =

36 +4 =

Division by 5

1 x5=

3x5=

5x5=

7 x5=

9x 5=

5

5+5=
15+5=
25 +5 =
35+5=
45 + 5 =

1

g
4) 4
4)12°
4)20

4)28

4)36

g
5)5
5)15

5)25

5)35

5)45

2x4= 6

4 x4 =

6 x4 =

8§ x4 =

10 x 4 =

2x5= 10

4 x5=

6 Xx5=

8§ x 5=

10 x 5 =

MathsWiz-2

8§ +4 =

16 + 4 =

24 ~ 4 =

32 -4 =

40 - 4 =

10 =5 =

20+ 5 =

30+ 5=

40 - 5 =

50 + 5 =

2

2

4)16
4)24

4)32

4)40

2
5)10
5)20

5)30



MathsWiz-2

Division by 6

10 x 6 =60, 60 +6= 10

N—

5><6:(

8§ X 6 =

9% 6=

7 X 6=

30+6=

48 =+ 6 =

~

54+ 6=

42+6=

Division by 7

5x7=235 35+7-=

9x 7=

6 x7=

7 X7 =

63 +7 =

42 + 7 =

49 + 7 =

70 =7 =

oy

)

1) 80 =) %R

0

7)42

7)49

7)70

3x7=

1 x7=

8 x 7=

4 x7 =

2X7=

7

21 =7 =

7 +7 =

56 + 7 =

28 + 7 =

14 -7 =

1

ERE RS

=D

7)21

77

7)56

7)28

7)14
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r( Division by 8

~
3
3x8=24 24+8= 3 824 6x 8= 48 + 8 = 8)48
5% 8= 40 + 8 = 8)40 4x8= 32+8= 8)32
10 x 8 = 80 + 8 = 8)80 7x8= 56 + 8 = 8)56
9x 8= 72+ 8 = 8)72 8 x 8= 64 + 8 = 8)64
N J
Division by 9
fﬂ ( ( ( D
4x9=236 36+9= 4 9)36 8x9= | 72+9= | 972
- — O — —
7x9= | 63+9=_ | 9)63 10x9= | 90+9= | 9)90
- — O — — L
6x9= | 54+9= | 9)54 9x9= | 81+9= | 981
Division by 10
2
2x10=20 20+10= 2 1020 8x10= 80 + 10 = 10080
10 x 10 = 100 + 10 = 10100 3 x 10 = 30 + 10 = 10030
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Completing Division Facts

Examples: 8 + 2| =4. Think that 2 fours are 8.

27 + 19| = 3. Think that 9 threes are 27.
8 + 8|/ =1. Think that 8 ones are 8.
50 - |5 = 10. Think that 5 tens are 50.

e

ATl

k5 N

:‘3* EXERCISE 7B

Complete the division facts.

1.
4.
7.
10.

13.

DIVISION WITH REMAINDER
Look at the following.

P K

1.

.
14+2= ) 2. 16+8= 3. 21+3=
\

-
45:9=(_ ) 5. 32+4= 6. 35+5=
\

.
40+4= ) 8. 9+3-= 9. 24+6=
\

.
63+7=_ ) 11. 28+ 4~ 12. 80+ 10=
\

-
45+9= ) 14. 727 = 15. 24 -8 =
\

-

I

v

i
There are 7 toy cars and 3 boys.

Each boy gets 2 cars when divided 3)—§ Quotient
equally. How many cars remain? " | Think that 3 twos are 6.
7 = 3 times 2 and 1 1 Remainder

Each boy gets 2 cars and 1 car remains.

In the division sum shown, 3 is called the divisor, 2 is called the quotient
and 1 is called the remainder.

e
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. There are 11 softy ice creams and 5 boys.

How many softy ice creams does

each boy get when divided equally? 5)T

How many ice creams remain? -10 | Think that 5 twos are 10.

11 =5 times 2 and 1 0

Each boy gets 2 ice creams and 1 ice cream remains.

Use the multiplication
The book h inch distribut tables to carry out
. € DOO ouse 1ncharge aistriputes division.

75 books equally among 8 boys. o
8) 75 Think that 8

—72 | nines are 72.
3

How many books does each
boy receive? 9

How many books remain? 3

?ﬁ‘l”' EXERCISE 7C
<L

Divide and find the quotient and the remainder.

(a) (b) (c) (d)
4)18 6) 45 5) 39 8) 63
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2. Find the quotient and the remainder.

b d
@ Sy ® oy © oy D yse—
©) 0 ® (h)
7551 8561 4535 3519

WORD PROBLEMS
Read the following carefully.

1. Mother has 15 buttons. There @ @ @ @ @ @ Workspace

are 5 buttons on each card. @ @ @

3
How many cards of buttons 00 00 ®0 5)%

does she have? 5
She has 3 cards of buttons. —

TGP TTD 2, Radha had 51 umbrellas. | Workspace
o e e e e ap s Shedivided them into groups IO)T?

O R PP PP P R of 10 ee.lch. How many 50
groups did she have? How 1

I’F?ﬂ}ﬂ}ﬂ}ﬂ}ﬂ}ﬂ}ﬁ}ﬁ many umbrellas remained?
ﬁ?ﬁ??????? She has 5 groups and 1 umbrella
< remained.
oo B
W
- EXERCISE 7D
Solve the following problems. Workspace
1. There are 20 children in Aruna’s 20+5=4
class. They got into groups of 5 each Thus. 4
to play a game. How many groups groups are
were formed? ¢
ormed.

J

L
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There are 72 seats in
a movie hall. If each
row has 9 seats, then
how many rows of
seats are there?

(2. There are 25 h
people going on a
picnic. If 5 people
ride in each car,
how many cars are
needed?
S S
4 B
3. In a parade, there
are 28 camels
marching in 4 equal
rows. How many
camels are there in
each row?
\ S
4 )
4. How many
oranges do you
buy for 18 rupees
if each orange
costs 2 rupees?
. .
N
5. Arnav and his four
friends visit the zoo.
They pay % 45 as the
entry fee. How much
does 1 ticket cost?
y
h
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7. Ashi can make 8 necklaces
in 56 minutes. If each
necklace requires the same
amount of time, how many
minutes does it take her to
make one necklace?

. Danny’s mother gave him 28 toffees but he
did not eat all of them by himself. He eats
4 of them and shares the rest equally with
6 children around him. How many toffees |
does each child receive?

. What moral value of Danny can you learn from this? [Value Based Question]

~

9. There are 34 pencils in a
box. Mrs Brown distributes
8 pencils to each of her
children. How many children
does she have and how many
9 pencils are left over? D

10. 68 books need to be
arranged equally in the
7 shelves of a bookcase.
How many books will fit
in each shelf and how
many are left over? y

@, Mental Maths

Solve and write the correct number in the boxes.

1. 32 +4 = 2. 4 tens =~ 8 =
3. 63+ =7 4. ~8=5
5. 5 less than 40 + 8 is 6. 10 more than 42 + 6 is

&
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=5

N

1. Share 30 marbles among 6 boys. Each boy gets marbles.
2. Share 56 toffees among 9 girls. Each girls gets toftees, toffees remain.
3. Write the quotient in the boxes.
(@) 16 =2 = (b) 56 + 7 = (c) 81+9=
(d) 72 + 8 = (e) 48+ 6= (f) 45+5 =
4. Work out the following problems.
(a) 7)65 (b) 9)75 (c) 8)59
5. How many weeks are there in 35 days? weeks.
J
e
m HOTS
1. Write true or false against each number sentence.
(a) 81 +9<80+10 (b) 16 -+ 8< 15+ 5
(c)70 + 7 #2 x5
2. What number divided by 7 gives an answer of 9?
3. Nina baked 35 cookies and ate 6 of them. She now wants to make 5 gift bags with
the same number of cookies in each bag. How many cookies (if any) will be left over?
'F.‘Ei
5 Quick Review
1. How much is 18 more than the product of 5 and 9?
2. Danny puts 63 bottles of juice in a box. There were 7 equal rows of bottles in the
box. How many bottles were there in each row?
3. 200 more than 213 x 2 equals

+
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PAIRS
Objects that are in twos are said to be in pairs.

P D

One cup A pair of cups
1 2 3 -+
pair pair

There are 2 pairs and no leftover in case of 4 objects.

The numbers that can be put in pairs are called even numbers.

C4 can be put into pairs, so it is an even number.)

1 2 3
pair 1 leftover

There is one pair and 1 leftover in case of 3 objects.

The numbers that cannot be put in pairs are called odd numbers.

CS cannot be put into pairs, so it is an odd number. )

Remember

1. No remainder is left, when an even number is divided by 2. In case of odd numbers
1 is leftover when divided by 2.

&
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In the number series, when taken in continuation, even and odd numbers come
alternately.

If the last digit of any number ends in 0, 2, 4, 6, 8, then the number would always
be an even number. For example, 10, 12, 34, 46, 88, etc.

If the last digit of any number ends in 1, 3, 5, 7, 9, then the number would always
be an odd number. For example, 11, 23, 35, 47, 99, etc.

A
mﬁa' EXERCISE 8

Count the objects in each row and write odd or even. One has been done for you.

(. (. (. (. (. (.
4] 4] 4] 4] 4] 4]
i s it - it - it - it — it -
A A A A A A
o o o o o+ = o
- - - - - o

(b)

=)
BHRBBERY
" RRBE -
)
"do000000

s’

(c)

(d)
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2. Tick () the collection with odd number of objects.

(a) AT AT AN AT AT
I .'II a, N ] I .'II a, N ] I .'II a, N ] I .'II a, N ] I .'II a, N ]
| = o) | & il | r i | F il | ; |
‘\_'I. [ % -;’J '\_'I- [ X ;’J '\_'I- [ % -;’J '\_'I- [ % -;’J '\_'I- [ % -:aj

ht Lo ht Lo iy iy gl iy iy

‘//‘ G ‘//‘ N
..'II # sih ..'II # ah
b S Fo |
N :-_-_,J’J N J-_-_,J’J
" N, ‘-.;_-J__'_/" \‘-.:_'J__'fj
"-- r "-- r

3. Circle the even numbers in the following.

5 8 15 17 20
16 13 9 28 50
[0

e

ﬁ ~ Fun Activity

24 29 41

63 72 93

Fill in green colour in all odd numbers and pink colour in all even numbers.

35 46 54 17 1 33 98 67 44 72
2 99 49 22 18 7 48,59 71 19
81 36 70 89 27 62 78 38 13 53
42 87 3 64 31 20 82 40 10 68
12 128 50 41 57| 4 37 86 52 25
21 8 69 39 73 51 14 91 79 30
56 74 11 6380 88 61 26|83 9
34 190 58 23 92 45 66| 5 7617
8 6 96 15|55 95 32 93 /43 75
16 65 47 |100 29 29 84 |60 24 94

ﬁ%ﬁ HOTS

1. I am an even number between 5 times 3 and 6 times 3. Who am I?

2. I am an odd number between 11 and 20. I am greater than 15 but less than 19.

Who am I?
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*E*’* Vocabulary

Length
Rameshl What Weight
is the length «  Capacity
of your Maths It is about 14 20' ';5::700”“ +  Metre
book paper clips long. P g Gram
Litre
Ok, | will
teach you
more about
measurement.

LENGTH

We see that the length of objects (here book) can be measured by
placing multiple copies of the same object (here paper clips or pencils)
end-to-end. Two students when asked to measure the length of their Maths
book used two different objects. May be if the teacher asks all the children of
the class to do this activity, they may use different objects for the measurement.
Hence, they shall have different answers, although the length of the book is
the same for every student. Such units (objects) used for measurement are
known as non-standard units of measurement.

Also, as seen in the example given above, it takes more smaller objects
than larger objects to measure the length of a given thing. So, the unit of
measurement or object used is also picked keeping in view the convenience
factor.

B
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To avoid all these differences in measurement,

: ) The length of a staple
standard units of measurement as centimetres “o>  pinand the width of
and metres are used. the tip of the small
We write centimetre in short form as cm and O finger of an adult is
metre as m. — about 1 cm.

Small lengths are measured in centimetres.

< A pencil is about 14 centimetres long.
< A normal sized paper clip is about 2 centimetres long.
< A glue stick is about 10 centimetres long.

< Your Maths book is about 30 centimetres long.

To measure smaller length, we use 15 cm or 30 cm ruler.

o™ 1 3 5 6 12 13— 14—35—|

_————— > — —————»———

—T-L-'-'-!::!H:L!:H:!T!::!HH!. o b
Bigger lengths are measured in metres. 4 )

< 'The length of the door knob from the
ground is about 1 metre.

< 'The length of a normal bed is about
2 metres.

2m

% Children run a 100 metres race. (8

< 'The length and width of a basket ball court is measured in metres.
100 centimetres make 1 metre. So, 1 m = 100 cm

The following are three kinds of metre scales used.

1. It is a metre rod made of iron or wood used by cloth merchants for
measuring cloth.




[a—
L]
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It is a metre scale used by masons or carpenters.

Which is longer, a centimetre or a metre?

Which standard unit of length—centimetres or metres would you use to measure
the following lengths and heights?

(a) The length of a table
(b) The width of a playing card

(c) The height of a newborn baby
(d) The height of a double decker bus

(e) The height of your school building

Fill in the blanks with more / less.

(a) The height of a cycle is than 1 metre.

(b) The length of a 3 seater sofa is than 1 metre.

(c) The length of my school playground is

(d) The height of my school bag is than 1 metre.

(e) The height of a cat is than 1 metre.
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5. Write metre (m) or centimetre (cm) in the blank space.

(a) My pencil is about 10— long.
(b) My height is about 90

(c) Our classroom is about 5 long.
(d) This plant is about 1 —— high.

(e) The safety pinisabout3 _— long.

6. Write the length of each.

(a)

7. Using a ruler, measure the lengths of the following lines.

(a) A~ °B 4 | cm
AB is 4 centimetres long.

- H cm
centimetres long.

- Q cm
centimetres long.

centimetres long.




PROBLEM SOLVING

The following diagram shows the location of the houses of four children with

respect to the school.

mﬂm

Pinky’s Housa\

Sita’s House

Montu’s House

MathsWiz-2

Rita’s House

/(a) How far is the school from Sita’s house? 4 ) A
N \ -
4 ) ) )
(b) Pinky came to [~ N (c) How far is Rita’s [~ )
the school from home from
home and then Pinky’s home?
walked back
home. How far
did she walk? | ) S )
. J \_ 4
4 N [ )
(d) Rita first walks ™ () How many N
to the school metres more is
and then walks the school from
to Sita’s house. Pinky’s house
How far does than from
Rita walk? \_ ) Montu’s house? S
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Measure the following objects around you and complete the table.

Object Choose the unit Measure
Width of your maths book Centimetre About
Metre
Car Centimetre About
Metre
Calculator Centimetre About
Metre

WEIGHT

As discussed in the beginning of the chapter, we know that earlier non-
standard units were used to measure lengths. Similarly, a balance can be
used to measure the weights of objects using non-standard units as paper
clips, crayons, marbles etc.

As we can see, 6 paper clips balance with 1 pencil so the weight of
1 pencil = weight of about 6 paper clips. Now, here the same pencil balances
with 1 paint brush, so say 1 pencil weighs about 1 paint brush. Similarly,
1 pencil if tried again may weigh about 3 marbles. So, again to avoid this
difference in answers with non-standard units of weight, we move on to
the study of standard units of weight.

Measuring Weight
The standard unit of weight is gram.

Kilogram is a bigger unit of weight.

&
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The vegetable seller is The goldsmith is The farmer is weighing
weighing potatoes in weighing a ring in ~ wheat bags in quintals.
kilograms. grams.

We write gram as g and kilogram as kg in short form.

[1 kilogram is equal to 1000 grams. In short, 1 kg = 1000 g)

Weight of a feather is about 1 gram.
Weight of an apple is about 40 grams.
Weight of a new born baby is about 3 kg.

The following pictures show some of the
standard weights.

@,
y |
Qeeeeeee

o

.ﬁ; EXERCISE 9B
1. Write the unit of weight in which you will measure the following.
(a) Eraser (b) Biscuit packet [:] (c) Four toftees D

(d) Your weight (e) Soap-bar [:] (f) Gold ring D
(g) Bag of rice (h) Your suitcase and bedding [:]
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2. Circle the weight that seems to be correct.

(a) (b) g (c)

50 g /500 g 10 kg / 100 kg 15 kg / 150 kg

3. Solve the following.

3 kg / 30 kg

4 )
(a) Sumit weighs 45 kg and Anil weighs
56 kg. What is their total weight?
-
N Y
-
(b) The weight of a chair is 10 kg. )
A table is 25 kilograms heavier
than the chair. What is the
weight of the table?
-
N Y
4 . . )
(c) A bag of onions weighs 520 grams. A
bag of potatoes weighs 810 grams. How
much lighter is the bag of onions than
the bag of potatoes?
D grams.
N Y
4 )

A man weighs 72 kg and his wife
weighs 59 kg. How much does the
man weigh more than his wife?

D kilograms.
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(e) ?ggya has 6?5 frar.ns of ;he.rrie;.;)he eats 130g| 645 g\
grams of cherries and gives 350 grams ~
of cherries to her sister Tanya. What is +350g/-L g
the weight of cherries left with Sanya?
[j grams. & |

N .
CAPACITY
Measuring Capacity

The milkman measures milk in litres. Petrol and kerosene oil are also sold
in litres.

The unit for measuring liquids is litre. The short way of writing litre is L.
Small quantities of a liquid such as medicine are measured in millilitres.

The short way of writing millilitre is mL.

[1000 millilitres make 1 litre. In short, 1 L = 1000 mL)

The milkman uses the following types of standard vessels to measure the
quantity of milk.

Bhb-.
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P EXERCISE 9C

1. Tick (v) the unit you will use to measure the capacity of each of the following.

L

mL L mL

mL

2. Circle the unit which you will use to measure each of the following.

(a)

~
[ The weight of a banana ]\

.-

(c)

(e)

g cm mL
NS N

( [The length of a train_j"\

(b)

(d)

()

: The amount of water -
in a doctor’s syringe
cm mL g
N\ J
~
[ The length of a pencil]
S L kg cm| )
-
The amount of water
in the water tank
S L kg m
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3. Solve the following.

4 )
(a) A bucket contains 15 L of water
15 L

and another bucket contains
12 L. Find the total amount
of water in the two buckets.

a —
\. 4

+ 12 L

-
A cow gives 8 litres of milk every )
day. How much milk will she give in
a week?

s
N o
4 )
(c) A milk dairy sells 145 litres of
milk everyday. How much milk
will it sell in 4 days?
. .
4 )

- Mandira fills an empty container
with 20 litres of water. She then
pours all the water equally into some
jugs. Each jug holds 4 litres of water.
How many jugs does she use?

il - J
(e) A bottle contained 400 mL of oil.
The bottle fell and 75 mL of oil AT :
spilled on the floor. How much FJFQ:%E'
il left in th le?
oil was left in the bottle -"'__.,_'_._:E'-"
-
. 4
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b i
Match correctly the items in column A to their description in column B.

(a) weight (i) small unit of capacity

(b) capacity (ii) the measure of how heavy an object is
(c) metre (iii) unit of capacity = 1000 millilitres

(d) litre (iv) unit of length = 100 centimetres

(e) kilogram (v) the amount that a container can hold
(f) millilitre (vi) unit of weight = 1000 grams

What unit will you use to measure the following? Put a tick (v') on the
correct answer.

(a) an apple g or kg
(b) a small bottle of hair oil L or mL
(c) a water storage tank mL or L
(d) the strolley full of clothes g or kg
(e) the length of your mom’s saree cm or m

Tick (v') the correct answer.

3.

Bobby jogs two times around a 325 m long track. How far does he jog in metres?

(a) 350 m (b) 650 m (¢) 550 m (d) 660 m
Which one of the following is the heaviest?

(a) 1 kg (b) 800 g (c) 900 g (d) 990 g
In 1 L, there are mL.

(a) 1 (b) 10 (c) 100 (d) 1000

A bottle of coke is about

(a) 50 mL (b) 120 mL (c) 800 mL (d) 300 mL

Kirti buys 325 mL of mango juice and 450 mL of grape juice. She mixes them

to make a fruit punch. She drinks 415 mL of the punch. How many millilitres
is left?

(a) 135 mL (b) 360 mL (c) 250 mL (d) 460 mL

46
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We use money to pay for things that we buy.

Money is in the form of coins and currency notes. In India, money is in
the form of rupees and paise.

We use the symbols T and p to represent rupee or rupees and paise respectively.
Identify our coins and currency notes and write their values in the blanks.

2 @

rupee coin rupee coin

rupee coin

rupee note

100 paise
make
1 rupee.

rupee note

rupee note




1. Count and write the money in each box.

(a) [

o6

(c)

(e)

- MathsWiz-2
++

s
% EXERCISE 10A

rupees

rupees

(d)

()

LX)

rupees

rupees

2. Tick (V) the notes and coins needed to make the given amount.

C—

@ (215 |

—

(.HM ——
crgl ©

— - LR L]

D
&
&
i naCoom
\—

iR e
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EXCHANGING MONEY

10 rupees can be got by combining different coins as:

How can a 20-rupee note be exchanged for 2-rupee coins, 5-rupee coins and
10-rupee coins respectively? Also find one exchange for 20-rupees where all these
coins are there together.

CFal -
DFal -
DFal -
UFal -
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- _ Worksheet

1. Draw lines to match the correct amount on the left to the toys on the right
costing the same amount.

T 125

2. Find the change.

Bought Pg@v Returned Workspace
A book for % 13 and _?g
a ball pen for ¥ 5 | )

Toffees for ¥ 3 and ;
fruits for T 10 i

Ice cream for ¥ 10|
and colour-box for

< 30 5-rupee coins.

Abook forI60and | . . ...

a greeting card for | . &5 [:] 20-rupee notes or [:]
20 ) 10 rupee notes.




I'I'
RUPEES AND PAISE

100 paise is equal to 1 rupee. Previously, coins of smaller values (as shown
below) representing paise were also used. Now, they have been discontinued
by the government.

e © & ©

e

1 paisa 2 paise 5 paise 20 paise 25 paise 50 paise

___________________________________________________________

Note: 50 p coins are still used sometimes. J

Writing money involving both rupees and paise in words and figures
Ten rupees in numerals is ¥ 10. Fifty paise in numerals is 50 p.
One hundred five rupees is ¥ 105. Nine paise is 9 p.

“Twenty rupees sixty-five paise” in numerals is written as ¥ 20.65 where the
numeral indicating rupees is separated from the numeral indicating paisa
by a point (dot).

The rupee sign,

Dot (point) < is placed before
the numerals as

20,1 65, 3 20.65.

T

Rupees Paise

Examples: (a) Seventeen rupees and fifty paise is written as I 17.50.
(b) Twenty-two rupees and eight paise is written as I 22.08.

A single digit paisa is converted to a double digit numeral
by adding a zero before it.

(c) Forty-five rupees is written as I 45.00 (note the 2 zeros
after the point).

(d) 65 paise is written as I 0.65 (note the zero before the point).

st
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" EXERCISE 10B

1. Write in figures.
(a) Nine rupees and forty-five paise =

(b) Twenty-nine rupees and nine paise =
(c) One hundred forty-three rupees and fifty paise =

(d) Fifty-six rupees =
(e) Ninety rupees and twenty-five paise =

2. Write in words.

(a) 3650 =
(b) ¥ 1590 =

(c) 55.07 =

(d) ¥ 175.35 =

ADDITION AND SUBTRACTION OF MONEY

Addition and subtraction of money expressed both in rupees and paise is

carried out as follows:

1. Rupees and paise are arranged into different columns exactly one

below the other.

In case of subtraction, the greater amount is placed above the smaller

amount.

2. Then the numbers are added or subtracted as ordinary numbers.
3. Finally, a point is placed between the value of rupees and paise in

the answer.
Example 1: Add X 16.35 and Example 2:
3 45.50.
Solution: 2 Solution:
4 P Y
16 35
@ 45 50
61 85 =y
Answer: T 61.85 oo -

Subtract T 25.30
from ¥ 78.85.

I

78 85
O 25 30

53 55

Answer: 3 53.55
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Example 3: Rita bought groceries for ¥ 145.25 and medicines for ¥ 326.45

from the market. How much did she spend in all?

Solution: Rita spent = I 145.25 + I 326.45. 3
=<3 471.70 in all. D
145

+) 326
471

P
@

25

45

70

Example 4: Manoj went to the school canteen with I 45.55. He ate a

sandwich for X 21.30. How much money is

he left with? < P
Solution: Manoj is left with I 45.55 - ¥ 21.30 4>
=% 2425 © 21 30
24 25
Fio 8
" EXERCISE 10C
1. Add the following amounts.
() 4 P (b) 4 P (c) 7 P
O O
62 50 245 35 135 25
® 35 25 ® 83 40 ® 472 45
2. Subtract the following amounts.
(a) s p (b) 3 p (c) s p
28 58 95 75 275 65
© 15 25 © 59 50 ) 143 40

+



o+ B+
3. Solve the following.

MathsWiz-2
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(a)

Gita’s mother gave her ¥ 40 to buy
some fruits. She went to the market

and lost T 15 on her way. How much ﬂ

\
'ig
K

J'

money is left with her? %ﬁa

(b) Ashu bought an ice cream for I 28
and a burger for T 45 for lunch.
How much money did he spend
in all?

N\

(c)

Mohit took his mobile phone for repair.
The repair cost him ¥ 254. He gave the
shopkeeper I 300. How much did the
shopkeeper give him back?

s ]

(d) John had his practical exam. He paid
% 75.25 as exam fee. Suddenly he noticed
that his friend was crying as he did not
have money for exam fee. John paid the
same amount as the friend’s exam fee also.
How much did John pay as exam fee in all?
What moral value of John is highlighted
in the question? [Value Based Question]

-

(e)

Amita bought a cap and a
hairband for ¥ 100. If the cost of
the hairband is I 12.50, find the
cost of the cap.

________________________________

________________________________
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(a) Fifty-eight rupees and ninety-five paise =~ =

Write in figures.

(b) Two hundred forty rupees and eight paise =

Every year Arpit celebrates his birthday in an orphanage. Workspace
This year also, he bought chocolates for ¥ 440 and gave the

shopkeeper a 500-rupee note. The shopkeeper has either

20-rupee notes or 50-rupee and 10-rupee notes. How many

20-rupee or 50-rupee and 10-rupee notes should he give

back to Arpit?

I have a 50-rupee note. Is it sufficient to buy eight 6-rupee erasers?

The cost of a pair of shoes is I 435.99. Priya has only I 224.50. How much more
money does she need to buy the shoes?

Tick (V') the correct answer.

5.

Sandy went to a bookshop and bought two books, one for ¥ 56.25 and the other for
< 118.30. How much money did she pay to the shopkeeper?

(a) T 164.55 (b) T 174.65 (c) T 174.55 (d) T 164.05

1 kg of sweets costs I 260. What is the cost of 2 kg of sweets?
(a) ¥ 320 (b) X 520 (c) X 640 (d) X 700

A sale sign in a shop reads “ 15 off on any item over 50

Some of the items displayed are:

. /?115 ; /?85 (-"M_\l/us
> ©

Sam buys a ball, a bag and a hat. How much does he need to pay?

(a) 3180 (b) X165 (c) 195 (d) X150
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7% Vocabulary

- «~  Hour Tomorrow
TELLING TIME »  Minute Month
Look at the clock shown below. - Day Year
It has two hands. One of them is the |+ Yesterday Leap Year
long hand. The other is the short hand. |+ Today Seasons

The short hand shows the hours and is
called the hour hand.

The long hand shows the minutes and is called the
minute hand. The face of the clock is called the
dial. The dial of the clock is divided into 12 equal

parts.

In this clock, the short hand is at 3 and the long
hand is at 12.

The time is 3 o’ clock. In short, it is written as 3 : 00.

At the hour, the longer hand points to 12. The time
is indicated by the number to which the short hand
points.

In the clock shown here, the long hand is at 12 and
the short hand is at 8.

What is the time?

The time is o clock or

&
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o EXERCISE 11A

1. Write the time shown on the face of the clocks.

(b)

TELLING TIME TO THE HALF HOUR

Rohan woke up at 7 o clock
in the morning to go to
school.

He had breakfast at half
past 7.
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What does half past mean?

As you can see, the minute hand has moved from 12 to 6 in the second
clock and also the hour hand is between 7 and 8.

So, half past the hour means the minute hand is halfway round the clock
and the hour hand is also halfway between the two numbers for the hours.

S

The recess break in Rohan comes back Rohan goes to play
the school is at half from school at half at half past 4.
past 10. past 1.

Note in all the above cases the minute hand is at 6 and the hour hand is
between the numbers showing the hour and the next number.

‘% Class Work

1. Write the time.

Half past 9 Half past 12 Half past 5
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. EXERCISE 11B

1. Tick (v') the more suitable time for the given activity.
(a) Mother makes breakfast at

(b) Daddy reads a book at night before going
to bed at

(c) Mohan goes for a football practice in the
evening at

2. Sanjay enjoys his Sunday as given below. Write the time for each activity.

(b) He enjoys a swim at




MathsWiz-2

(d) He reads his favourite book at

3. Four children go to bed at different times at night. Show the times given below
each clock by drawing the hands on the clocks.

Anvi Ritu James Pawan

Half past 8 9 o clock Half past 9 10 o’ clock

EXPLORE THE MINUTES AND HOURS
There are 30 minutes in half an hour and 60 minutes in 1 hour.

[t takes about

T minute to
[t takes about

1 hour to do
homework.

drink some juice.
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___Worksheet

About how long will it take? Tick (v) the better choice.
1. To bake a cake.

2. To cut a cake.

More than Less than
1 hour 1 hour

About About half
1 minute an hour

More than
1 minute

More than
1 hour

More than Less than
1 minute 1 minute

¥ v e

More than Less than
1 minute 1 minute

More than Less than
1 hour 1 hour
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DAYS OF THE WEEK

A day is the time that the earth takes to make 1 complete rotation on its

axis.

It takes 1 day for the earth

to rotate once on its axis. It takes 1 year for the earth to

move around the sun.
There are 7 days in a week.

The first day of the week is Monday. The last day of the week is Sunday.
Starting from Monday the days of the week in order are as follows:

Name of the Day Short from
Monday N Mon.
Tuesday QO Tues.

Wednesda_y Wed.
TI;urs;lay Thrs.
: iJriday Fri.

- Saturday Sat.

Sunday Sun.

E Teacher’s Tip

The ISO 8601 Standard (an Internationally accepted way to represent dates and times) places Monday as the first day of the
week and Sunday as the last day of week.

L
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[k EXERCISE 11C

Answer the following questions.

(a) How many days are there in a week?

(b) Name the first day of a week.

(c) Name the fourth day of a week.

(d) Name the third day of a week.
(e) Name the last day of a week.

Fill in the blanks.
(a) Sunday comes before Monday.

(b) Sunday comes after

(c) comes before Friday.

(d) Tuesday comes after
o -

yas

(e) comes before Wednesday.

(f) Monday comes after

(g) comes before Sunday.

(h) Friday comes after

Write the name of the day (or days) that comes between

(a) Friday Saturday Sunday:. I

(b) Monday Wednesday.

(c) Saturday Monday.

(d) Wednesday
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TODAY, YESTERDAY, TOMORROW
Today is the present day, the day which is going on.

Yesterday was the day before today, the day that has passed.

Tomorrow is the day after today, the day that is going to come.

If today is Monday, yesterday was the day before Monday, that is, Sunday.

Tomorrow will be the day after today, that is Tuesday.

— Sunday  pefore - Monday — After —

S— — — —_—

Yesterday —— Today —— Tomorrow

-*®

" EXERCISE 11D

L

Fill in the blanks.

1. If today is Sunday, yesterday was

Tuesday

2. If today is Wednesday, tomorrow will be

3. If yesterday was Wednesday, today is

4. If tomorrow is Friday, today is

5. If yesterday was Friday, today is

6. If tomorrow is Wednesday, today is

MONTHS OF THE YEAR

There are 12 months in a year. They are - January, February, March, April,
May, June, July, August, September, October, November, December.

64
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The number of days in the months are as follows:

Number Month of the year Short form Number of days
Ist January Jan. 31
2nd February Feb. 28 or 29
3rd March Mar. 31
4th April Apr. 30
5th May May 31
6th June June 30
7th July July 31
8th August Aug. 31
9th September Sept. 30
10th October Oct. 31
11th November Novw. 30
12th December Dec. 31

Remembering the number of days in a month of the year
There is an easy way to remember the number of days in a month of a year.

Fold your fingers into a fist jan Mar. l\/I¢ay July Aug. Oi:t. Dec.
as shown. Count the months

of the year starting from the
first knuckle, that is January
on the knuckle, February in
the dip, March again on the
knuckle and so on.

All the months on the knuckle have 31 days. The months in the dip have
30 days. February is the only exception with 28 or 29 days.
W

+
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Learn the Rhyme

Thirty days have September, April,
June and November,

All the rest have thirty-one,
Excepting February alone.
That has 286 days dear,

And 29 days in a leap year.

e
ATl
.*.!Il'l.%.-#
:,h— EXERCISE 11E

Fill in the blanks.

1.

[a—
e

11.
12.
13.

14.
15.

¥ ® N SN e WD

There are months in a year.

is the second month of the year.
April is the month of the year.

is the seventh month of the year.

is the month between April and June.
The month just before December is
The month just after July is

is the month just after September.

is the month just before February.

July is the month between and
April, , and November have days.
months in a year have 31 days.
Names of two months beginning with ] having 31 days are and
The first and the last months of the year have days.
is the month with the least number of days that is

L
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To find the number of days in a year
There are 7 months having 31 days, 4 months having 30 days and 1 month
having 28 or 29 days in a year. Thus, a year has
[(7 x 31) + (4 x 30) + (1 x 28)] days
= (217 + 120 + 28) days = 365 days
One year in every four years has an extra day, that is that year has 366 days.

A year with 366 days is called a leap year. The extra day is added to February
which then has 29 days. Here are some leap years:

1968, 1972, 1976, 1980, 1984, 1988, 1992, 1996, 2000
What leap year comes next after 2000? How did you find it? 59

To find number of weeks in a year 7 g g 5
We know that a week has 7 days. _—15
To find the number of weeks in a year, we divide 365 by 7. _14

365 =+ 7 = 52 weeks and 1 day. 1
CALENDAR

A calendar is a record of all the days in a year. It orders time into days,
weeks and months. Calendar 2016

JANUARY FEBRUARY [ MARCH | APRIL

S M T W T F S S M T W T F S S M T W T F S S M T W T F S
1 2 1 2 3 4 5 6 1 2 3 4 5 1 2
3 4 5 6 7 8 9 7 8 9 10 11 12 13 6 7 8 9 10 11 12 3 4 5 6 7 8 9
10 11 12 13 14 15 16 14 15 16 17 18 19 20 13 14 15 16 17 18 19 10 11 12 13 14 15 16
17 18 19 20 21 22 23 21 22 23 24 25 26 27 20 21 22 23 24 25 26 17 18 19 20 21 22 23
24 25 26 27 28 29 30 28 29 27 28 29 30 31 24 25 26 27 28 29 30
1 J U J U J U J
S M T W T F S S M T W T F S S M T W T F S S M T W T F S
1 2 3 4 5 6 7 1 2 3 4 1 2 1 2 3 4 5 6
8 9 10 11 12 13 14 5 6 7 8 9 10 11 3 4 5 6 7 8 9 7 8 9 10 11 12 13
15 16 17 18 19 20 21 12 13 14 15 16 17 18 10 11 12 13 14 15 16 14 15 16 17 18 19 20
22 23 24 25 26 27 28 19 20 21 22 23 24 25 17 18 19 20 21 22 23 21 22 23 24 25 26 27
29 30 31 26 27 28 29 30 24 25 26 27 28 29 30 28 29 30 31
N J U J &1 J U J
S M T W T F S S M T W T F S S M T W T F S S M T W T F §
1 2 3 1 1 2 3 4 5 1 2 3
4 5 6 7 8 9 10 2 3 4 5 6 7 8 6 7 8 9 10 11 12 4 5 6 7 8 9 10
11 12 13 14 15 16 17 9 10 11 12 13 14 15 13 14 15 16 17 18 19 11 12 13 14 15 16 17
18 19 20 21 22 23 24 16 17 18 19 20 21 22 20 21 22 23 24 25 26 18 19 20 21 22 23 24
25 26 27 28 29 30 23 24 25 26 27 28 29 27 28 29 30 25 26 27 28 29 30 31
. J \30_3t J _ J
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By studying the calendar, we learn that

7 days = 1 week
About 52 weeks = 1 year

12 months = 1 year 10 years make 1 decade.
100 years make 1 century.

365 days = 1 year
366 days = 1 leap year
About 4 weeks = 1 month

WRITING DATES

A calendar can be used to write a date.

Look at the calendar for the month of October 2015.

October 2015

Sunday = Monday Tuesday Wednesday Thursday

1

4 5 6 7 8
11 12 13 14 15
18 19 20 21 22
25 26 27 28 29

Friday
2
9
16
23

30

Saturday
3
10
17
24

31

The month begins on a Thursday. The date is October 1, 2015. In short, we

write 1.10.2015.

The month ends on a Saturday. The date is October 31, 2015. In short, we

write 31.10.2015.

The date on the second Tuesday of the month is October 13, 2015. In short,

we write 13.10.2015.

A
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% Class Work

Use the calendar for the month of October 2015 given on page 168 to fill in the blanks.
The third day of the month falls on a

There are Fridays in the month of October.
The date of the first Monday of the month is
If today is the last Thursday of the month, the date is
The twenty-fifth day of the month is a

AN D e

If all Saturdays and Sundays are holidays, then the number of holidays in the
month of October are

SEASONS

Worldwide, the year is divided into four seasons.
Winter : It is very cold and also snows in some areas.

Spring : This season comes after winter. New leaves grow and flowers are
in full bloom.

Summer : It is very hot.

Autumn : This season comes before winter. The trees shed their leaves and
the weather is pleasant.
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In India, there are six seasons or ritus.

[l "

. January -
| February

[u—

March New leaves grow,
flowers bloom

et

Grishma

o

ET
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Answer the following questions. You can use the help box.

Help Box:
Vasanta, Shishir, Sharad, Very cold, Raincoat, Hemanta, Cold things, Grishma

1. How’s the weather in winter?

2. What do you wear in varsha ritu to protect yourself?

3. What would you like to eat or drink the most in summers?

4. 1 come between winter and summer. New plants grow when I come. What season

am [?

5. Name the season that comes before Vasanta.

6. All around you there are leaves and leaves. The trees are shedding leaves all

the time. Which ritu is it?

7. 'The season when it becomes very hot is

1.

11 o clock




MathsWiz-2

2. Fill in the blanks.

(a) There are 7 in a week.

(b) If yesterday was Wednesday then tomorrow will be

(c) A leap year has days.

(d) The year 2016 is a leap year. (True/false)

(e) On a clock, the hour hand is between 9 and 10 and the minute hand

is at 6, the time shown by the clock is

(f) is the tenth month of the year.

(g) is the season that comes after Spring.

3. The calendar for December, 2015 is shown below. Observe it and fill in the

blanks.
December, 2015

Sunday = Monday | Tuesday Wednesday Thursday Friday @ Saturday

1 2 3 4
6 7 8 o 9 10 11
13 14 15_ 16 17 18
20 21 B 22 23 24 25
27 28 29 30 31

(a) The date on the last Saturday of December is
(b) The month of December has Thursdays in all.

(c) The day of the week just after December 9 is

(d) The last day of December is on a

(e) The date on the third Tuesday of December is

5

12

19

26
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Gf Worksheet

Look at the current year’s calendar and answer the following questions.

1.

AN

On which day of the week does Mahatma Gandhi’s birthday (October 2) fall?

What is your birth date?

On which day does your birthday fall this year?

Write the date on which your school reopened after the summer vacation.

On which day of the week does Christmas (December 25) fall this year?

Write the date for the fifteenth day of the month of August.
What is special about this day?

L!ﬁ .__Project

S

Make Your Own Calendar

Make the calendar for the month on which your birthday falls (for the current year).
Use colour pencils to design it.

Also show on the calendar holidays, special days of the school and birthdays of your
friends etc.

The basic format should be:

Year: Month:

Sunday Monday Tuesday Wednesday Thursday Friday Saturday

+
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- Horizontal - Circle
PLANE SHAPES PRyt v tubeld

o anting * upe
Plane shapes are shapes that can be drawn | Rectangle - Sphere
on a flat surface such as paper. + Square . Cylinder
We are already familiar with the plane shapes | : Triangle » Cone
such as rectangle, square, triangle, circle and
oval.
Look at the shapes and identify. Then fill in T Comer
the blanks with their name and learn more

< Side

about the shapes.

eometry

\

This is a )
It has three sides and three corners.
This is a ) .Side
It has no sides or corners. c
orner
/
This is an This is a )
shape. It has four corners and four
Side Corner . ) .
x l eldes. All its sides are equal.
This is a

It has four corners and four sides. Its opposite sides are equal.

J
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Help this dog find his way home by colouring the rectangles brown.

Then colour the circles yellow, triangles green, ovals red and
squares blue.
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Look for at least 3 objects of different shapes in your surroundings like the classroom,
garden, your home and prepare a table writing the names of objects against each
shape.

Shape Names of objects

Rectangle

Square

Triangle

Circle
Oval

STRAIGHT LINES AND CURVED LINES

Two children were holding a skipping rope at each end. They stretched it
tight. The skipping rope forms a straight line as shown below.

Straight Line

Now they hold the rope a bit loose. The skipping rope forms a curved line
as shown below.

Curved Line

A line is represented as:

A

»
>

The arrows at both the ends show that a line does not stop, it continues in
both directions without ending.

The part of a line is called a line segment. Line Segment
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Types of Straight Lines p—

l .

Straight lines are of 3 types:
1. Horizontal or sleeping line: A horizontal or
sleeping line is that which goes straight across.

The lines on your writing paper are examples |
of horizontal lines. |

<
<

\/

Horizontal Line
or
Sleeping Line

2. Vertical or standing line: A vertical or standing

line is that which goes straight up and down. Vertical Line
A cricket stump standing on the ground, the o

T Standing Line
margin line in your notebook are examples of

vertical lines.

Margin
Line

Cricket stumps A page of your

notebook

3. Slanting line: A slanting line goes straight as the slope of a hill.

Slanting Line
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E: Class Work

Rohan has drawn a figure using different types of lines.

Count the number of horizontal, vertical and slanting lines
in the given picture and write the number in each of the p—
given blank box. ”

Horizontal Lines

Vertical Lines

Slanting Lines

P
i Tl AN

7 EXERCISE 12A

o

1. Write the number of lines (horizontal, vertical and slanting) which make each
of these letters of the alphabet.

(@) Horizontal = (1 (b) Vertical
Slanting =12 Slanting

(c) (d)

Horizontal = Vertical =

Vertical = Slanting =

f
(©) Horizontal = ®) Vertical =
Vertical = Slanting =
| ><

g —1— (h

Horizontal = Vertical

Vertical = Slanting
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2. Draw the given lines by moving the pencil first on the dotted lines and then
draw them freehand.

Horizontal Line Vertical Line Slanting Line

DRAWING A STRAIGHT LINE USING A RULER
To draw a straight line using a ruler we take the following steps.

Step 1: Place the ruler on the sheet of paper where you want to draw the line.

Put your pencil on the zero mark of the ruler.

-

Step 2: Move the pencil along the edge of the ruler till you have a line as
long as you want.

S
-

Class Work

Draw lines of the given lengths.
1. 8 cm 2. 7 cm 3. 5cm
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SOLID SHAPES

Solid shapes are three-dimensional shapes that | eightI

have three dimensions—length, width and height. ~“length

Plane shapes have only two-dimensions—length width
and width.
Common solids and their examples are given [length
below: - .
width

Cone

Cylinder

Sphere




MathsWiz-2 o
+*Ed

Name the solid shape that each object is shaped like. One has been done for you.

,@1&4& * EXERCISE 12B

Cowas ) )

4
) )

Flat Surfaces and Curved Surfaces

When you move your hand over the table top or the top of your book, does
your hand turn? No

7.

Such surfaces are called flat surfaces.

Y f= 4

All the objects shown above have flat surfaces.
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When you move your hand over surface of a ball or an orange does your

hand turn? Yes.

These objects have a curved surface.

1. You can stack objects with flat surfaces, that is, you can keep a ruler one above

the other and so on.

2 You can roll objects with curved surfaces, that is, a ball and a glue stick can be

rolled.

7. Class Work

Look at the objects and fill in the blanks.

1. An orange has

2. A can has

3. An ice cream has
4, A tissue box has

flat surfaces and

curved surface.

flat surfaces and

curved surface.

a flat surface or

curved surface.

flat surface and

curved surface.
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Face, Edge and Vertex of a Solid Shape
< A face is a flat surface of a solid shape.

Vertex Face

< An edge is a line segment or side where

two faces meet.

Face

< A vertex (plural vertices) is a point where ~ Edge

three or more sides meet.
% Obi : Vertex
R jects shaped like a sphere have only Edge

one curved surface.

E: Class Work

Identify the solid figure and then write the number of faces, edges and vertices.
(The child should in fact take a concrete shape in hand and count.)

Faces: Faces: Faces:
Edges: Edges: Edges:
Vertices: Vertices: Vertices:

:‘E%;_Quick Review

1. Rani has lunch at the time shown by the given clock.
What time is it?

2. Kathy buys a watch for X 216.50 and a book for I 105.30 less.
What is the cost of the book?

3. Which of the following is the least?
100 mL, 10 L, 1 L, 10 mL.
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Read the clues and identify the figures.
(a) I am a plane shape with four equal sides.

(b) I am a solid shape with six square faces.

(c) I am a solid shape that can roll and have no flat face?
(d) If you place a glue stick on a sheet of paper and trace one of its flat face, what
shape do you get?

Tick (v') the correct answer.

(a) The red line that makes up the letter Z is a
(i) horizontal line (ii) slanting line
(iii) vertical line

(b) The blue line that makes up the letter Z is a
(i) horizontal line (ii) vertical line
(iii) slanting line

(c) Which of the lines that make up the letter N are 1 2
vertical lines.

(i) 1,2, 3 (i) 2 (iii) 1, 3

(a) What shape does this object resemble?
(b) How many flat surfaces it has?
(c) How many curved surfaces it has? SN

Choose the best term from the box and fill in the blanks.
edge, three, face, roll, dimensions

(a) The flat surface of a solid shape is called a

(b) The side formed by the meeting of two faces of a solid shape is an

(c) A solid shape with a curved surface can

(d) Plane shapes have two whereas solid shapes have
dimensions.

J
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MAKING HORIZONTAL, VERTICAL AND SLANTING LINES BY

PAPER FOLDING

Take a square sheet of paper as given and see what you get!

Horizorlltal line

1.
A
5 Fold Open =~ pommoeemommeooees
Press
. You get a
Fold IF along horizontal line.
the middle by
turning right.
2. Vertical Line\\i
Fold Open i
__________ - _— p
Fold it along Press You get a
the middle by vertical line.
turning up.
3 Slantir‘lg line
D Fold Open v
I' ,"‘
Press

Fold as shown

You get a
slanting line.

Now, try and fold the same square sheet twice to get two slanting lines.

L



Colour one-half of each.

<
:

B
)
:

This is not one-half.

@Vacabulary \

One-half
One-third
One-fourth
Two-third
Three-fourth
J

| have
coloured
one-half.
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FRACTIONAL PARTS OF A WHOLE
The cake is cut into two equal parts.
Each part is called one-half of the cake.

We write one-half as %

The numerals %

The biscuit is cut into three equal parts. % ’ %r cte. are

Each part is called one-third of the biscuit.

We write one-third as %

called fractions.

The apple is cut into four equal parts.

Each part is one-fourth or one-quarter
of the apple.

We write one-fourth as ;11

PP
4 \ 3
v

“ 7 EXERCISE 13A

f

ol

%«E}
"I\.

1. Colour one-half (%) of each figure.

2. Colour one-third (%) of each figure.




1.

&
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3. Colour one-fourth (i) of each figure.

4. What part of each figure is coloured? Ring the correct answer.

o=

W[

e L
o=
W[
e L

THIRDS

% tells 1 part out of 3 equal parts.

% tells 2 parts out of 3 equal parts.

% tells 3 parts out of 3 equal parts.

oo B

Pt/
.!_.!fl.:#l- G
" EXERCISE 13B

-

What part of each figure is coloured? Ring the correct fraction.

W|—
W|w
W|—
W[
W[

1
2

W|Ww

W|—

o
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2. Colour the fractional part of each figure as stated.

W
(OS] \)
W[ W

FOURTHS

i tells 1 part out of 4 equal parts. |:|1:|
2
% tells 2 parts out of 4 equal parts.

% tells 3 parts out of 4 equal parts.

% tells 4 parts out of 4 equal parts. %
e\
e
Py EXERCISE 13C
1. What part of each figure is coloured? Ring the correct fraction.
1 3 4 3 1 2 4 2
4 4 4 4 1 4 4 4

2. Colour fractional parts of each figure as stated.

NN

ENES
TN
e L
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1. Circle the fraction in numbers and words that match the figure.

(@) One-twos One-half % %
(b)
% One-fourth % One-fours

C
(€) A % One-third % One-threes

2. Cross the fractional part that does not belong in each row.

(a)
One-third

(b)
One-half @ ZIL

(c)
Three-fourth Zh

Tick (v') the correct answer.
3. What fraction of this figure is shaded?

1 2 3 1
(@) 7 (b) 3 (€ 7 (d) 5

4. How many one-thirds are there in a whole?
(a) 4 (b) 2 (c) 1 (d) 3

Tf‘ﬁ?q HOTS

The circles are of the same size. Colour one-part of each circle and name the fraction
below it.
Now can you order the fractions from
least to greatest by seeing the coloured

D D D parts of each circle?

>
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@5 Vocabulary

- Number Patterns

et
" " _ ;
We -now.t at patterns are formed by repeatlng a L Rangoli Patterns
certain object or set of objects over and over again.

Try to draw the next shape/figure in the following patterns.

S 1 kY |
N\

PATTERNS AROUND US

We observe patterns everywhere around us. A rangoli made during festivals,
the carpet at home, the grill patterns on your windows, the tiles on your
bathroom wall and floor, the block print patterns on the bed covers etc. are
some of the common patterns we see.
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Observe the following patterns and fill up the blank space by drawing the shapes/
figures which would come next.

L INDNOL N
2 (EIEIE)

.-{}‘%«\.
L
[ EXERCISE 14A

3.

I

5 o.oo (e =N¢)

6. ) X ) X )
7 O.. e e e ...

PATTERNS USING MATCHSTICKS

You can also make different patterns using matchsticks like the following:
0 ® o ®

Try making some patterns yourself.
NUMBER PATTERNS
A. Look at the following pictures. ’V\

1 flower 3 flowers 5 flowers 7 flowers

&
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Using the numbers the sequence is:

1 3 5 7
N N N AN
+2 +2 +2 +2

The rule to go from one number to the next is add 2.
B. Smaller and smaller

In the pictures shown in part A, the number of
flowers goes on increasing. In the pattern 1, 3,
5, 7, ... the number grows larger each time.
Sometimes, the numbers in a pattern go on
decreasing. Suppose, there are 16 flowers on a
plant. A lady plucks two flowers each day for
her worship. The number of flowers on the plant
goes on decreasing by 2 each day.

The pattern is

16 14 12 10, ; , » 2, 0.
N\ AN A

-2 -2 =2 .. The missing numbers are 8, 6 and 4.

The rule of the above pattern is take away 2 each time.

C. The numbers become larger and larger very rapidly.

WL

1 carrot 2 carrots 4 carrots 8 carrots

1 2 4 8
N N N AN
X2 X2 X2 X2

The rule to go from one term to the next is multiply by 2.

s
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:,};m EXERCISE 14B

1. Observe the following patterns and write them using numbers.

)

(a)

3
56 ®®® s
3 33 BB 53

3
&6
®®
0 DDAD, DLAAD, VAR, DDA

haV AR AR AVGEAT AR AR A AR AR AR AR A RARAR
FARAR AT PR A T4 T

2. Write the next three terms in each sequence.

(a) 0,3,6,9, , , (b) 4,9, 14, 19, , ,
(c) 10, 15, 20, 25, , , (d) 18, 25, 32, 39, , ,
(e) 40, 35, 30, 25, , , (f) 70, 60, 50, 40, , ,
(g) 2,4, 8 16, , , (h) 5, 10, 20, 40, , ,

3. I am the seventh number in the sequence of numbers:
4, 6, 8, 10, ...
What number am I?

4. 1 am the eighth number in the sequence 9, 18, 27, 36, ...

What number am I?

5. Complete the following sequence of numbers by spotting the pattern.

(a) 4, 7,10, 16, 22, (b) 1,3,9, 27, .

(c) 10, , 30, 40, , 60, (d) 38,35, 32, , , 23, 20, , 14.

6. A child’s height when he is 1 year old is 60 cm and a year
later it is 70 cm. Assuming the child grows the same height
each year, find the height of the child when he is 5 years old.

L
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% CHAPTER TEST

1. Draw the next two figures in the following patterns.

(a)

(b) @@ o0 o0 @)

2. Observe the following number patterns and write the next three numbers.
(a) 16, 21, 26, 31, 36, , ,

(b) 55, 52, 49, 46, 43, , :
(c) 2,4, 8,16, 32, ; ;

(d) 98, 87, 76, 65, 54, , ,

Tick (v) the correct answer.
3. The missing number in the given pattern is
5, 12, 19, 26, , 40, 47

(a) 29 (b) 31 [ (c) 37 (d) 33

4. The missing figure in the given pattern is

(a) (b) (©) (d)

%‘i HOTS
(e

Charu has made
towers with blocks.
How many blocks

would be needed
to make the 7th —‘ —‘D D D
tower?

1st tower 2nd tower 3rd tower 4th tower




MathsWiz-2

1. See how Radhika made such nice patterns with a simple leaf.

o o Mo
VY VY

WIS L W Ll IR

JIIIIL

Collect some leaves and arrange them in different patterns.

2. Creating patterns by stamping.

(a) By your fingers and thumbs
Put some ink or colour on your finger tips and thumb. Press hard on paper
to create patterns.

(b) By vegetables

Take a hard vegetable as a potato or carrot. Cut the vegetable in different shapes
as

Dip each piece in paint or colour and press hard on a paper to create a variety
of block patterns.

(c) The ladyfinger can be cut horizontally and dipped in paint, then pressed hard on
a paper to create a pattern.

3. Take a 2-digit number. Write a number pattern that begins with this number and uses
subtraction as a rule.

S

S
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E@'Vocabulary

j
. , , » Data

Mohit looks at the chart showing different shapes

hanging on the wall. Can you tell

1. how many times each of the shapes occurs? <
2. which shape occurs the most and which the least? /.\
X)) (= )

Yes sir, we can answer O A

the above two questions

Youare | by counting each shape
Vi%hz- L:t’s and preparing a table as O A O
na the
answer by : urlder. \_ Q O A/
drawing £ ],
and : '
completing =
the table
as shown.
Name of shapes Tick mark Number of shapes
Square v v v v 4
Circle v Vv vV v >
Triangle A v v v 3
Rectangle v 1

So, the number of circles is the greatest, that is, 5 and the number of

rectangles the least, that is 1.
N J

+
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ANALYSING DATA

Example: ~ The heights of students of class 2 of a school are as follows:

Amar : 75 cm Ankit : 70 cm

Ananya : 72 cm Ayush : 72 cm

Ayushree : 74 cm Pankaj : 73 cm

Vaibhav : 74 cm Aadhar : 75 cm

ﬁ Krishna : 69 cm Nikhar : 72 cm
s Prafulla : 73 cm Monty : 69 cm

o« 4
g =y Sanjay : 68 cm Manasi : 74 cm
EN |
.,"..i i Ishan : 75 cm Sameer : 70 cm

+ |
To find out how many children are there in each height group (smallest to

greatest), we can make a table. Starting from the first child put a tick against
each height. Then count the ticks.

Height (in cm) Tick mark Number of children
68 cm v 1
69 cm v Vv 2
70 cm v v 2
72 cm v v v 3
73 cm v v 2
74 cm v v v 3
75 cm v v v 3
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We can also represent the above information using blocks. Colour a block
for each child.

Height (in cm) Number of children
68 cm
69 cm
70 cm
72 cm
73 cm

74 cm

75 cm

From the above table, we can see that we have three children each with
heights 72 ¢cm, 74 cm and 75 cm.

How many children have 68 cm as their height? One.

W

’:;ﬁ:—“ EXERCISE 15

1. Given below are the weights of some children of class 2.

22 kg, 24 kg, 25 kg, 23 kg, 22 kg, 22 kg, 24 kg, 26 kg, 25 kg, 23 kg, 24 kg, 24 kg,
25 kg, 23 kg, 22 kg.

Colour a block in the given table for each child.
Weight (in kg) Number of children
22 kg

Y,

23 kg

24 kg

25 kg

26 kg
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2. The following table shows the number of birthdays of the students of class 2B
in each month.

Month Number of Students

January

©

February

March

April

May

June

©
©

July

August

September

OO @O
©

October

November

QR VOO OVVBOOG
OOV OO OO
OO OOV © |©

December

©
©

Count the smilies and answer the following questions.
(a) In which months do 4 children have their birthdays?

(b) Which month has the most number of birthdays?

(c) Which month has the least number of birthdays
and how many?

(d) How many birthdays does the month of October
have?
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3. Look at the number of different animals in the picture.

o

= .FI; : - 'I .-..-.’- .
-
o

Count the number of each animal and colour the same number of blocks for
each animal.

Animal Number

Fill in the blanks.
(a) The animal present in the largest number is
(b) There are 4 in the picture.

(c) The animal present in the smallest number is
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'y
R Worksheet
e

1. Ask 10 people around you to tell you their favourite hobby from among those
given below.

Put a tick (v’) in the table for each answer.
Activity Favourite hobby
Reading
Gardening
Dancing
Playing Outdoors
Using the Internet

Swimming

2. Use your table to complete the block graph by colouring as many blocks as the
number of ticks for each hobby.

Reading
Gardening
Dancing
Playing Outdoors
Using the Internet

Swimming
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lZih. Model Test Paper - 2
i

(Based on Chapters 7 to 15)

Danny put 63 bottles of juice in a box. There were 7 equal rows of bottles in the
box. How many bottles were there in each row of the box?

Nikhil has two 10-rupee notes, five 2-rupee coins, one 50-rupees note and two
5-rupee notes. Does he have enough money to buy a board game costing I 95?2
Ans:

L)

» I am a solid shape with 2 flat surfaces and 1 curved surface.
< Each of my flat surfaces is a circle.
¢ I resemble a can of soft drink.

What am I?

Divya’s weight is 52 kg. She is 12 kg lighter than Mrinal but 8 kg heavier than Ira.
What is the total weight of the three girls?

Sachin and Tony went to the zoo and saw some animals. They drew stars to
show the number of each animal. Count the stars and answer the questions that
follow.

*,

Animals Animals in the zoo
Monkey \7/}
Lion

Zebra

Giraffe

Elephant

Each = 1 animal

(a) How many more elephants are there than lions?

(b) Which animal was found in most numbers in the zoo?
(c) How many Zebras and Giraffes were there in all?
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Tick (v') the correct answer.

6.

10.

Kiran poured milk in a glass. Which unit of measurement should Kiran use to
measure the amount of milk in the glass?

(a) litres (b) kilogram (c) millilitres (d) grams
Daisy goes for her swimming classes in the evening at “half past four” Which of
the following clocks shows the time?

Which of the following figures does not belong to the group?

(a) gi (b) @ (c) (d)

Which of the following numbers comes next and completes the following pattern?
8,16,32, 128, 256

(a) 36 (b) 64 (c) 40 (d) 48

There are 40 cookies to be divided among 9 children at a party. If each child
receives the same number of cookies, how many cookies will each child receive
and how many will be left over?

(a) Receive 4, left over 4 (b) Receive 4, left over 2

(c) Receive 4, left over 6 (d) Receive 4, left over none



CHAPTER 1: LOOKING BACK

Exercise 1A

2. (b)39  (c¢) 99

3. (b) ninety-eight
(e) forty-eight
(h) sixty-four

4. (a) 17, 18, 19, 20, 21, 22, 23, 24, 25
(b) 23, 24, 25, 26, 27, 28, 29, 30, 31
(c) 64, 65, 66, 67, 68, 69, 70, 71, 72

5. (a) 77, 76, 75, 74, 73, 72, 71, 70, 69
(b) 44, 43, 42, 41, 40, 39, 38, 37, 36
(c) 92, 91, 90, 89, 88, 87, 86, 85, 84

6. (b) 63, 65(c) 88,90 (d) 28,30 (e)
(g) 32, 34(h) 59, 61 (i) 55,57

(d) 44 (e) 65 (f) 72
(c) eighty-nine (d) seventy-six
(f) fifty-seven (g) one hundred

72,74 (f) 76,78

7. (b) 72 (¢) 50 (d) 90 (e) 38 (f) 94
(g) 87 (h) 65 (i) 49
8. (a) 48 (b) 66 (c) 74 (d) 90 (e) 1and 3

9. (a) 7,9, 11, 13, 15, 17, 19, 21
(b) 15, 18, 21, 24, 27, 30, 33, 36
(c) 71, 75, 79, 83, 87, 91, 95, 99

10. (a) 4, 6, 8, 10, 12, 14, 16, 18
(b) 43, 45, 47, 49, 51, 53, 55, 57

11. (a) 6,9, 12, 15, 18, 21, 24, 27
(b) 31, 34, 37, 40, 43, 46, 49, 52

12. (a) 3, 8, 13, 18, 23, 28, 33, 38
(b) 37, 42, 47, 52, 57, 62, 67, 72

13. (a) 2, 12, 22, 32, 42, 52, 62, 72
(b) 29, 39, 49, 59, 69, 79, 89, 99

Exercise 1B

1. Monday, Tuesday, Wednesday, Thursday, Friday, Saturday,

Sunday
2.N,BbTWS
Exercise 1C
1. (a) 3,6,9
(b) 22, 24, 26, 28
(c) 38, 39
(d) 53, 54, 55
3. (b)9 (d) 10 (e) 2 ()5
Exercise 1D
2. (b) 10, Ten (c) 52, Fifty-two

3. (b) 23, Twenty-three (c) 40, Forty (d) 3, Three
(e) 46, Forty-six (f) 72, Seventy-two

4. (a) Forty (b) Seventeen (c) Ninety-nine

5. (b) 40 (c) 77 (d) 91

Exercise 1E

1. (b)50+6 (c) 70+ 7 (d) 10+ 9 (e) 30 + 8 (f) 60 + 7

2. (b) 47 (c) 12 (d) 87 (e) 58 (f) 95
Exercise 1F

1. @ > (b) > (¢) > (d) < (¢) < (f) >

2. (a) Least number = 19, Greatest number = 84

(
(b) Least number = 31, Greatest number = 92
(

3. (b) Ascending: 63, 75, 87; Descending: 87, 75, 63

MathsWiz-2

Answers

(c) Ascending: 23, 75, 89, 98; Descending: 98, 89, 75, 23
(d) Ascending: 76, 86, 99, 100; Descending: 100, 99, 86, 76
Exercise 1G

1. (a) 67 (b) 77 (c) 99 d) 97 (e) 79

2. (a) 14 (b) 32 (c) 6 d 23 (e 3

Exercise 1H

2. (@14 B 19 ()14 (d) 17
(e 15 (f) 15 (g) 7 (h) 17

Exercise 11

2. 90 3. 61 4. 95 5. 65 6. 72

7. 93 8. 75 9. 83 10. 92

Exercise 1]

1. (b) 19 (c) 34 (d) 56 (e) 18 (f) 43
(e 87  (h)36 @) 37 () 36

2. (b) 5boys (c) 3 rupees (d) 16 books (e) 26 sweets

Exercise 1K
3. (a) Cylinder, Cube (b) Cone, Sphere 4. (¢)
Fun with numbers

1. 36 2. A2 (10
16 20 (e d )

l.\ & e | ..1 ,"

CHAPTER 2: NUMBERS UP TO 1000
Exercise 2A
2. 200, Two hundred; 300, Three hundred; 400, Four hundred;
500, Five hundred; 600, Six hundred; 700, Seven hundred;
800, Eight hundred; 900, Nine hundred
Exercise 2B
1. (a) 105 (b) 182  (c¢) 110
(g) 152 (h) 149 (i) 165
2. (b) One hundred seven
(d) One hundred six
(f) One hundred fifty-five
(h) One hundred eighty-one
(j) One hundred twenty-five
4. (a) 116, 117, 118, 119, 120
(c) 197, 196, 195, 194, 193
(e) 120, 110, 100, 90, 80
Exercise 2D
1. (b) 371 (c) 507
(g) 682 (h) 928
2. (a) Two hundred seventeen (b) Threehundred twenty-five
(c) Eight hundred thirty-two (d) Four hundred sixteen
(e) Seven hundred two (f) Nine hundred
(g) Six hundred seventy-five (h) Eight hundred sixty-seven
(i) Five hundred eighty-nine (j) Six hundred nineteen
(@iv (b) vi (c)i (d) ii (e) vii (f) iii (g) v
(b) 764 (c) 812 (d) 358 5. (b) 624 (c) 594 (d) 790
(a)100, 200 (c) 400, 500 (d) 200, 300
(a)150, 160 (b) 740, 750 (c) 390, 410

(d) 190
(G) 199
¢) One hundred twenty-seven
e) One hundred thirty-four
g) One hundred sixty-two
i) One hundred seventy-eight

(f) 194

~ A~~~

(b) 180, 181, 182, 183, 184
(d) 105, 107, 109, 111, 113

(d) 899 (e) 267 (f) 455

N e
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8. (a) 279 (b) 452, 453 (c) 799 (d) 649, 650
(e) 630, 631, 632, 633, 634 (f) 865, 866, 867, 868, 869
Exercise 2E
1. (a)30 (b) 300 (c) 3 (d) 300 (e) 3 (f) 300
2. (a) 80, 8 (b) 200, 2 (c) ones (d) 55
Exercise 2F
3. (a)231 (b) 917 (c) 549 (d) 826 (e) 473 (£) 733 (g) 304 (h) 230
4. (a) 300 + 60 +5 (b) 200 + 40 + 8 (c) 800 + 20 + 7
(d) 900 + 80 + 0 (e) 400 + 0 +5 (f) 300 + 10 + 9
Exercise 2G
1. (b) 115, One hundred fiftee  (c) 119, One hundred nineteen
(d) 120, One hundred twenty (e) 148, One hundred forty-eight
(f) 188, One hundred eighty-eight (g) 201, Two hundred one
(h) 253, Two hundred fifty-three
2. (a) Three hundred three (b) Three hundred sixty-nine
(c) Three hundred ninety (d)Four hundred twenty-two
(e) Four hundred fifty-three (f) Four hundred sixty-five
(g) Five hundred seventy-four (h)Six hundred thirty-six
Exercise 2H

1. (b) > > > (e < (f) >
®> < O> ¢G> W< 0>
2. (b) 912 (c) 514
3. (b) 481 (c) 411
Exercise 21
1. (a) 319, 328, 383, 391 2. (a) 177,171, 135, 117

(b) 143, 236, 615, 789 (b) 890, 612, 345, 154
(c) 893, 898, 909, 915 (c) 860, 467, 460, 318
Chapter Test
1. (a) 759 (b) 905 2. (a) Eight hundred seventy-six
(b) Seven hundred ninety-nine. ~ 3. 1000 4. 779
5. 200+90+7 6. 438 7. 999 8. 100 9.(a) < (b) > (¢) =
11. (2) 300 (b) 90 (c) 1000 12. 248, 348, 448, 548, 648, 748

13. (a) 14. (b) 15. (d) 16. (b) 17. (b)

18.(a) T (b) T T DT (T

HOTS 1.270,280 2. (c)

CHAPTER 3: ADDITION

Exercise 3A

1. 96 2.89 3.94 4. 93 5. 103 6. 102
7. 105 8. 121 9. 115 10. 138 11. 156 12. 141

Exercise 3B

1. 82 chocolates 2. 93 passengers 3. 80 pages
4. 94 eggs 5. 57 fruits 6. 106 marbles
Exercise 3C

2. (a) 567 (b) 685 (c) 679 (d) 799 (e) 767 (f) 596
(g) 818 (h) 450 (i) 819 () 975 (k) 767 (1) 919
(m) 576 (n) 883 (o) 977 (p) 788 (q) 997 (r) 999

Exercise 3D

1. 787 2. 355 3. 954 4. 324 5. 773 6. 398 7. 495
8. 797 9. 650 10. 652 11. 890 12. 862 13. 490 14. 884
15. 874 16. 875 17. 188 18. 697 19. 771 20. 586
Exercise 3E

1. (b)400  (c) 904 (d) 840 (e) 967 (f) 831 (g) 902
(h) 872 (i) 486 (j) 916 (k) 637 (I) 870
2. (b)677 () 682 (d) 932 (e) 932 (f) 922 (g) 700

Exercise 3F

1. 828 students 2. 434 letters 3. 318 keychains 4. 971 fruits

5. 648 tickets, care and compassion for the mankind.
Chapter Test

1. (b) 2. (a) 3. (c) 4. 89+46=135 5. 685 stamps 6. 905 sea shells
HOTS 1. 283 + 473 = 756 2. 329 + 475 = 804

CHAPTER 4: SUBTRACTION

Exercise 4A

2. (a) 312 (b) 222 (c) 232 (d) 133 () 201 (f) 551
(g) 412 (h) 217

3. (a) 110 (b) 721 (c) 11 (d) 480 (e) 404 (f) 306
(g) 600 (h) 41 (i) 315

Exercise 4B
1. 625 2. 239 3. 329 4. 509 5. 364 6. 639 7. 637 8. 318
Exercise 4C

1. (a) 178 (b) 289 (c) 479 (d) 480
2. (a) 287 (b) 508 (c) 259 (d) 289 (e) 278 (f) 351
(g) 224 (h) 789

Exercise 4D

1. 727 adults 2. 106 chickens 3. 75 pictures 4. 382 km

5. 47 bottle caps 6. 163 plants 7. 104 marbles 8. 146 pages

9. 435 10. 334 visitors in December

Exercise 4E

1. 88 oranges 2. 792 cookies 3. 277 people 4. 458 bottles
this year, 738 bottles in all 5. 148 pieces of luggage

Chapter Test
1. (a) 146 (b) 670 (c) 157 (d) 27 (e) 115 (f) 365

2. 966- 276 3. (¢) 4. (b) 5. (¢)
Worksheet 1(2[3[4]5
cld|lelalb
HOTS 1. 652 and 256; sum = 908, difference = 396
2. 138 3. 52 ones 4. d 5. 221

QUICK REVIEW

1. Five hundred ninety-three

2. 879 3. 279; 200+ 70 + 9

CHAPTER 5: MULTIPLICATION

Exercise 5A

1. (b)4x3=12 (c) 5x4=20 (d 3x5=15
(&) 4x7 =28 (f) 3x9=27 () 3x8=24
(h) 5x 10 =50

2. (b)2x4=8 (c) 5x3=15 (d)7x6=42
(e) 10x7 =70 (f) 6 x9=54 (g) 2x10=20
(h) §x1=8 (i) 9x8=72

Exercise 5B

2. 2x9=18 3.5x4=20 4.10x2=20

5. 6 x5=230,3x10=30
Exercise 5C

6. 10 x 4 =40,5 x 8 =40

1. 6 2.1 3.8 4. 9 5. 5 6. 7
7. 6 8.1 9.1 10. 0 11. 0 12. 0
Exercise 5D

5. 12 wings 6. 8 toffees 7. 20 ears



Exercise 5E
5. 27 pages 6.
Exercise 5F

15 notebooks

5. 12 legs 6. 32 erasers 7. 6 triangles by 2 sides
Exercise 5G

5. 15stars 7.(a) 6 (b) 41 (¢) 51
Exercise 5H

5. 76 legs 6. 41, 23, 47 7. 39, 42, 45
Exercise 51

6. 42 days 7.(a) 7x6 (b) 3x7
Exercise 5]

5. 40 years 7. 8 x 8 = 64

Exercise 5K

6. (a)< (b) > (c) =

Exercise 5L

5.(@) 0 (b) 90 (c) 40 (d) 3 (e) 80 (f) 68

6. 30 pencils 7. 50 patients. Helping needy.

Exercise 5M

.(b)24 (c) 14 (d) 48 (e) 0 (f) 27 (g) 90 (h) 40
(i) 60 (j) 15 (k) 56 (1) 32 (m) 42 (n) 45 (o) O
.(a@)35 (b) 9x7 (c) 48 (d) 8 x1 (e) 2x7 (f) 24
.(@9 (b) 64 (c) 9 (d) 26

.(@)15 (b) 71 (c) 27 (d) 13

. (a) 19, 20, 21, 22, 23 (b) 65, 66, 67, 68, 69, 70, 71
‘Multiply by 5% 4, 20; 3, 15; 8, 40; 9, 45

Exercise 5N

o

AU WD

1. 20 days 2. 15 people 3. 49 cherries 4. 64 years

5. 50 people 6. 32 wheels 7. %56

Class Work

A 1.+ 2. - 3.x 4+ + 5.-  6.x

B. 1.> 2.< 3.> 4.= 5. = 6. =
Chapter Test

1. (a) -v (b) -iv (¢) -i (d) —iii (e) —ii

2. (c) 3. (b)and (¢) 4. (b) 5. () 6. (a) 7. (b)
Mental Maths

1. nines 2.8 3.36=4x9 4. 45,40,35,30 5. 0 6. 81

HOTS 42
CHAPTER 6: MORE,ON MULTIPLICATION

Exercise 6A

1. (a) 96 (b) 69
(g) 160 (h) 459

2. (a) 328 (b) 240 (c) 288 (d) 488 (e) 639 (f) 486 (g) 166
(h) 728

Exercise 6B

1. 4862. 633 3. 888 4. 868 5. 442 6. 624 7. 639 8. 840

9. 0 10. 909 11. 880 12. 802

Exercise 6C

1. (b) 680 (c) 240 (d) 400 (e) 860 (f) 400 (g) 180

(c) 48 (d) 129 (e) 280 (f) 276

(h) 930 (i) 800 2. |8 80 800
9 90 1900
700 [720 1000

Exercise 6D

1. 174 2. 238 3. 64 4. 175 5. 98 6. 162 7. 405 8. 140
9. 28010. 450 11. 152 12. 270
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Exercise 6E

1. (a) 492  (b) 645 (c) 560 (d) 290
2. (a) 960 (b) 952 (c) 832 (d) 870
(e) 876  (f) 763 (g) 852 (h) 951
Exercise 6F
1. 896 seats 2. 368 grams 3. 225 scarves, helping the needy

4. 690 apples 5. 850 rupees (9 x 50 + 4 x 100)
Chapter Test

1. (a) 249 (b) 672 (c¢) 600 (d) 378 2. 525 carrots
3. 210 4. 100 5. (d) 6. (c) 7. (0 8. (d)
HOTS <184

Model Test Paper-1
1. (a) 704 (b) 700 + 0 + 4  (¢) Seven hundred four
2. (a) 673 (b) 237 3. 214, 217, 220
4. 176 people 5. 100 eggs 6. (b) 7. (d)
8. (c) 9. (c) 10. (b)
CHAPTER 7: DIVISION
Exercise 7A
2. 6 pineapples 3. 3 crayons 4. 5 pencils

5. 3 mangoes 6. 2 children

Exercise 7B

1. 7 2.2 3.7 4. 5 5.8 6.7 7.10 8.3

9. 4 10.9 11. 7 12.8 13.5 14.1 15 3
Exercise 7C
L@ 42 ®73 (74 @77
2.(a) 9,2 (b) 8,1 (c) 9,8 (d) 92
(e) 7,2 (f) 7,5 (g) 83 (h) 6,1
Exercise 7D
2. 5cars 3. 7 camels 4. 9 oranges 5.3%9 6. 8 rows

7. 7 minutes 8. 4 toffees, sharing

9. 4 children, 2 pencils left over

10. 9 books in each shelf, 5 left over
Mental Maths

4. 40 5.0 6.17
Chapter Test

1. 8 2.5 3.9

1. 5 marbles 2. 6, 2
3.(a) 8 (b) 8 (c) 9(d) 9 () 8(f) 94.(a) Q=9,R=2

b)) Q=8R=3 () Q=7,R=3 5. 5 weeks
HOTS 1. (a) False (b) True (c) False
2.63 3. 4 cookies

Quick Review
1. 63 2. 9 bottles 3. 626

CHAPTER 8: EVEN AND ODD NUMBERS
Exercise 8
1. (b)even (c) odd (d) odd (e) even (f) even (g) even
HOTS 1.16 2.17
CHAPTER 9: MEASUREMENT

Exercise 9A

2. metre 3. (a) metres (b) centimetres (¢) centimetres

(d) metres (e) metres
4. (a) less (b) more (c) more (d) less  (e) less
5. (a) cm (b) cm (c) m (d) m (e) cm
6. (a) 2 (b) 10 (c) 6
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Exercise 9B

1. (a) Grams (b) Grams (c¢) Grams (d) Kilograms (e) Grams
(f) Grams (g) Kilograms (h) Kilograms

2.(a) 50 g (b) 10 kg (c) 15kg (d) 3 kg

3.(a) 101 kg (b) 35kg (c) 290 grams
(d) 13kg (e) 165 grams

Exercise 9C

2.(a)g (b) mL (¢) m (d) cm (e) kg (f) L

3. (a) 27 L (b) 56 L (c) 580 litres (d) 5 jugs (e) 325 mL

Chapter Test

1. (@) -ii  (b) -v (¢) -iv (d) —iii (e) -vi (f) -i
2.(a) g (b) mL (¢) L (d) kg () m
3. (b) 4. (a) 5. (d) 6. (d) 7. (b)

CHAPTER 10: MONEY

Exercise 10A

1. (a) 15 rupees (b) 8 rupees (c) 25 rupees (d) 23 rupees
(e) 105 rupees (f) 82 rupees

Exercise 10B

1. (a) 9.45 (b) T29.09 (c) T143.50 (d) ¥56.00 (&) Z90.25

2. (a) Six rupees fifty paise (b) Fifteen rupees ninety paise

(c) Fifty-five rupees seven paise (d) One hundred seventy-five

rupees thirty-five paise

Exercise 10C

1. (a) T97.75 (b) 328.75 (c) 2607.70
2. (a) T13.33 (b) 3625
(c) 13225 3. (a) T25 (b) 73 (c) T46

(d) ¥150.50, compassion and help (e) ¥87.50
Chapter Test
1. (a) ¥58.95 (b) 3240.08
2. 'Three 20-rupee notes or One 50-rupee note and One 10-rupee
note 3. Yes,6 x 8 =48 4. 321149 5. (¢c) 6. (b)

HOTS 3165 % 45 + T 70 + T 50)
CHAPTER 11: TIME AND CALENDAR

Exercise 11C

1. (a) 7 days (b) Monday (c) Thursday (d) Wednesday
(e) Sunday

2. (b) Saturday (c) Thursday
(f) Sunday  (g) Saturday

3. (b) Tuesday (c) Sunday

Exercise 11D

1. Saturday 2. Thursday 3. Thursday 4. Thursday

5. Saturday 6. Tuesday

Exercise 11E

1. 12 2. February 3. fourth 4. July 5. May 6. November

7. August 8. October 9. January 10. June and August

11. June, September, 30 12. 7 13. January, July 14. 31

15. February, 28 or 29

Exercise 11F

1. Verycold 2. Raincoat 3. Cold things 4. Vasanta 5. Shishir

6. Sharad 7. Grishma

(d) Monday (e) Tuesday
(h) Thursday
(d) Thursday

Chapter Test
2. (a) days (b) Friday (c) 366 (d) True (e) half past 9
(f) October (g) Summer
3. (a) December 26, 2015 (b) 5 (c) Thursday
(d) Thursday (e) December 15, 2015

CHAPTER 12: GEOMETRY

Exercise 12A

1. (b) 1 vertical, 2 slanting
(d) 2 vertical, 2 slanting
(f) 2 slanting, 0 vertical
(h) 2 slanting, 0 vertical

Exercise 12B

2. cylinder 3. cone 4. sphere 5. cone 6. cube

7. cuboid 8. cylinder

(c) 1 vertical, 3 horizontal
(e) 2 vertical, 1 horizontal
(g) 2 horizontal, 1 vertical

Quick Review

1. Half past 12 or 12:30 2. ¥111.20
Chapter Test

3. 10 mL

1. (a) Square (b) Cube (c) Sphere (d) Circle

2. (a) —ii (b) -i (c) —iii

3.(a) Cone (b) 1 () 1

4. (a) face (b) edge (¢) roll (d) dimensions, three
HOTS (b)

CHAPTER 13: FRACTIONS
Chapter Test

1. (a) One-half, 1 (b) One-fourth, I (c) One-third, 1
2 4 3

3. (c) 4. (d)
Hots 111
133

CHAPTER 14: PATTERNS
Exercise 14B

1.(a) 1,4, 7,10 (b) 12, 10, 8, 6

2. (a) 12, 15, 18 (b) 24,29,34 () 30, 35, 40
(d) 46, 53, 60 (e) 20, 15,10  (f) 30, 20, 10
(g) 32,64,128  (h) 80,160,320 3. 16 4. 72

5. (a) 4, 7,10, 13, 16, 19, 22
() 1, 3,9, 27, 81
(c) 10, 20, 30, 40, 50, 60, 70
(d) 38, 35, 32, 29, 26, 23, 20, 17, 14
6. 100 cm
Chapter Test

L0 OA 00
2. (a) 41, 46,51 (b) 40, 37,34 (c) 64,128,256 (d) 43, 32,21
3. (d) 4. (b)

HOTS 14 blocks
CHAPTER 15: DATA HANDLING

Exercise 15
2. (a) January, June, September (b) July (c) April, 1 (d) 5
3. (a) Dog (b) Mice (c) Rabbit

Model Test Paper-2

1. 9 bottles 2. No, he has 90 only 3. cylinder 4. 160 kg
5.(a) 4 (b) Monkey (c) 9

6. (0 7. (d) 8. (d 9. (b 10. (a)
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